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��� ��� ����� ������ ����	��� �� �� � � � � � � � � � � � � � � � � � � � � � � !
��" ��� #�$�	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � %
��& ��� '���� (�$�	�� #������ � � � � � � � � � � � � � � � � � � � � � � � � � � � )
��* ��� ��#��� ���+��� �	����	�� ����$ τ → 3µ � � � � � � � � � � � � � � � � � �*

��*�� �������	��� �����,��- � � � � � � � � � � � � � � � � � � � � � � � � � �*
��*�" �.#��	������ ������� � � � � � � � � � � � � � � � � � � � � � � � � � � �%
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�
"�� /+����� 0����	#�	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �)

"���� ��� '���� ������	� �$����� � � � � � � � � � � � � � � � � � � � � � � "1
"���" ����� 0������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ""
"���& �����	������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "2

"�" ��� ���� 
#���������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � ")
"�"�� (�$�	�� ��3�	������� � � � � � � � � � � � � � � � � � � � � � � � � � � ")
"�"�" 4��-������ ����	�	��� � � � � � � � � � � � � � � � � � � � � � � � � � &1
"�"�& ��$��� �5 ��� ���� 
#���������� � � � � � � � � � � � � � � � � � � � &"
"�"�* ���� 
#���������� #��5������� � � � � � � � � � � � � � � � � � � � &%

"�& ��� ��	���� �$���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &%
"�&�� ��� ���� ��	���� � � � � � � � � � � � � � � � � � � � � � � � � � � � &)

� ��
 ���	���
� ��	�� �� 
 ���� 
�� �� ��!�� "

&�� ��� �0� ����6��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � *�
&�" 
	���� ��6� �#����	�� #�	��	#�� � � � � � � � � � � � � � � � � � � � � � � � � � *&

&�"�� ��6� �������	6���	�� � � � � � � � � � � � � � � � � � � � � � � � � � � *!
&�"�" ��� 	���	��	� �#��	�� �������	�� � � � � � � � � � � � � � � � � � � � � � *%

&�& �0� ��������	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � *7
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*�� ��� �7 ���� ����# � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � !"
*�" 8������ ����$�	� �����	#�	�� � � � � � � � � � � � � � � � � � � � � � � � � � � !&
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*�"�" 0��� ���	6���	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � !2
*�& ���� �������� ����������� � � � � � � � � � � � � � � � � � � � � � � � � !7
*�* 
��	��� �������	�� ����������� � � � � � � � � � � � � � � � � � � � � � � � � !)
*�! �	��� �������9 ���	��� �������	�� +����� ���� �������� � � � � � � � � � � 2"

� ��� ���� 
�� �
��	%���	�� ��� 	����!!��	�� &�
!�� ��� ����	�  �$ 
���� �� 44! � � � � � � � � � � � � � � � � � � � � � � � � � 22

!���� 44! ����# ��� ��	���� � � � � � � � � � � � � � � � � � � � � � � � � � 22
!���" �0� ���� (�������� � � � � � � � � � � � � � � � � � � � � � � � � � � 2%
!���& '���#����� ��	���	� � � � � � � � � � � � � � � � � � � � � � � � � � � � 27

!�" 0��� ��-	�� 	� 
����� �& � � � � � � � � � � � � � � � � � � � � � � � � � � � � %1
!�"�� ��	�� ��+	������� 	� ��� #	� � � � � � � � � � � � � � � � � � � � � � � %&
!�"�" ����	�� ���� ��-	�� ,	�� � 
�	��	������ ��	���� � � � � � � � � � � � � %&
!�"�& �	��� 	� �	�� ���	6���	�� � � � � � � � � � � � � � � � � � � � � � � � � � %)

& ����
���!� ����� �� ��
 τ → 3µ �
��� #

2�� ��� τ #������	�� �� ��� � � � � � � � � � � � � � � � � � � � � � � � � � � � 7�
2�" ��� 6��-������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 7&

2�"�� 8������ ����	�����	��� � � � � � � � � � � � � � � � � � � � � � � � � � 7&
2�"�" 4��-������ #������	�� 5��� �������� ����$ ���	�� � � � � � � � � � 7%

2�& ���� 
	�����	�� ,	�� '���'
� � � � � � � � � � � � � � � � � � � � � � � � � )1
2�&�� '���$�	� ���	� �5 '���'
� �	������� �+���� � � � � � � � � � � � � )1
2�&�" 
	���� �����	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � )7

2�* :##�� �	�	� ,	�� ��� '��5��� �	�����	�� � � � � � � � � � � � � � � � � � � � �11
2�! ���� 
	�����	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �1&

2�!�� ����  ����������	�� �����	���� � � � � � � � � � � � � � � � � � � � �1&
2�!�" '���$�	� �5 5���$ �	������� �+���� � � � � � � � � � � � � � � � � � � � �1%
2�!�& �	��� �+���� �����	�� ��� ���#��	��� ,	�� 5��� �	�����	�� � � � � � ��"
2�!�* 
���$ �5 ��� �������	�� � � � � � � � � � � � � � � � � � � � � � � � � � ��!
2�!�! 0�����	���	�� �5 ��� :� 5�� ��� 5��� �	�����	�� � � � � � � � � � � � �""
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��� '���� �������� 	� ��� �5 ��� 5��� �.#��	����� #�������$ ����� ���������	�� �� ���
	�������	�� #�	��� �5 ��� ����� ������ ����	��� ;���< �5 �� �� ��� ��� 	� � #�����=
#����� ����	��� ���� ,	�� ���������� #������ �# �� � ������ �5 ���� �����$ �5 �* ��� ���
,	�� ��� ���	�� ���� �� ����� ��� ��#���������� ���	���	�$ �5 �134 ��−2 �−1� ��� +��$
�	�� +����� �5 ���	���	�$ ��� ������ �5 ���� �����$ ,	�� ����, �� �.#���� � ����� ���
+��	������ ��� �5 #�$�	�� ��#	���

��� '���� �������� 	� � ������� #��#��� �������� ,�	�� ��� 6��� ���	���� �� �.#����
��� �	�� �����$ 5����	�� �6�+� ��� � ��� ������ '���� ��� ��	� #�$�	��� ������ ,� �	��
��� ������ �5 ��� �	��� 6����� ��� ���$ ���6���+�� #���	��� #���	���� 6$ ��� 
�������
����� ;
�<� ��� ������ 5�� ��, ����	+� +����� 6����� 5������� 6$ ��+���� ������ 6�$���
��� 
� ��� ��� ������ 5�� ��� $�� ������ ��#���$�����	� #���	����� �� ����� �� ����� ���
����� #�$�	��� ������ �	�� 3���	�$ #��5�������� 	� #���	��� 	����	>���	�� ��� �	�� #���	�	��
����������� �5 ��������� �����$ ��� ������ ��� ��������$�

��� '���� �������� 	� ���� �5 ��$��� �5 �	?����� ���������	��� '� 	���� ��������
��������� ��� 6��� �	�� ��� �������� ��� ���@�����	��� ��� �����6$ ��� �������� �5
������� #���	����� ' ��#��=�������	�� ������	�� ,�	�� ��������� � ����������� " �
������	� >��� 	� ��� 	���� �������� +������ ������ ��� 	���� ��������� 0	�����$ ����	��
��	� ������	�� ��� �������������	� ��� ������	� �����	������ ��� �������� ��� ���������
����� �5 ��� �������� 	� 5����� 6$ ��� ���� �#����������� ,�	�� 	����	>�� ��� ���� ,	��
�	�� �A�	���$ ��� �������� ���	� ��������� �� ����� �� �	�	�	
� ����	#�� �������	��
�?����� ��� ������	� >��� 	� ��	� ���	�� 	� ����	
�� 6$ ����� ���� ��#��=�������	�� �	�=����
����	���

����� �	�������� �5 	�������	�� #�������� ��� �5��� ������� 6$ �	�� �������� ��#����
;��������� ��� �����< #������� 	� ��� >��� ������ ��� 	������� ��� �5 ��� ���� #���	�	��
����$ ������� 5�� ��� �	���+��$ �5 ��� �	��� 6���� 	� ��� ����$ H → ZZ → 4µ ,����
5��� �	�� �������� ����� ��� #�������� �����+��� ��� ��, +����� 6������ W ′ ��� Z ′�
��� ���� 6� �	���+���� 6$ �6���+	�� ���	� ��#���	� ����$ ,	�� #������	�� �5 ����� ,	��
�����+���� �������� �# �� 5�, ���� ����� +��$ ���� #��5�������� 	� ��� �����������

�
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�5 ��� ���� �����+���� �������� ��� +��$ �	�� ��	���� ��#�6	�	�$ ��� ��3�	��� 	� �����
�� �6���+� ���� 	�#������ #�$�	�� #���������

��� '���� ���� 
#���������� ��� 6��� ���	�� �� #��+	�� � +��$ ���� �����=�����
����������� �5 ��� ���� �������� ,	�� � �����	+� �������$ 5��� &% �# �� �1% 	� �
���� �����+���� �������� ����� 5��� 5�, 8�� �� � ��� ��� 	� � ,	�� #�������#	�	�$
����� ;BηB C "�!<� ��	� 	� ��� �� ��� ���6	���	�� �5 � ����� ��+�� ���� ��� ����� ����
��#��=�������	�� �	�=���� ����	�� ��� ��� ����� ����-	�� ����6��� ��$��� ���� #��+	�� �
#���	�	�� �����	���� ����������� 	� ��� 6���	�� �	����	�� �5 ��� ����	��� ������� ���
����� �����	���� 	� �������� ,	�� ������� #���	�	�� 6$  (� �� �8� ����6��� ,�	��
	������ ��� ���� �� 6�	�� ��� ���� ��	���� 5�� ������

��� ����-	�� ��������� �5 ��� ���� 
#���������� ��� ��� ���	����� 0�	5� ��6� ����=
6���� ��� �0� ����6��� ��� ��������� ���#���� 6$ ��$��� �5 #������	
�� ��	5� ��6�� �����
��������� ���$ ��� #��+	�� ��� ����������� �5 ��� ���� ���@�����$ ,	�� � #���	�	�� �5
*1 µ�� �� ��� #��� 5�, $����� ��� �0� ����6�� 5����	����	�$ ��� 6��� ������ 	� ��+����
,�$�� '� 	�#������ ���# 	� ��� ����������	�� �5 ��� ����6�� #��5�������� ��� 6��� ���
���� 6��� �� ��� �7 6��� �	�� �5 
(
� �� ��	� ����#� ��� >��� ����������� �5 ��� ����
�������� 	� �� '����=�	-� ��+	������� ��� 6��� #��5����� ��� 	� �����	6�� 	� ����	� 	�
��	� ����	�� �����+�� ���� �0� ����6��� �5 ��� �	���� ��� ����� ����	��� �5 ��� ����

#����������� ��� ���� 6��� ������ ,	�� ����	� ��$� 6�5��� 6�	�� 	�������� 	� ��� '����
��+���� ��� #�������� ���� �� ��� ����	� ��$ 5��	�	�$ 44! �5 �� � 	� ���� #�������� 	�
��	� ,��-�

��� ���� #��� �5 ��	� ����	� �������� ��� ���������� ����$ �5 ��� ��#��� ���+�� �	�=
���	�� ;���< ����$ �5 ��� τ ��#��� 	� ����� ������ ��	� ���� ����$ 	� 5������� 6$ ��+����
������ 6�$��� ��� 
������� ������ ��� 	�������� 	� ��� 5���� �5 ��� 
�#��
$�����	�
�����$� � 6�����	�� ���	� �5 ��� ����� �5 �1−7 	� �.#����� 5�� ���� � ����$ ,�	�� ��� +��$
����� �� ��� 6��� �	�	�� ;4 C "×�1−7 �� )1% ����< ������$ ��� 6$ ��� 6����$ 5�����	��
;4�6�� ��� 4����<� '� 	�#��+����� �5 ��� �.#��	������ ����	�	+	�$ �� ��� 6�����	�� ���	�
5�� #�������� 	�+��+	�� ��#��� D�+�� �����	�� 	� ��� ������� ��#��� ������ 	� �� 	�������=
	�� ��#	��� �	���� �� �	+� ��	�	� �� �� �6���+��	�� �� �� �.���� ��� �.����	�� �	�	��� �+��
,	����� ��$ �6���+��	��� ��� ������	�� �5 ��� �##�� �	�	� ��� ���# 	� �	��	���	�� ,�	��
�����$ ����� 6����� �����	6�� ��� �$���	� �5 ��	� ��� ����$� �� ��	� ����	� � ������	��
�������$ �� ������ 5�� ��	� �	���� ,	�� ��� '���� �������� ��� 6��� ��+���#��� �+�����	��
�5 ��� ������	�� �A�	���$ ��� �5 ��� 6��-������ ��@���	�� #�,�� ��� 6��� ���� ,	�� � 5���
�	�����	��� ' ����	��� ����$ ,	�� � ���#���� �������� �	�����	�� ��� ���� 6��� ����	��
��� ,�	�� 	� ���#	�� 	� ���	�� ��� �����	���� ��� ��� �����������	�� 5�� ���� � �������

�� ���#��� �� � �����	#�	�� �5 ��� ��	� #�$�	�� ����� �5 ��� '���� �.#��	���� 	� ��=
#������ �� #���	����� ��� ��� ����$ �5 ��� τ ��#��� 	� ����� ����� 	� ����	����� 	�
��� 5���� �5 ��� 
�#��
$�����	� 
������� ������ �����+�� � 6�	�5 �����	#�	�� �5 ���
����$�	� #��5����� 6$ ����� �����6����	���� 	� #���	����� 5��� ��� 4=5�����	�� 4�6�� ���
4����� �� ��	� ����$ ������� 	� #�������� 	� ����� �� 	�������� �� ��� ����$�	� �5 ��� ����$
τ → 3µ�

�� ���#��� "� ��� '���� �������� 	� �����	6�� ,	�� #���	����� ������	�� �� ��� ���������=
	��	�� ��� #��5�������� �5 ��� ���� 
#����������� ��� ���	����� 0�	5� ��6� ����6����



�����	
����� &

���� �� ����-	�� ��������� 	� ��� ���� �$���� �5 '����� ��� �����	6�� 	� ���#��� &�
�� ���#��� *� ������� �5 ����$�	� �5 ��� ���� ��������� �� ��� �7 6��� �	�� �5 ��� 
(


�� �� � ��� ��#������ �� ��� �7 ����# �,� ��,��� �5 ��� 6����� ���� �#����������
,��� ������� �?��	�� ��� �##�����	�$ �� ����$ ��� ����6�� #��5��������� E	�� �����
����� 	� ��� 6��� #���	6�� �� ������� 5�� ��� >��� �	��� ��� �������	�� �5 ��� �����+����
���� ��������� ��� ������� �6��	��� ���>��� ���� ��� ����� ����	��� �5 ��� ����
�#���������� ��� �6�� �� ������� ��� ���+����� �5 ����� ,	�� ��� ��3�	��� #���	�	�� �5
!1 µ��

�� ���#��� !� ��� #�������� �� ����	>���� �� �0� ����6�� 6�5��� ��� 	��������	��
	� ��� '���� ��+��� 	� �����	6��� ���� �	���� �0� ����6�� �5 ��� �	���� ��� �����
����	��� �5 ��� ���� 
#���������� ��� 	����� 6��� ������ �� ��� ����	� ��$ ����� ��
�� � 6�5��� ��� 	��������	��� /��� � ����6�� ��� 6��� ����	>�� ,	�� ����	� ��$�� 	�
	� ����	����� ����$ 5�� 	��������	�� 	� ��� ��������� /���� #��5������� ����� �� ��� >���
����6��� 	�������� 	� >��� #��	�	��� 	� ��� �#���������� ��� ���� �����	6���

�� ���#��� 2� ��� ����$�	� �5 ��� ��� ������� τ → 3µ #��5����� ,	�� �	������� �+����
	� #��������� ��� ����$�	� ����	��� 	� ����$	�� ��� ���� ���������	��	� �	���� 5������� 	�
����� �� 	��	+	����� ��� 6��� �������$ ������	�� ,	�� �	���� �A�	���$ ,�	�� 	�#��+	�� ���
6��-������� ��@���	��� 8	+�� ��� ��, �������� �5 ��� ����$ #������� 	� ��	� ��������
	� 	� ����+��� �� ����������� ����� ��,� �� & 8��� ��� ��� 6��-������� � ����	��	� ���=
���#���	�� �� �6�+� "1 56−1 ��� 6��� ��������� ��� �	������� ,	�� ��� 5��� �	�����	��
,�	�� 5�� ��� �	���� ������ "1111 �+���� ��+� 6��� �	�������� �� ��� �	���� ����� �	����
� ��	5��� #����=�#��� ����$ 5�� ��� ����� ����� �� � ����	��� �	�����	�� �5 ��� ����$ 	�
��� ������� �5 ��� �	�	��� 
�#���$�����	� 
������� ����� ;�

�< ��+� 6��� ����� '�
��� ��� �5 ��� ����$�	� ���	�� ,� �.����� �	���� �A�	���$ ��� �.#����� 6��-������ $	����
����� ���6��� ��� ���� ���� �� ���	���� ��� ���	�+��6�� �##�� �	�	� �� ��� �	���� 	� ���
�$#�����	� �5 
��� �+���� �6���+���

E	�� ��� 5��� �	�����	�� ���$ �����	��� ����	�� ��+� 6��� 	�+���	����� ��� ���+��
�������� ���� ����$�	� ��#���� ��+� ��	�� �� 6� ����������� ��,�+�� ��� ������� �6��	���
,	�� ��� 5��� �	�����	�� 	��	����� ���� ��� '���� ��������� ����-� �� ��� �	�� ���	���	�$
�5 ��� ��� ��� +��$ ���� �������� #��5��������� ��� 	�#��+� ��� #������ �##�� �	�	� ��
��	� ����$ 6�����	�� ���	� ������$ 	� ��� >��� $��� �5 ���� ��-	���
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��� ����� ������ ����	��� ;���< F�G 	� � #�����=#����� ����	��� ��������$ ����� ��������=
�	�� �� �� �� ��� ��� ,	�� 6� 	�������� 	� ��� "% H� ����������� �	������ ������ ,����
��(� ��� ��������=#��	���� ����	��� ��� ��-�� #���� 6�5��� 	�� ��� ��� 6��� ���	���� ��
������ ��� �����$ 5����	�� �6�+� ��� ��� ������ �� ����� �� ���	�+� ��	� ���- #������ ���
����������� ��� ������ �� �� �����$ �5 % ��� ��� ����	�� ,	�� �� ��#���������� ���	���	�$
�5 �134 ��−2 �−1� ��� ��� ,	�� 6� ���#����� 6$ ��� ������ "11%�

��� �.	��	�� 	�@����� ���	�� ���,� 	� �	������ ,	�� 6� ���� 5�� #�����	�� ��� ���
6����� ��� #������ ��� #������� ��� ����������� �� !1 ��� 6$ ��� #����� �	��� 6�5���
6�	�� 	�@����� 	��� ��� "�! 8�� (����� 
$������� ;(
<� ��� (����� 
$�������� ;(
<
��� ��� 
�#�� (����� 
$�������� ;
(
< ,	�� 6� ���� �� ���������� ��� #������ �# �� ��
�����$ �5 *!1 8�� 6�5��� 	�@���	�� ���� 	��� ��� ��� ��	� �	���� /��� ��� #������ ���
	�@����� 	� ��� ��	� �	��� ���$ ��� �	+	��� 	� 6������ �5 �111 #���	���� ��� �����������
�� ��� �����$ �5 % ���� ��� 6������ ,	�� ����	�� 	� 5��� 	�������	�� #�	��� ����� ��� ���
,���� �.#��	������ �##�������� ��� ������� �� ����$ ��� 	�������	�� #��������

��� ���	�� �� ��+� #�����=#����� 	�������	��� 	������ �5 #�����=���	#����� 	� ��� ��
��� �	A����$ 	� #�����	�� � �� �	�� ����	�$ 6��� �5 ���	#������� '� � �����3������
��� ��3�	��� ��#����� +����� #	#�� 5�� ���� #����� 6���� 6��� �����	��� 	� ��� ����
��$����	� ��� ������	��� ���������� ��� ������� � ��+�� ���	�� �5 ��� ��#���������	��
6���	�� ������� �� -��# ��� �,� 6���� �����	�� 	� �##��	�� �	����	�� ��6	��� ��� 6����
,	�� ����	�� ,	�� �� ����� �5 &11 µ����

��� ����������� ������	� >��� 	� #������� 6$ �"&" �*�2 � ���� ��#���������	�� �,�=
	�=��� �	#����� ��� ��#���������	�� ������� ��+� �� 6� ������ �� +��$ ��, ���#��������
;� 5�, ������� H��+	�< ,	�� ��#��D�	� ���	���

!
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�	���� ���9 '���������� �$����� �5 ���

��� ���	���	�$ 	� ���� 6$ ��� 5����,	�� 5������9

L =
kN1N2f

4πσ2
;���<

,���� Ni 	� ��� ���6�� �5 #������ 	� ���� ����	�	�� 6����� k 	� ��� ���6�� �5 6�������
f 	� ��� 6��� ��+����	�� 5��3����$ �5 ���×�14 �
 ��� σ 	� ��� �����+���� 6���� ,	���
�� ��� 	�������	�� #�	��� �� ��6� ��� ���� �5 ��� ���� ����+��� 6��� #��������� ���
��#������

E	�� ��� #�������� +����� ��#����� 	� ��6� ��� ��� ����� ������ ����	��� 	� �.=
#����� �� ���	�+� � ���	���	�$ �5 � I �134��−2�−1� ���#���	�� ��� �	����� ���	���	�$
�+�� ������� 6�5��� 	� � ������ ����	��� 6$ ������ �,� ������ �5 ����	����� ��+����������
5�� ��� >��� #��	�� �5 ��� ����	��� � ��,�� ���	���	�$ �5 �133 ��−2 �−1 	� 5�������� '�
	��������� ���	���	�$ �5 �1 56−1 	� �.#����� 	� ��� >��� $��� �5 ���� ��-	��� ,��� ���
��� #��5�������� ,	�� ��+� �� 6� ��	�� �#�	�	
��� '� 	��������� ���	���	�$ �5 �11 56−1

#�� $��� 	� �.#����� ,��� ��� �	�� ���	���	�$ ���	�� ,	�� 6� ��������



���� ��� ������� %

(�������� �����
���	���	�$ �134cm−2s−1

4��� �����$ % ���
���6�� �5 6������ "717

���6�� �5 #���	���� #�� 6���� �111

4����=�����	�� "! ns
4���� �#��	�� %�% ��

4���� �����+���� ,	��� �2 µ�

��6�� ���9 ��	� #��������� �5 ��� ����

��# � � $������

��� #�$�	�� #������ �5 ��� ��� �.#��	����� ,	�� ��+�� � ����� ������ �5 #�$�	� ��#	���
5��� ��� #���	�	�� ����������� �5 ��� 
������� ����� -��,� #��������� �� ��� �	���+��$
�5 ��� �	��� 6���� ��� ��, #�$�	�� 6�$��� ��� 
������� ������ ��� ���#��. ���
#�$�	�� #������ ,	�� 6� #��5����� 6$ �	?����� �.#��	������ �� #���	����� ��� '��'

��� ��
 ��������� ,	�� �#����� �� ��� �	�� ��� ���	���	�$ �5 �134 ��−2 �−1 ��� ��+� ��
��	� ���� ��� �	���+��$ �5 ��� �	��� >��� ��� ��, ����	+� #���	���� �� ��� ��#���$�����	�
#������� �5 ��� �������� #���	���� 5��� #�����=#����� ����	�	��� �� ���	�	�� �� ����� �	��
���	���	�$ �.#��	����� ��� ��� ��� �,� J��,J ���	���	�$ �.#��	�����9 ���4 5�� 4=
#�$�	�� �	�	�� �� � #��- ���	���	�$ �5 �132 ��−2 �−1 ��� �/��� 5�� ��� ������	�� �5
#������ 5��� �����	� �������	�� �� ����� ������ �	�	�� �� � #��- ���	���	�$ �5 "×�129 ��−2

�−1� ��� ��� ��� ��� ���	����� 	�� �.#��	����� '����� �	�	�� �� � #��- ���	���	�$
�5 �127 ��−2 �−1� '�	�� ,	�� ������� ���� #������� 6$ (6=(6 ����	�	��� ,	�� ��� ���� �5
��#�����	�� ��� ����������	�� ��� #��#���	�� �5 �����=3���- #������

��
 �������� ���
! ��� 
������� ����� 	� ��� �������	��� 5����,��- ���� #�������$
�����	6�� ��� -��,����� �5 ���������$ #���	����� �� �����	6�� ����� �5 ��� 5��� 5����������
#���	��� 	�������	���� ��� 
������� ����� 	� � ����� �����$ 6���� �� ��� 	�+��	����
����� �����5�����	�� �5 ��� ����# SU(3)c × SU(2)L × U(1)Y 9 ������ 	�������	��� ���
����	�� 6$ ��� ������� ��� ����� 6����� �����	���� ,	�� ��� ����# SU(3)c ,�	�� ,��- ���
�������������	� 	�������	��� ��� ����	�� 6$ ��� 6����� �5 ��� ����# SU(2)L ×U(1)Y � W

I
µ

;I I �� "� &< ��� Bµ� ���� �	+� �	�� 	� �	���� ���6	���	�� �� ��� ����	+� 6����� Z0 ���
W± ��� �� ��� �������� 6���� γ� ��� �����$ ���� ��� 	������ ��� �?���� �5 ���+	���	����
	�������	���� ��� ������ >���� ��� �#	� �K" 5���	���� ������#���	�� �� ����� ��#��� ���
3���- 5��	�	���

�� ���	�	�� �� ��� ������ ��� ����� >����� 	� ����� �� �#����������$ 6���- ��� �����
�$�����$� � ������ >��� ;��� �	���< ��� �� 6� 	���������� ��� �	��� 6���� 	� ���#���	6��
5�� ��� ������ �5 ��� #���	���� 	� ��� ������ ��� #�$�	�� �5 ��� �	��� 6���� 	� ��� ���$
#��� �5 ��� 
������� ����� ���� ��� �� 6� ��	�� ���>���� 6$ �.#��	������ �+	������
��� �	���+��$ �5 ��� �	��� 6���� 	� ��� ��	� ���� �5 ��� ��� �.#��	����� '���� ���
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��
� 0��#	�� ��� ����� �������	��� ��� #�����������	��� ���	�+������ �5 ��� 
�� �����
��� �	?����� ������� �� 6��	�+� ���� ��	� 	� ��� ��� ��>�	�	+� �����$ 5�� �����	6	�� ���
���������$ #���	��� #�$�	��� �� 6�	�D$ �	�� ��� ���� 	�#������ ���	+��	��� 5�� ��	��
6�$��� ��� 
�� ,� �����6�� ���� ��� 
�9

� ���� ��� 	������ � 3����	��	� �����	#�	�� �5 ��� ���+	���	���� 5����L

� ��� �) 5��� ��#���	���� #���������L

� ��� ���#�	�� ��������� ���� ��� ��� ��$�#���	����$ 5���L

� ���� ��� �.#��	� ��� �.	������ �5 ����� 5���	�� 5��	�	�� ��� ��� ������ �	������	���
+����� �5 ��� 5���	�� ������L

� ���� ��� ��-� 	��� ������� ����	+� �����	���L

� ������ �.#��	� ��������	��� 	����� �	-� ��� 6��$�� ��$�����$ �5 ��� ��	+����L

� ���� ��� ��+� � +	�6�� ����	���� 5�� ��� ���� 0��- ������ �5 ��� ��	+����L

��� 
������� ����� 	� ���� ����	����� �� �?���	+� �����$� 	��� +��	� �# �� � �����	� ����?
������ ���� ����� ���� 	� ��#������� ��� ��, �����$ �.����	�� �5 � ���� ���#���� �����$�

���$ ������ �5 �����$ 6�$��� ��� 
� ��+� 6��� ����	�� 	� ������ $����� ��� 	� ���
���� #���	�	�� �.#��	������ ����# ��#�6�� �� ���>�� �� ��� ���� ��, �����	��� 0�� ��
	�� �	�� ������ �5 ���� �����$ ��� ���	���	�$� ��� ,���� #��+	�� 	��	���	��� 5�� ��,
#�$�	��� �� �	����" ��� #������	�� ����� ����	��� 5�� �	?����� #�������� �� � 5����	�� �5
��� ������ �5 ���� �����$ �5 � ������ ����	��� ��� ���,�� ��� ,��-	�� �	�� �5 ��� 	� ����
���,� ��� ������$ ������������ ��, ��� ��� ,	�� 6� �6�� �� ���� ��, 5����	��� �5 #�$�	��
��� ������6�� 6$ ��$ ����� �.	��	�� ����	���

���
�����
��� ��� 
�#���$�����$ ;
:
M< 	� �����	��$ ��� ���� #���	�	�� �����$
�5 #�$�	�� 6�$��� ��� 
������� ������ �� ��� �	�	��� 
�#���$�����	� 
������� �����
;�

�<� ,�	�� 	� ��� �	�#���� ��#���$�����	� �.����	�� �5 ��� 
�� 5�� ���� 
� #���	���
����� 	� � ��#��#������ ,�	�� �	?��� 6$ ����	��	�� ;��#��#������ �5 � 5���	�� 	� � 6����
��� +	�� +����< ��� ����� 
	��� �� ��� ,	�� �#������ �5 ��, #���	���� #���	���� 6$ ���
����� ��$ ��#���$�����	� #���	��� ��� 6��� ��	�� �6���+��� � ����	��	� ����� ���� ��3�	��
��#���$�����$ 6���-	���

�� ��� �

� �,� ���#��. �	��� >��� ���6���� ��� ������ 	� ����� �� �	+� ������ ��
��� 5���	���� '����	�� �(=������+��	��� ��	� ����� �� >+� #�$�	��� �	��� 6�����9 �����
������� ������� ��� �,� �( �+�� h0 ��� H0 ��� ��� �( ��� A� ��� �,� ������� ������
H±� ��� ��#���$�����$ �����$ ���+�� ���� �5 ��� �#�� 3����	��� �5 ��� 
�9 ;�< 	�
���+�� ��� �	������$ #��6���� 4$ 	�����	�� ��� ��#��#���	����� ��� 3������	� �	+��������
���� ����� ��� 	� ��� �+�����	�� �5 ��� >��� ����� ���	��	+� �������	��� �� ��� �	���
#��#������� 6������ � �����	���	� �	+�������L ;"< 	� #��+	��� �� �.#�����	�� �5 ��� ��	�	�
�5 ��� �������,��- �$�����$ 6���-	��L 	� 	� ��������$ �� ��+� � ��	>���	�� �5 ��� 
�
����� ���#�	���L ;&< 	� #��+	��� � ������� ����	���� 5�� ��� 0��- ������� �� ����� ��
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� ������� �����
� )

�	���� ��"9 ����� ����	�� 5�� �	?����� #�������� �� � 5����	�� �5 ��� ������ �5 ���� �����$�

�+�	� 4��	��K��#��� ���6�� +	����	�� ����� 	� ��� ��#��#�����	��� � ��, �$�����$ 	�
	���������9 ��� �� ������  =#��	�$� ��� 3����	�$ (−1)3(B−L)−2S � ,���� S 	� ��� #���	���
�#	�� ��� �� 6� ������+���

��% ��� &���� ������� $������

�� ��	� ����	�� � 6�	�5 �����	#�	�� �5 ��� ��	� #�$�	�� ����� �5 ��� '���� �.#��	���� 	�
��#������

�	��� �
���� ��� �	��� 6���� ,	�� 6� #������� 5��� #=# ����	�	��� ������� 5��� -	�� �5
���� �������	�� #��������9 �����=����� 5��	��� +����� 6���� 5��	��� 6������������� 5���
W �� Z 6����� ��� �����	���� ���+$ 3���- #������	��� ��� ������#������ ��$����
�	������ ��� ���,� 	� �	����&� ,���� ���� ��� �.#����� ����� ����	��� �� � 5����	�� �5 ���
�	��� ���� ��� #������� ��� �����=����� 5��	�� #������ 	� ��� ���	���� ��� 5�� ��� ,����
�	��� ���� ������ ��� �	��� ���� ������ � ��� ��� +����� 6���� 5��	�� #������ 6������
���#���6�� ,	�� ��� �����=����� 5��	��� �� �	�� ��& ��� #������ ��,�� �	�	� �� ��� �	���



�1 ��
���� �� ��� ��� ������� �����
�

�	���� ��&9 ��� 5��� ,�$ �� #������ ��� �	��� 6����� ��� ������#���	�� #������	��
����� ����	�� 	� ���,� �� � 5����	�� �5 ��� �.#����� �	��� �����

���� 	� ���,�� �� ��� 6��� >.�� 6$ ��( F"G �� ��� 5����,	�� +����9

MH > 114.1 GeV/c2 at 95% C.L. ;��"<

��� �	��� 6���� ��� ����$ 	� ��+���� ,�$�� ��#���	�� �� 	�� ���� +����� �� �	�� ��*
��� +����� �5 ��� 4�����	��  ��	� �5 ��� #���	6�� ����$ �������� �5 ��� �	��� 6���� ���
#������ �� � 5����	�� �5 ��� �	��� ����� E� ��� ��6�	+	�� ��� �	��� ���� ����� 	� �����

����� ��� ���� 
��� ��� ����$ ���	� 	� 	��	����� �� ��� ���� #��6�6���

� mH C �&1 8��9 	� ��	� ���� ����� ��� ���	���� ����$ �������� ��� H → bb̄ ���
H → γγ� ��� ����$ H → bb̄ 	� ���	���� ,	�� � 6�����	�� ���	� �5 �6��� )1%�

	��� � ����� �,�=@�� 6��-������ 	� �.#����� ��� �����	���� #������	�� ,	�� � W ��
Z 6���� �� � tt̄ #�	� 	� ��� ���$ #���	6�� #������ �� �6���+� � �	���� 5��� ��� H → bb̄
����$� �� ��	� ���� � �	�� pt ��#��� 	� #������� #��+	�	�� ��� #���	6	�	�$ �� ��	����
�� ����� �+���� ��� ����� � �	�� ��@���	�� 5��� N�0 @�� #������	���
��� H → γγ ����$ 	� ���� #���	6�� 	� ��	� ���� ����� �������� ,	�� � ���� �������
6�����	�� ���	�� �� ����� �� �6���+� ��� �����, ���� #��- �6�+� ��� 	������	6��
#���#� γγ ����	���� 6��-������ ��	� ����$ ��3�	��� �� �.������� ������� ��� ��=
���$ �������	�� �

� �&1 C mH C "mZ 9 	� ��	� ���� ����� ��� ���� #���	�	�� �	��� ����$ 	� H →
ZZ∗ → 4l� ��� 6�����	�� ���	� 5�� ��	� ����$ 	� 	������	�� �# �� �	��� ���� +�����



���� ��� 
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� ������� �����
� ��

�	���� ��*9 4�����	��  ��	� �5 ��� +��	��� �	��� 6���� ����$ ����� �� � 5����	�� �5 ���
�	��� �����

�5 �71 8��� ,���� � #��������� �	# �##���� ��� �� ��� �#��	�� �5 ��� H → WW
�������� ��	� ������� #��+	��� � ����� �	������� �	��� 5��� �	�� pt ��#���� ���
#������� ��� 	� 	� #���	6�� �� 	�#��� ��� ������������� �	=���� 	�+��	��� ����
6� ����	����� ,	�� ��� Z ����� ��� 	������	6�� 6��-������ 	� �����	����� 6$ ZZ∗

��� Zγ∗ ����	���� #������	��� ��� �����	6�� 6��-������ 	� ���� 6$ tt̄ ��� Zbb̄
#������	��� ��� >��� ��� ��� � ������ #������	�� ����� ����	�� ,	�� ���#��� �� ���
������ ��� 6�� ��� Zbb̄ �+���� ��� ���� �	A���� �� ��@��� �	��� � Z 	� #������� ��
5�� ��� �	����� �����+��� � ����	���� 6��-������ 5��� ZZ ,���� ��� Z ����$�
	��� τ =#�	� ,	�� ��6��3���� ��#���	� ����$ �5 ��� τ O� ��� ��� ����� Z ����$� 	���
��#�����
��� �	��� ������ ����� �� �%1 8�� ��� WW ∗ ����$ ���� �#��� �# ��� ��� H →
WW ∗ → lνlν 6�����	�� ���	� 6����� �11 �	��� ������ ���� H → ZZ∗ → 4l� ���
W ����$ 	� ������������� ������� ��� 	�+��	��� ���� �� ��� �����+���� #����� '
���	�6�� ������	���	�� �5 ��� �	��	�� �����+���� �����$ 	� �����5��� ��3�	����

� mH P �71 8��L 	� ��	� ���� ����� ��� ����$ H → ZZ → 4l 	� ��� ���� ���	�6��
������� 5�� ��� �	���+��$ �5 ��� 
������� ����� �	��� 6����� ��� �	��� ,	���
���,� ��#	��$ ,	�� 	������	�� mH ��� ���	����� ��� �.#��	������ ���� �������	��
5�� mH P &11 8��� ��	� ������� ��#������� ��� ���� ����� �	������� �� �	���+�� ���
�	��� 6���� �	��� ��� >��� ����� 	� �����	����� 6$ 5��� +��$ �	�� pt ��#���� ��� ���
�������	�� �� ��� �	=��#��� 	�+��	��� ���� �� ��� Z 6���� ���� ����� 6� �##�	��
5�� 6��� ��#��� #�	��� ��� 6��-������ 5��� ����	���� ZZ �� γ∗γ∗ #������	�� ���
� ������� ����� ����	�� ,	�� ���#��� �� ��� �	�����



�" ��
���� �� ��� ��� ������� �����
�

�	���� ��!9 '���� �	��� �	���+��$ �	��	>����� �� � 5����	�� �5 ��� �	��� 6���� ���� 5��
�	?����� �	��� ����$ ����� 5�� �� '���� 	��������� ���	���	�$ �5 &1 56−1 ;��5�< ��� �11
56−1 ;�	���<�

�� �	�� ��! ��� �.#����� �	���� �	��	>������ ��>��� �� ��� ���	� S/
√
B ,���� S 	�

��� ���6�� �5 �	���� �+���� ��� B ��� ���6�� �5 6��-������ �+����� 5�� ��� �	?�����
����$ ����� �5 ��� �	��� 6����� 	� ���,� �� � 5����	�� �5 ��� �	��� 6���� ���� 5��
	��	+	���� �������� �� ,��� �� 5�� ��� ���6	���	�� �5 ��� ��������� ��� �	��	>������ ��5��
�� �� 	��������� ���	���	�$ �5 &1 56−1 ��� �11 56−1� ��� '��'
 �.#��	���� 	� ��#�6��
�5 ������	�� � 
������� ����� �	��� 6���� ,	�� � �	�� �	��	>����� ; P !< 	� ��� ����
����� ����,��� ,�	�� �.����� 5��� ��* 8�� ;#������ ��( �	�	�< �� � ���� ��� � �����
5����	�� �5 ��� ���� ����� ����	������ ��� �	��� 6���� ��� 6� �	���+���� 	� �� ����� �,�
	���#������ ���������

���
�����
��� ��� ����� ����	�� �5 
:
M #������	�� 	� ���	����� 6$ ���	��� ���
�3���-� ,�	�� ��� #������� ,	�� ����� ����	��� ���#���6�� �� ��� 
� 6��-������� 
�=
#��#���	���� ����$ �5��� � ���	�� �5 ���#� 	��� ��� �
( ;�	������ 
�#���$�����	� (���	���<
��� 	�+��+� #������	�� �5 ����	#�� @���� ��#����� #������� ���+$ 3���-�� W ��� Z 6�����
��� �	��	�� �����$� ��� #�����������$ �5 ��� �	��� ������ ����� 6� ������	��� 6$ @���
�,� #���������� ������$ ������ �� 6� ��� ���	� �5 ��� +����� �.#�����	�� +����� �5 ���
�,� �	��� ���6����� tanβ� ��� ��� �	��� ����� MA� '� ����� ��� �5 ��� ������� �	���
6����� 	� #���	���� �� ��+� � ���� 6���, ��� Z ����� ��,�+��� ���	��	+� �������	��� ��	5�
��	� �	�	� �� �6��� �&! 8�� 5�� � ��# 3���- ���� mt I �%! 8�� ��� � ��5� 
:
M=6���-	��
#�������� 	� ��� �5���	�� ������ �� ��� �������,��- ����� MSUSY I � ����

��� �� 	��������� ���	���	�$ �5 &1 56−1 ��� '��'
 �	���+��$ #�����	�� 5�� ��� �	���
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�	��� 6����� h0� 	� ���	����� 6$ ��� +����� 6���� 5��	�� ;�4�< #������	�� #������ ,	��
��� h0 → ττ ����$� ��� �	���+��$ #�����	�� 5�� ��� ���+	�� ������� �	��� 6���� ������
	� �	+�� 6$ ��� �����	���� #������	�� ,	�� b 3���-� ��� ��� �	��� ����$ 	��� � #�	� �5
����� �� ��� ��#���� ;��	� ������� ��+�� ��� ���	�� �5 �	�� tanβ<� ��� #������	�� �5
������� �	��� 6����� ��� 6� �6���+�� 5��� ��# 3���- ����$� 5�� MH± C �%1 8�� ���
5��� ����� 6����� 5��	�� 5�� MH± P �71 8��� 4�$��� ��� ��#���$�����	� �	��� �������
��� ���� �5 ��� '���� �.#��	���� 	� ��� �	���+��$ �5 ��#��#���	����� �$#	��� �	��������
,	�� 6� +��$ �	�� �����+���� �������� ������� #���	���� ��� �	�� �	��	�� �����$ 	� ���
�+����

��� ����	�� ��� ��� ,	�� 6� � O��# 3���- 5�����$O ��#�6�� �5 #�����	�� �##��.	�����$
&1111 tt̄ #�	�� #�� ��$� ��� �.#����� ����� ����	�� 5�� ��� #�	� #������	�� �5 ��# 3���-�
	� ��� ���� �5 mt I �%! 8�� 	� �� ��� ��.� �� ����	�� ����� ;��/< σ(tt̄) I 7&& #6� ��	�
	�#�	�� ���� ���� ���� 7 �	��	�� tt̄ #�	�� #�� $��� �� ��, ���	���	�$ ,	�� 6� #��������
��	� ����� �6��� *%1 ������������� tt̄ → (lνb)(jjb) ����$� #�� ��$ ��� �6��� !1 �����
	������� eµ #�	�� #�� ��$� '���� ,	�� �.#��	� ��	� ����� #������	�� ���� �� #��5��� ��������
����������� �5 ���$ 
� #�������� ������� �� ��� ��# 3���-� �� ��� ����������� �5 ���
�tb ������� �5 ��� �H� ����	. +	� ��� t → bX ����$� �����+�� ,	��	� ��� 
�������
����� �� �������� ����������� �5 ��� ��# 3���- ���� ,	�� �������	� ��� ���� �5 ��� 
�
�	��� 6�����

$'����	�� ��� ��� ,	�� #������ � ���� ���6�� �5 bb̄ �+���� ����-� �� ��� �����
������	� ����� ����	�� 5�� ��� b 3���- #������	�� ��� ��� �	�� ���	���	�$� '6��� ��� ���=
�	�	�� �+��$ ������� ,	�� #������ � bb̄ #�	�� ��	� ��-�� ��� � ����	�� ���#��	�	+� ,	��
��� ���	����� 4=#�$�	�� �.#��	����� �� e+e− ����	����� ��� '���� �.#��	���� ��� ������
5������� 5�� ����$	�� 4=#�$�	��9 � D�.	6�� ��	���� �$����� �	�� �������	�� �� ��������$
+����. ������������ �	���$ �A�	��� ����- �����������	��� ��� '���� 4=#�$�	�� #������
,	�� 	������ ��� ��3���� ��#	��9

� #���	�� ����������� �5 CP +	����	�� #��������� ������� ��� ����$� B0
d → J/ψK0

S�
B0

d → π+π− ��� B0
d → J/ψφ� '� �	�� ��������$ 	� �.#����� 5�� ��� �����������

�5 ��� ������ α ��� β �5 ��� ��	���$ ��	�����L

� #���	�� ����������� �5 ��� #��	��� �5 D�+��� ���	����	��� 	� B0
s ��� B

0
d ������ ���

�5 ���	� �����	+� ����$ ����� �� �������	� ��� ������� �5 ��� �H� ����	.L

� ������ ��� ����������� �5 +��$ ���� ����$ ����� ,�	�� ��� �������$ ��##������ 	�
��� 
������� ������ ������ �	��	>���� ����������� ����� #��+	�� 	��	���� �+	�����
5�� ��, #�$�	��� '� �.��#�� 	� ��� ����$ B → µµ ,�	�� 	�#�	�� D�+���=�����	��
������� ��������L

4=#�$�	�� ����	�� ,	�� 6� �.#��	�������$ �	�#��� ���	�� ��� >��� 5�, $���� �5 ��� ,���
��� ���	���	�$ ,	�� 6� ��, ��� #	��=�# �?��� ������ 4=#�$�	�� �+���� ,	�� 6� 	�	�	���$
�������� 6$ �� 	�����	+� ���� ��	���� ,	�� � pt ��������� �5 2 8�� 	� ��� #�������#	�	�$
����� |η| C "�*�



�* ��
���� �� ��� ��� ������� �����
�

��' ��� ��$��� (������ ��������� 
���� τ → 3µ

�� ��	� ����	�� � �����	#�	�� �5 ��� ��#��� ���+��� �	����	�� ;���< #�����������$ 	�
��#����� 	� ����� �� 	�������� ��� ����$ τ → 3µ� ��� ����$ �5 ��� '���� ��#�6	�	�$ 	�
������	�� ��� 4�����	��  ��	� ;4 < �5 ��	� ������� 	� ��� ��	� �6@��� �5 ��	� ����	�� ��	�
����$ 	� ��� 5������� 6$ ��� 
������� ����� ,���� ��� �	.	�� �5 ��� D�+�� 5��	�	�� 	� ���
������� ��#��� ������ 	� ��� ����,��� '�$,�$ ����$ ����� ,	�� +	����	�� �5 ��� ��#���	�
D�+�� ��� #���	���� 6$ ��+���� ������ 6�$��� ��� 
�� ' ������$ �� ��� �	?����� ������
���� #���	�� ��� 
��� 4 5�� ��� ��� ����$ �5 ��� τ ��#��� 	� #�������� 	� ��	� ����	���
(���	����� ������	�� 	� ���	����� �� ��� �	�	��� 
�#���$�����	� 
������� ����� ����
#���	���� ,	�� � #���	����� ���	�� �5 ��� �

� #���������� � 4 5�� ��� τ → 3µ ����$
�5 ��� ����� �5 � �1−7 ,	�� � ������ ��#������� �� tanβ�

' ��+	�, �5 ��� #������ �.#��	������ �	����	�� �� ��� ����$ �5 ��� ��#��� D�+���
+	����	�� ����$ �5 ��� τ 	� ����� ������� ��#���� 	� ���� ��#����� 	� ��	� ����	���

����� ������	
��
 ���������

�� ��� �	�	��� 
������� ����� ,	�� mνI1� ��� ����$� ���� +	����� ��� ������+��	�� �5
��� ��#��� ���6��� ��� ��� 5�������� �+�� ������ ����� 	� �� 5���������� ���	+��	��
5�� ��	� ��#��� D�+�� ������+��	��� �	��� �� �$�����$ 	� �����	���� ,	�� ��� ��#��� 5��	�$
���6��� ��� ��#��� ���6��� Le� Lµ ��� Lτ ��� ��#������$ ������+�� 	� ���� ����$ #������
�5 ��� 
�� ��,�+�� ������ �6���+��	�� �5 D�+��� ���	����	��� 	� �����#���	� �����	��� F&G
	�#�$ ���� �����	��� ��+� ��� 
��� ������ ��� � ����� �	.	�� 6��,��� νµ ��� ντ �.	����
'� � �����3����� ���� � 5��	�$ �	.	�� 	� ��� ������� ��#���� ������ ��� 6� �.#������ ��
��	� ��, ������	� ���$ ��� ����� ��#��� ���6�� L = Le + Lµ + Lτ ��� �� 6� ������+���

�+�� ������ ��� ��#��� D�+��� +	����	�� 	� ����,�� 	� ��� 
� ,	�� mν �= 1� ��� �.=
#����� 6�����	�� ���	�� ��� #���	���� �� 6� +��$ ����� �	��� ��� ��� ����$�� �	-� τ → µγ�
	�+��+� �����	��� ��� W 6���� ���=���# 	�������	��� ������� ��� �.#����� 6�����	��
���	�� ��� �5 ��� ����� �5 m2

ν/M
2
W ���� 	� �� 6��� �1−21� ��	� �	����	�� ��� ������	=

����$ ������ 	5 ��, ���	�	���� #���	����� ����$	�� ��#��� D�+��� ���6��� ��� ,	�� +��$
����� ������� �.	�� ��� �	�����������$ �	. ����� �������+��� �� ��	� ���� ��� �.#�����
6�����	�� ���	�� 5�� ����$� ���� �� τ → eγ ��� τ → µγ ��� �������� ��� 6������ 	���
��� ����� �5 �6���+�6	�	�$� ��,�+��� �� ��� �6���+� ����� #�������� ,	�� ���� �� ������
�������	��� �� ��� ������ �5 ��, #�$�	��� ,�	�� 	� �.#����� �� 6� #������ @��� �6�+� ���
�������,��- ������

/� ��� ����� ����� 	� ����� �� ��+� �6���+�6�� ��#��� D�+��� +	����	��� ����� ����
6� ��, #�$�	�� �� �� 6���, ��� ��� ������ ' ����� ���6�� �5 ������ #���	��� ��� ���
�.#��	� ��� ��� ����$�� �� ��� 5����,	�� � ��� �.����	+� �	�� �5 ��� #�	��	#�� ������ 	�
��#�����9

� ���=��, ����� ,	�� �	���=������ ���+$ �����	��� F2G9 	� ��	� ����� ��� �.	������ �5
NR �	���=������ �����	��� 6��	�� ��� �������� ��5�=������ �����	��� 	� ��������
��� ���+$ �����	��� ;Mν P �11 8�� 5��� �.#��	������ ��� �6���+��	��< ��+� ��
6� ����	����� �� � #���	6�� 	�������	��� ����� 	� ��� ��� +	����	�� ����$�� ���



���� ��� ������ ��
��
� ����
���� 	��
� τ → 3µ �!

�����, ������ #���	�� +��$ ����� 6�����	�� ���	�� 5�� ��� #�������� 	� ���� �5
��� #�������� �#���� �������� 	� � +��$ �����	���� #�������� ���	�� 	� ��� �����
��.	��� 6�����	�� ���	� +����� ���� ��9 4 ;τ → µγ< C 10−9 ��� 4 ;τ → 3µ< C
10−10�

� 
:
M 
/;�1< F%G9 	� ��	� 5����,��- �� ����� ��� �5 ��� �����	�� M�-�,� ���#�	���
	� �� ����� �� ��� ��# M�-�,� ���#�	��� ����	�� �� � ������ ����������� �5 �����
��#���	� D�+��� �����	�� ����$ ������ 4�����	�� ���	�� �5 ��� ����� 10−8 ��� 10−10

��� �.#����� 5�� ��� ����$� τ → µγ ��� τ → 3l ���#���	+��$�

� ���=��	+����� Z ′9 ����� ��� ���$ ������ 6�$��� ��� �������� ����� #���	��	��
��� �.	������ �5 ���=��	+����� ����� 6����� Z ′� ,�	�� ��� �	+� �	�� �� +��$ �	��
#��������� ��� �����	6��	��� �5 ��� ���=��	+����� ����� 6����� Z ′� #���	����
6$ ��#�����=���	���� �����	����� ;��"< ������ ��� D�+��=��	+����� ��" ������� ��
��� ��#��� D�+��=+	����	�� ��� ����$� ��� 6��� ���������� F7G� ��� ������� >�� �
6�����	�� ���	� 4 ;τ → 3l< ������ ���� ���� �5 ��� #������ τ → µγ 5�� ��� ���
#�������� �#���� /+�� � �	
�6�� ���	�� �5 ��� #�������� �#���� ���$ ��+� 5����
4 ;τ → 3l<� �1−8 ,�	�� ��$ 6� �������� 	� ��� 5����� �.#��	������

� �

� F�1� �"� ��G9 � ������� 5����,��-� ,���� ��+���� ��� �	����� ��� 6� �	��	5=
	����� 	� ��� �	�	��� 
�#���$�����	� �.����	�� �5 ��� 
������� ����� ;�

�<�

�#���$�����$ #��+	��� ��, �	���� ������� �5 D�+�� +	����	�� �	��� 	� 	� #���	6�� ��
��+� �?=�	������ ����� 	� ��� ���#����� ���� ����	.� ��	� �� 	� ��� ���#��� ������
��� 6� ������	����� �� ��� ������� ��#���� ������� ��� �.������ �5 �	��� 6�����
F)� �"G� 
	��� ��� ���#���� ��� �.#����� �� ��+� ���� ������ ��� ��� ������ 	5 D�+���
�	.	�� 	� #������ 	� ��� ���#��� ������� ����� 6�����	�� ���	�� ��� �.#����� 5�� ���
��#��� D�+��� +	����	�� ����$�� ��	� ����� #���	��� 6�����	�� ���	�� �5 ��� �����
�5 10−7 − 10−8 ���� ��� �������$ ��#������ �� ��� �

� #����������

�� ��� ���� #��� �5 ��	� ����	��� ��� ������	�� 6$ ,�	�� ��� ��#��� D�+��� +	����	��
��� ����� �� ���	���� 6$ � ��#���$�����	� ������� �	��� 6���� ,	�� 6� �.#��	��� 	�
���� ����	�� �� ��	� ���� ��� #���	���� 6�����	�� ���	� �5 ��� τ → 3µ #������ ������� �
#���	����� ����	�	+� #��6� �5 ����

�() 	� ���� ��� �

� �����	�� �,� �	��� ���6����� H1 ��� H2� ,	�� �##��	��
�$#���������� ������� ��#���� ���$ ���#�� ,	�� ��� H1 >��� �� ��� ���� ��+�� ��� ���
�������	�� 	� ,�	���� ��9

L = −YµH
0
1µ

cµ− YτH
0
1τ

cτ + h.c. ;��&<

,���� H0
1 	� ��� ������� ���#����� �5 ��� H1 ��� Yµ� Yτ ��� ��� M�-�,� ���#�	�� ���=

������� '5��� ��� 	�����	�� �5 ���	��	+� �������	��� ��� ��,��$#� 5���	��� 	������� ����

���� �������		�
��� �
�
���� �� 
�� ���
��� 
�
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�2 ��
���� �� ��� ��� ������� �����
�

,	�� ��� H2 >��� ��� ��� ���#�	�� ����� 6� �	���� D�+��� ������+	�� ;��<9

LFC = −(Yµ∆µ + Yτ∆
′
µ)H0∗

2 µ
cµ− Yτ∆τH

0∗
2 τ

cτ + h.c. ;��*<

�� D�+��� +	����	�� ;��<9

LFV = −Yτ∆LH
0∗
2 τ

cµ− Yτ∆RH
0∗
2 µ

cτ + h.c. ;��!<

��	� ���� ���� ��� 6� �.#������ �� � 5����	�� �5 ��� ��#���� ��� �	��� ���� �	�������� ��9

LFV = − Yτ√
2cosβ

(∆Lτ
cµ+ ∆Rµ

cτ)[h0cos(β − α) −H0sin(β − α) − iA0] + h.c. ;��2<

,���� tanβ =< H0
2 > / < H0

1 >� α 	� ��� �	.	�� ����� 	� ��� �(=�+�� �	��� ������
��� ∆µ� ∆

′
µ� ∆τ ��� ∆L� ∆R ��� �	����	������ 5����	��� �5 ��� �

� ���� #����������

��� ����	��� ∆L ��� ∆R ��-� 	��� ������� ��� ���=���# �	������ ,	�� ��� �.������ �5
����	���� �������	��� ��� ���#���� ���� ��� ���,� 	� �	�� ��2� �.#�	�	� �.#����	��� �5
∆L ��� ∆R ��� ��#����� 	� F�"G� ��� �?���	+� ���#�	��� ;�3� ��2< �����	6��� �� ���
��,=�����$ #��������� ���� �� ��� ����$ τ → 3µ ��� ����� ����� ������� �	��� 6����
�.������� �	����%�

�	���� ��29 0	������ ���� �����	6��� �� ∆R ��� ∆L

��� �.#����� 6�����	�� ���	� 	� ��� 5�� 5��� ��� ���	�� �.#��	�������$ ������	6�� 6$
��� ��� �.#��	�����9

BR(τ → 3µ) = 10−7

(
tanβ

50

)6 (
100GeV

mA

)4 ( |50∆L|2 + |50∆R|2
10−3

)
, ;��%<



���� ��� ������ ��
��
� ����
���� 	��
� τ → 3µ �%

��� ��#���� �������$ �� ��� +����� �5 ��� �

� #��������� �� tanβ ��� ��� �	��� �����
�5 ��� �	��� �#������ 	� �����	+��$ �	��� ;mA C &11 8��<� 5����� ����	���� 	� #���	�����
��� ��$ 6� �6�� �� ������ ��� τ → 3µ ����$�

�	���� ��%9 ��$���� �	����� 5�� ��� τ → 3µ ����$ ���	���� 6$ � ������� �	��� 6�����

����� �����
���	�
 ����
	�

��� �6������� �5 �������	��� ������ #���	��	�� � ��� 
��� 6�����	�� ���	� 5�� ��� ���
����$� �5 ��� τ ��#���� ��� ��� 	�#������ ���� ���� ����� 6�����	�� ���	� +����� �����
��+� 	� �������	�	�� ��� #��������� �5 ���� ������� ��+� ���	+���� � ��� �5 �.#��	����
�������� �5 ����� ����$� 	� ��� ���� $�����

�	��� �������� ��+� 6��� #��5����� 6$ ��� ���/ �����6����	��� ���� 5����,�� 6$
	�#��+�� ������	���	�� �5 ��� :��� �� ��� 4 ;τ → 3µ< 6$ ��� �.#��	����� �� ��� 4=
5�����	��� �� ��� 5����,	�� � ��+	�, �5 ��� �.#��	������ ������� �� ��� ������ �5 ��� ���
����$ τ → 3µ 	� #���������

��*+ ��� ���� �����6����	�� ��� ����$
�� � ���#�� �5 *�%) 56−1 �5 ���� ��������� ��
��� ���/ �� �������� �� ��
 � ���-	�� 5�� ����� ������� 6��$ ����$� �5 ��� τ F�*G� ���
��#���� ��� #������� 	� #�	�� 	� e+e− ����	�	��� �� � ������ �5 ���� �����$ �5 �6��� �1�2
8��� ��� ���6�� �5 #������� τ #�	�� 	� *�&%×�16� ��� ������ ������ 	� ��� 5����,	��9
�	���� ����	���� τ ����$� ��� ��3�	��� �� #������ ����� ������������� ����-� 	� ��� ��=
������ ;&=#���� ����$< ,�	�� ��� ����� τ 	� ��� �+��� ���� ����$ 	��� � �=#���� �����
��� ��� ����� +	�	6�� ������ ���� 6� 
���� ���$ ��+� ��� �� �##�� �	�	� �� 4 ;τ → 3µ<
�� ��)×�1−6 �� ��� )1% ����� ������	�� �� ��� ���+���	�� ���#��� 6$ ��� (���	��� 0���
8���#� ��	� ������ ��#������� ��� #������ �	�	� ��#����� 	� ��� (08 F�&G�

$�$�, ��� 4�6�� �������� 	� ���	����� �� ��� #�$�	�� �5 ��� B=B̄ ������ �$����
#������� �� ��� (�(=�� 4=5�����$� ��� (�(=�� 4=5�����$ 	� �� ��$�����	� e+e− ����	���
���	���� �� �#����� �� � ���	���	�$ �5 &×�133 ��−2 �−1 ��� �6�+�� �� � ������ �5 ����
�����$ �5 �1�!7 8��� ��� ���� �5 ��� Υ(4S) ���������� '������� ��� #�	���$ #�$�	��
���� �5 ��� 4�6�� �.#��	���� 	� ��� �$������	� ����$ �5 �(=+	����	�� ��$�����	�� 	� ���
����$ �5 ������� B ������ �� CP �	���������� #���	�� ������������ �5 ����$� �5 6������
����� ������ ��� τ ��#����� ��� �������� 5�� ���� #�������� ��+� 6��� ����	�� ����



�7 ��
���� �� ��� ��� ������� �����
�

��� 4�6�� �����6����	�� ��� #�6�	���� ������� �� ��� ������ 5�� ��� τ ����$� 	� �����
������� ��#���� F�!G� ���$ ��+� ����$
�� � ���#�� �5 )��! 56−1 �5 	��������� ���	���	�$�
���� ,	�� � τ =#�	� #������	�� ����� ����	�� �5 σ(ττ) = ;1�7) ± 1�1"< �6� ������#���� ��
�+�� �21 �	��	�� τ ����$�� ��� �	������� �5 ��	� #������ 	� ����� ������� #���	����� ����
	����	>�� �	���� �� �� �������� �� �� � ����� ,	�� �� 	�+��	��� ���� ��� �����$ �3��� ��
���� �5 ��� #����� τ ��#���� ����	���� �	���� �+���� 	� ��	� ����$�	� ��� ��3�	��� �� ��+�
� O�=& ��#����$O� ,���� ��� ��� ����$ $	���� ����� ������� #���	���� ;&=#����<� ,�	�� ���
������ ��� ����$ $	���� ��� ������� #���	��� ;�=#����<� ���� ,��� ������������� ����-�
��� ��3�	��� ,	�� 
��� ��� ������� #�	��	�� ��,��� � ������ ���	�� ����	����� ,	�� τ+τ−

#������	�� ��� ����$� /�� �5 ����� ����-� ���� 6� ��#������ 5��� ��� ����� ����� 6$
�� ����� )1◦ 	� ��� �� 5����� ��� #���� #��#���	����� �� ��	� 	������� ����- �	+	��� ���
�+��� 	��� �,� ���	�#����� ��� ��>��� ��� �=& ��#����$�

E	�� ��� �	�� ����	��	�� �+�	��6��� ���$ ��+� ��� �� �##�� �	�	� �� ��� τ ����$ ����
	� ����� ��#���� >��� ������ ��-	�� 	��� ������� ��� ��� �	. #���	6�� ���6	���	��� ����	�=
���� ,	�� ������ ������+��	�� ;e−e+e−, µ+e−e−, µ−e+e−, e+µ−µ−, e−µ+µ−, µ−µ+µ−< ��
;�=&<×�1−7 �� )1% ����� �� #���	����� ��� �##�� �	�	� �� ��� ����$ ���� τ → 3µ ���
6��� ��� �� ��)×�1−7 �� )1% ���� 	�#��+	�� ��� #��+	��� ������ 5��� ���� 6$ ��� �����
�5 ����	�����

$*��* ' +��$ �	�	��� ����$�	� �� ��� ���� ����� 6��$ ����$ �5 ��� τ 	��� ����� �������
��#���� ��� 6��� #��5����� ���� 6$ ��� 4���� �����6����	��� ��� 4���� ��������� �� ���
H�H4 ��$�����	� �����$ e+e− ����	��� �#����	�� �� � ������=�5=���� �����$

√
s � �1�2

8��� 	� ���	����� �� ��� ����$ �5 ��� CP +	����	�� 	� ��� BB̄ ����� �$����� ���$ ��+�
����$
�� � ���� ���#�� �5 7%�� 56−1 ������#���	�� �� ;%)�&±���< �	��	�� τ =#�	�� ���������
>��	�� �� �##�� �	�	� �� ��� 6�����	�� ���	� �5 "�1×�1−7 �� )1% �����

������� �� ��6� ��" � ������$ �5 ��� ������� �5 ��� ����$�	� �5 ��� τ → 3µ ����$ 5���
��� �.#��	����� ����� 4�6�� ��� 4���� 	� ��#������ �������� ,	�� ��� >��� �##�� �	�	�
�� ��� 6�����	�� ���	� #�6�	���� 6$ ��� ����� �����6����	���� ��� ���6�� �5 �.#�����
6��-������ �+���� ��� ��� ���6�� �5 �	���� ��� 6��-������ �+���� ��������� ��� ����
��#������ ��� ���6�� �5 �	���� �+����� ��� ���� ��� �	���� 6�����	�� ���	�� ��� 6���
������	��� ��	�� ��� ���6�� �5 �.#����� 6��-������ �+���� ��� ��� ���6�� �5 �6���+��
�	���� ��� 6��-������ �+���� ��	�� ��� #�����	#�	�� �5 ������� ��� ����	�� F�%G�

�.#��	���� 0�����	�� �A�	���$ �obs �.#����� �bgd :� ����
���/ �!�1 1 1��� ��)×�1−6 )1%
4�6�� 2�%±1�! 1 1�&�±1�1) ��)×�1−7 )1%
4���� )�1±��2 1 1��±1�� "�1×�1−7 )1%

��6�� ��"9 :##�� �	�	� �� 4 ;τ → 3µ< ��� 6$ ��� ����� 4�6�� ��� 4���� �����6����	����
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#�� )������ ������$����

��� '���� �.#��	���� ��� 6��� ���	���� �� �.#���� ��� �	�� �����$ #�$�	�� 5����	�� ��
��� ��� ����� ��� �� 	�+���	���� ��� #�$�	�� �5 ��� 
������� ����� ��� 6�$���� �� ���
����� ������ ����	���� ��� '���� �������� ��� � �$�	���	��� �$�����$ ����� ��� 6���
�.	�� ,	�� � ����� ������ �5 *" � ��� �� �.������ ���	�� �5 �� �� �� 	� ���� �5 ��$��� �5
�	?����� ���������	��� ��� ���������	�� ��� ������� 	� �))7 ��� ,	�� 6� ���#����� 	� ���
$��� "112�

��� ��� �����	#�	�� �5 ��� '���� �������� ��� 5����,	�� �	���=������ �$���� �5 �����	=
����� ,	�� 6� ����9 ��� z �.	� 	� ��� ��� #������� �� ��� #����� 6����� ��� x �.	� #�	��	��
��,��� ��� ������ �5 ��� ��� �	����5������ ��� ��� y �.	� 	� ��� +���	��� ��� #�	��	��
��,��� ��� ������ ��+��� φ 	� ��� �
	������ ����� ,�	�� θ 	� ��� #���� ���� '� ��������$
	� ��� �.#��	����� �� ������ ����	����� ��� #�������#	�	�$ +��	�6�� ,	�� 6� ���� 	������ �5
θ 6������ 	� 	� 	���#������ �� ������
 6����� ����� ��� 6��� �.	�� ��� #�������#	�	�$
	� ��>��� ��9

η = − ln

(
tan

(
θ

2

))
. ;"��<

��� '���� �������� ��� 6��� ���	���� �� �?�� +��$ �	�� 3���	�$ #��5�������� 	� ���
������	�� �5 #���	����� �� #���	����� �	�� �������	�� �������������	� �����	����� �$���� 5��
�������� ��� #����� 	����	>���	�� ��� ���� ������	� �����	������ �� ���������$ �������
��� @�� �������� ��� ��� �+��� �	��	�� �����+���� �����$ ��� ��3�	���� '� 	� ��� 6���
���,� 	� ��� #��+	��� ���#���� �	�� �������� >��� ����� ����� ��� ��� ���� #���	�	��
��� ��6��� �	�������� 5�� ��� #�$�	�� �� ��� ���� ��� ��	� ������ +��$ �	�� #���	�	��
����������� �5 �����+���� �������� �5 ����� �� � ,	�� ����� �5 ������� 	� ��3�	���
�������� ,	�� ����� ����#����� 	� η ��� ������ 5��� φ ��+������ ��	� 	� #��+	��� 6$ ���
���� 
#���������� ���� 	� ��� ����� #��� �5 '����� ' +��$ ���� ��	���� ��#�6	�	�$ 5��
#���	���� �� ��, pt ��������� 	� ������� �� �	��"�� �� �+����� ��$��� �5 ��� '���� ��������

�)
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	� #��������� ��� +��	��� #���� ��� 	� �����9

� ������	� 
$�����9 ��� ������ ���>�����	�� 	� 6���� �� �� 	���� ��#���������	��
������	� ��������	�� ��� ����� 0������� ��+	�$ ,�	�� 6���� ��� ������� #���	���� 	�
��� 	������� ����-��� ��� ����� ��#���������	�� �	�=���� ����	�� ����	��	�� �5 	���=
#������ ��	�� �������� ,	�� �� �	���=5��� �$�����$ ����	�� ��� ������	� �����	�����
�$���� 	� ����� �� 6��� ����� 	� ��� ���� �#����������L

� ����� 0�������9 	� �����	��� ,	��	� � �$�	���� �5 ������ 2�71 � ��� ���	�� ���! ��
,	�� � ������	��� ������	� >��� �5 " �� (������ ������	�	��� �������� ��� +����.
������������ ��� �������� �������� 	����	>���	�� ��� ���	�+�� ,	�� � ���6	���	��
�5 �	������ �	��=�������	�� #	.�� ��� ���	# ��������� 	� ��� 	���� #��� ��� ����	�����
����,=��6� ����-	�� ��������� ,	�� �����	�	�� ���	��	�� ��#�6	�	�$ 	� ��� ����� #���
�5 ��� ����-	�� +�����L

� �����	������9 ��� '���� �����	����� ����	��� �5 �� �������������	� �����	����� ��+=
��	�� ��� #�������#	�	�$ ���	�� |η| C &�"� 6����� ������	� �����	����� ��+��	�� |η| C
��%� ������	� �����# �����	������ ��+��	�� ��! C |η| C &�" ��� 5��,��� �����	������
��+��	�� &�� C |η| C *�)� ��� �� �����	����� 	� #������� 	� ��� ����� |η| C ��7 6$
� #�����#��� ��������� 	�������� 	����	����$ 6��	�� ��� ��$����� ���� ,����

� ���� 
#����������9 ��� ���� �#���������� 	� ��� ����� #��� �5 ��� '���� ��������
��� ��� 6��� ���	���� �� �?�� +��$ �	�� 3���	�$ #��5�������� 	� ��� �����������
�5 ��� �����+���� �������� �5 ������ ��� �	�=���� ����	� �$����� ,	�� � ����
6����� ��� �,� 	������� ���=��# �������� ��������� � ����� >��� +����� ��� ������
6���	�� #�,�� ,	�� � �	��� ��� �#�� ���������� ����	#�� �������	�� �?���� ���
�����5��� �	�	���� ��� �� �.������� ���� �������� �������	�� 	� ���	�+�� ,	��
����� ����	��� �5 �	��=#���	�	�� ����-	�� ����6���� ��� ���� 	�����������	�� 	�
���#�������� ,	�� 5��� ��	���� ����6����

�� ��� 5����,	�� #������#�� ��� ��	� ���������	��	�� �5 ��� '���� ��6=��������� ,	�� 6�
�����	6��� ,	�� #���	����� ������	�� �� ��� ���� 
#�����������

����� ��� �	
�� �����	
� ���	���

��� ������	� �$���� �5 '���� F�)G ����	��� �5 � ������� ������	� ���� #��+	��� ������	�
>��� 5�� ��� 	���� ����-�� ��� � �$���� �5 ����� ����� �	�=���� ����	�� ;��� 6����� ����	�
��� �,� �����# ����	��< ���� #��+	�� ������	� >��� 5�� ��� ���� �#�����������

��� ������	� 	� � ��#���������	�� ������ #����� 	��	�� ��� �����	����� �$����� �� 	�
-�#� �� � ���#������� �5 *�!H ��� 	� �����	��� 	� ��� ���� ��$����� �5 ��� �������������	�
�����	������ �� ����� �� �	�	�	
� ��� �����	�� 	� 5���� �5 ��� �����	����� ��� ������	�
	� ������� ���� ��� 	���� �������� #�����	�� ���� ��� ��	5���	�$ 	� ��� ������	� >���
����� ��� z �	����	��� ��� >��� +��	�� 5��� "� ���� zI1 �� 1�!� �� ��� ��� �5 ��� 	����
���������
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��� ����	��� ������	� �$���� ��� 6��� ���	���� �� #������ � �	�� ������	� >��� 	� �
����� +����� 	� � #�����=��#	�	�$ ����� 1 C |η| C "�%� ��� 6����� ����	� ����	��� �5 �	���
��	�� �����6��� ���	���$ ��� �$�����	����$ ������ ��� 6��� �.	�� ���� ��	� ��+� � ������
�5 "! �� ��� ���=��# ����	� ��� ������� 	� ��� �
	������ �	����	�� 6$ �� ����� �5 ""�!◦

�� #��+	�� ���	�� �+����# ��� �� �#�	�	
� ��� 6���	�� #�,�� 	� ��� �����	�	�� ���	����
��� �	��� 6����� ��	�� ��� �����	��� 	� 	��	+	���� ��$����� ,�	�� ��� �	��� �����# ��	�� ���
�������� 	� ��� ���� ��$������ '� ���,� 	� �	��"�"� ��� 6���	�� #�,�� #��+	��� 6$ ���
����	��� ������	� �$���� 	� ��� ��	5��� +��$	�� ��� #�������#	�	�$� ��� ������	� >���
#��+	��� �$#	��� 6���	�� #�,��� �5 & �� 	� ��� 6����� ��� 2 �� 	� ��� �����#��

�	���� "�"9 ����	��� ������ �$���� 6���	�� #�,���

����� ����� ��	��	��

8	+�� ��� +��$ ����� ����- ����	�$ �.#����� �� ��� ��� ;	� ��� �	�� ���	���	�$ ���	��
� "1 �	�	��� 6	�� �+���� #�� 6���� �����	�� ��� � �111 ������� ����-� #�� �+��� ���
�.#�����< � >�� ��������	�$ 	� ��3�	��� 	� ����� �� ������� ����- �������� ��� +����.
#��	�	�� ,	�� �	�� �������	�� ��� �A�	���$�

��� '���� ����� 0������� F"1� "�G ��� 6��� ���	���� �� ���	�5$ ��� 5����,	�� #�$�	��
��3�	�������9 +��$ �	�� �������� ��� 	�#��� #�������� �������	�� 5�� ������� ����-�
,	�� pt P 1�! 8�� �# �� +��$ �	�� �������L ����#����� ��+����� �+�� ��� ����� |η| C "�!L
�	�� �A�	���$ ,	�� ���� ��	�� ��@���	��L ������ 	����	>���	�� 5�� �	��=pt ����-�L ����	��
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�5 b @��� ��	�	����� 6$ b 3���-�L ���� �������	�� 	� ��� ����������� �5 ��� �+��� #�	���$
+����. ��� ��������$ +����.�� 5��� b 3���-�

�� ����� �� ������� ��� ����- �������� ��� ����� 0������� ;�0< 	� �����	��� 	� ���
������	��� ������	� >��� �����	6�� 	� ��� #��+	��� ����	��� �� �	��"�& � ��$��� �5 ���
'���� �0 	� ���,�� ��� ����� ���	�� �5 ��� �0 ��+	�$ 	� ���! �� �� 	� �����	����� 6$ �
6����� ���� �.����� �+�� ±71�� ��� �,� 	����	��� �����#�� �� ��� 6����� ���	�� ���������
��� �������� 	� ��������	� �$�	���	��� ��$��� ������ ��� 6��� �.	�� ,�	�� 	� ��� �����#�
��������� ��� ������� �� �	�-� #��#���	����� �� ��� 6��� �.	�� �� ��� 	�������� ���	��
+��$ �	�� ��������	�$ 	� #��+	��� 6$ #	.�� ���������� ��� �	���� ���	�� 	� ���#���� 6$
��� 
��	��������� ����-�� ;
��<� ,�	�� 	� ��� ��������� #��� � �����	�	��  ��	��	��
����-�� 	� �����

�	���� "�&9 ��$��� �5 ��� '���� ����� 0�������

��
 �	-
! �
�
���� ��� #	.�� �������� ;�	�� "�*< 	� ���	���� �� #��+	�� +��$ �	��
��������	�$ �� ����� �� ��� 	�������	�� #�	�� �� #���	6��� ��� �$���� ����	��� �5 �����
6������ �� ���		 �5 �* ��� �1 �� ��� �& �� ���#���	+��$ ��� ����� �	��� �� ���� �	��
,	�� �� �� 	���� ���	�� ��� "1 �� ����� ���	��� ��+��	�� ��� #�������#	�	�$ ����� �5
|η| C "�!� ��� #	.��� �	
� 	� !1 µ� 	� ��� �φ #���� ��� &11 µ� ����� ��� z �.	�� ���
�$���� �����	�� � ����� ���6�� �5 �*1 �	��	��� �������� ��������� ��� ������� �$����
	� ���#���� 6$ ��	#� ,	�� 	��	+	���� �	���	�� 5�� ���� #	.�� �������� 	�����	�� 6�?��	��
�� ����� ��� ���� ,�	�� �,�	�	�� ��� ��+��=� ��	���� ���	�	��� ��� ��	#� ���� 6� ���	��	��
������� �� ����� �+�� &11 -8$ �5 	��	�	�� ���	��	�� ��� �+�� !×�114 �������� #�� ��2 	�
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�	���� "�*9 ��$��� �5 ��� #	.�� ���������

��� $���� �5 �#����	��� ��� ��	�-���� �5 ���� ��$�� 	� �6��� ��%% �5 ��� ���	��	�� ������
;X0< �� ������ 	��	���� ������ ��� #��	�	�� �������	�� ���� 	� ���	�+�� ,	�� ��	� �	��
��������	�$ 	� �6��� �1 µ� 	� ��� �φ #���� ��� !1 µ� ����� z� ����,	�� ��� ����- ��	�	�
�� 6� ������������� ��� ��������$ ����$ +���	��� �� 6� 5�����

' �	� ������#���� �� � �	���� #	.�� ���� ,�	�� �������� �� ������ �5 ������ �6�+� �
�	+�� ���������� ��� ����#���$� ��>��� �� ��� ���6�� �5 �	�� #�� ��������	� ������� #��
�+���� ��� �� 6� +��$ ����� 	� ����� �� �+�	� �	���� ������� �A�	���$ �����	����	��� ���
�+����� ����#���$ 5�� �	�	��� 6	�� �+���� �� ��� ���	�� ��� ���	���	�$ �5 �134��−2�−1

��� 6��� ���	����� �5 ��� ����� �5 �1−4 5�� ��� �	���� ��� ����� ��$��� ��� * �	�� ����
5�� ��� 	���� ����

��� #	.�� �������� #��+	��� �� �.������� �����+���� 	�#��� #�������� �������	�� 5��
�����=�	+�� #���	���� �� 4 ������� ��� τ ��#��� ��� � +��$ ���� ����� �	����	���� +����.
	����	>���	��� �� ���� ��� � +��$ ���� 6=����	�� ��� 6=��	����	�� ��#�6	�	�$�

��
 �
�	��������� ����.
� ��� ���	��������� ����-�� ;
��< �$���� 	� ���	����
�� #��+	�� �	��� #���	�	�� ������������ #�� ���� ����- 	� ��� 	�������	��� ���	�� �����
�5 ��� 	���� ��������� �����	6��	�� �� ��� ����������� �5 ��� ����- ��������� 	�#���
#�������� ��� +����. #��	�	��� ��� 6����� 
�� #��+	��� �	�� ��������	�$ ��	�� �	���
��$��� �5 �	�	��� �	���=���	#� ;71 µ� #	���< �� ������	�� ��� ����- #��	�	�� 	� ��� �φ
#����� :�	�� � ����� ������ ����� 	� 	� #���	6�� �� �6��	� ���� ��� z �����	����� �,� 
��
�����#�� �	�	��� 	� ���������	�� �� ��� 6������ ��� #����� �� ���� ��� �5 ��� 6����� �������
��� �������� �����	�� 2�" �	��	�� ������� ��������� ��� �#��	�� �������	�� #��+	��� 6$
��� 
�� �$���� 	� �2 µ� 	� �φ ��� !71 µ� 	� 
� ��� 
�� �$���� ��� 	��	+	����� ����-�
��#������ 6$ � "11 µ� �	�������

��
 �����	�	�� ,��	��	�� ����.
� ��� �����	�	��  ��	��	�� ����-�� ;� �< #��=
+	��� ����	���� ����-	�� �� ����� ���	�� �5 ��� 	���� �������� �5 '����� �� ����	��� �5 �
6����� #��� �����	�	�� � !"111 �.	�� ����,� �5 �6��� �!1 �� ������� ���� �	+	��� 	� �,� ��
��� ������ 	� ����� �� ������ ��� ����#���$ ��� ���� ��� �� ���� ���� ��� �5 �,� �����#
#���� �����	�	�� � &"1111 ���	�� ����,� �5 &) �� ������� '�� ������� #���	��� ����-� ,	��



���� ����
�� 	���������� "!

|η| C "�! ��� pt P 1�! 8�� ,	�� ����� �6��� *1 ����,��
��� ��	� #��#���	���� ��	5� ��6�� ;����,�< ��+� � * �� �	������� ��	� +���� 	� �

�������6�� ���#���	�� 6��,��� �#��� �5 ���#����� ���6�� �5 	��	
��	�� �������� ���
������	��� ���6	�	�$� �������$	�� � �	�� �������	�$ 5�� ��� �+����� ��������� ���� ����,
	� �3�	##�� ,	�� � &1 µ� �	������ ����=#����� E= � ,	�� 5�� ����	�� ��� ��������	�
�	����� ��� �������� ��� �#����� �� ��� +��$ �	�� ����� �.#����� �� ��� ��� ��� �� ���
����� �	������ �5 ��� ����� ,	��� ��� ���	� 	�����	�� ,	��	� ��� 	��	+	���� ��� +�������
���� ������� #��+	��� � ��	5� �	�� ����������� ,	�� � �#��	�� �������	�� �5 �%1 µ�
#�� ����,� ��� ����� ���6�� �5 ����,� #�� ����- ���������� � ����������� ��������$
6����� ���� !1 µ� �+������ �+�� ��� ����,� �� ��� ��� ���	�� ���	���	�$� ��������
	����	>���	�� ��#�6	�	�$ 	� �6��	��� 6$ ��#��$	�� .���� ��� �� ������ �����	�	��=���	��	��
#������ ������� 	� � ���	���� 6��,��� ��� ����,�� ��	� �����	3�� 	� 	���	��	����$ ���	��	��
����� ��� ��������=#	�� #�,�� ��@���	�� 5�� #���	���� ,	�� ptI "1 8�� 	� �1−2�

���
� �
�
���� ��� 	�
� �
��������
� ��� ���6	���	�� �5 ��� ����� ��������	�� �5
��� ����� 0������� #��+	��� � +��$ ��6��� #������ ������	�	�� ��� �	�� #���	�	�� 	� 6��� φ
��� z �����	������ '�� ����-� ,	�� |η| C "�! ��� �������� ,	�� �	. #���	�	�� �#��� #�	���
��� �6��� &2 ����,�� �.��#� 5�� � ��	��� ��������	�� ������ ��� 6����� �� �����# �����	�	��
���	���� '6�+� |η| I ��7� ����-� ���+� ��� �0 +����� 6�5��� �����	�� ��� ��.	��� ���	��
�5 ��� ��+	�$� �����6$ �����	�� ��� >��� 	������� �+�	��6�� �� ���#���� �� ��� ��,�� η
���	���� ��	� �?��� �	�	�� ��� �������� �������	�� ���	�+�6�� 	� ��� �����# ���	����
��� �������	�� 	� ��� ����������� �5 ��� �����+���� ����- �������� 	� ���,� 	� �	��"�!
�� � 5����	�� �5 η�

0

0.25

0.5

0.75

1

0 0.5 1 1.5 2 2.5

|η|

σ(
1/

p T
) 

(T
eV

-1
)

�	���� "�!9  ������	�� �5 ��� '���� ����� 0������� 	� ��� ����������� �5 ��� ����- pt ��
� 5����	�� �5 η�

��� �������� �������	�� 	� �	�	��� 6$ ��+���� 5������9 ��� ���	�� �#��� �+�	��6�� 	�
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��� ��+	�$� ,�	�� �	�	�� ��� ��+�� ���� ��� �������� �5 ��� ������	� >���� ��� ��� 	���	��	�
#���	�	�� �5 ��� �������� ��������� '� �	�� ������� ��� 	�#��� #�������� �5 ��� ����-
�� ��� #�	���$ +����. ��� 6� �������� ,	�� � #���	�	�� ������� ���� �! µ�� '� ��,��
������� ����	#�� �������	�� �?���� ��,�� 	� �� 21 µ�� ����-� ,	�� pt C 1�! 8�� ,	��
�#	���	
� ����� ��� �.	� ��� ,	�� ��� 6� ��������������

����� ��
��
��	���

��� ��	� ���-� �5 ��� '��'
 �����	����	� �$���� ���9

� #���	�� ����������� �5 �����$ ��� #��	�	�� �5 ��������� ��� #������L

� ����������� �5 �����$ ��� �	����	�� �5 @���L

� ����������� �5 ��� �	��	�� �����+���� �������� �5 ��� �+���L

� #���	��� 	����	>���	�� ;��#����	�� �5 ��������� ��� #������ 5��� ������� ��� @���<�

8��� #��5�������� ��� ��3�	��� 	� ��� ,���� �����$ ����� �.����	�� 5��� � 5�, 8�� �#
�� ��� ��� ������ 0�� �� ��� ���� ����	�	��� 	� ,�	�� ��� ��� �.#��	����� ,	�� �#�����
;����� 5����	�� �5 #	��=�# �+����< 5��� �������� ���#���� ;C !1 ��< ��� >�� ��������	�$ ���
��3�	���� �	�� ���	��	�� ���	������ 	� ���� ������ �	+�� ��� �	�� #���	��� D�.�� �.#�����
�+�� � #��	�� �5 �#����	�� �5 �� ����� ��� $����� /+����� �����	����$ ��+����� �# �� |η| �*�)
	� ��������$ 5�� �	�� 3���	�$ ����������� �5 ��� �	��	�� �����+���� �����$ ��� �� 	�������
��� ����#����� 5�� @�� ����	���

��� ��$��� �5 ��� '���� �����	����	� �$���� 	� ���,� 	� �	��"�2� 
����	�� 5��� ���
	��	�� 	� ����	��� �5 �� �������������	� �����	����� ��+��	�� ��� #�������#	�	�$ ���	�� |η|C
&�"� 6����� ������	� �����	����� ��+��	�� |η| C ��%� ������	� �����# �����	������ ��+��	��
��! C |η| C &�" ��� 5��,��� �����	������ ��+��	�� &�� C |η| C *�)� ��� �� �����	�����
	� #������� 	� ��� ����� |η| C ��7 6$ � #�����#��� ��������� 	�������� 	����	����$ 6��	��
��� ��$����� ���� ,����

��
 *!
��������
�	� ��!��	�
�
� ��� #��5������� �#��	>���	��� 5�� ��� �� �����	��=
��� ���� 5��� � 5�, 6�������- ��������9 ��� ������ 5�� � �	��� 6���� ������� ��� ����$�
H → γγ ��� H → 4e� ��� ��� ������ 5�� ���+$ +����� 6������ W ′ ��� Z ′� ,	�� ������ �#
�� !=2 ���� 
	��� ��� �����$ �������	�� �5 ��� �� �����	����� 	�#��+�� ,	�� 	������	��
�����$ ��� 6��� ����	�	+	�$ 5�� �6���+	�� ��	� #���	���� 	� ���	�+�� ������� ��� ��������
����$ ����� W ′ → eν ��� Z ′ → e+e−� ,���� ��� #������� ��������� ��+� +��$ �	��
�������� ' +��$ ���� �������� �����������	�� ��#�6	�	�$ 5�� �	�� �����$ ��������� ;�# ��
! ���< 	� ������ �� ������ 5�� ��������� 5��� ��� W ′ �� Z ′� 8��� �������� �����������	��
��#�6	�	�$ 5�� ��, �����$ ��������� ;�=" 8��< 	� ��������$ 5�� ��� ����$ �5 ��� ���	��#=
���	� ����$ �5 b 3���-� 	� ����� �� 	������� ��� ����� b=����	�� �A�	���$ 6$ �6��� �1%�
	�#������ 	� ��� ������ �5 H → bb̄ ����$�� 
:
M ����$� ��� 4=#�$�	���



���� ����
�� 	���������� "%

�	���� "�29 ��$��� �5 ��� '���� �����	����� �$�����

'� �.������� �����$ �������	�� ��� �	����	�$ ���#���� 6����� ���� 1�!% ��� ������ 	�
��� �����$ ����� �1=&11 8�� �� ���	�+� � ���� �������	�� �5 � �% 5�� ��� H → γγ ���
H → 4e �������� 	� ��� ���� ���	�� )1=�71 8��� ' �������� �������	�� ���� �5 5�, %
,	�� ���	������ � �������� �������	�� ������� ���� ��� Z ′ 	���	��	� ,	��� ;ΓZ′ I �1 8��
5�� mZ′ I � ��� 	� ��� 5����,��- �5 �.������ 8���� �����	�� F""G�<

��� �������������	� �����	����� 	� � ����K�	3�	�='���� ;�'�< ���#�	�� �������� F"&G
,	�� ������	�� ���#�� -�#��� ���������� ��� ���� �6���6�� #������ '� 	� 	� ���,� 	�
�	�� "�%� ��� ��	�-���� �5 ��� ���� �6���6��� +��	�� �� � 5����	�� �5 ��� #�������#	�	�$
�� �#�	�	
� ��� �����$ �������	�� ��� #��+	�� ���#���� φ �$�����$� ��� 6����� �5 ���
�������������	� �����	����� ��+��� �# �� |η| C ��! ��� ��� �,� �����#� ��+�� ��* C |η| C
&�"�

�� ��� #�������#	�	�$ ����� |η| C ��7� � #�����#��� �������� 	�������� 	����	����$
6��	�� ��� ��$����� ���� ,��� 	� #����� 	� 5���� �5 ��� �� �����	������ �� 	� ���� ��
������� 5�� ��� �����$ ���� 	� ��� �����	�� �#������ �5 ��� �����	����� ;	���� ���������
��$������� ��	�� �"Q0 �� ηI1<�

��� ����� ��	�-���� �5 ��� �� �����	����� 	� �6�+� "*X0 	� ��� 6����� ��� �6�+�
"2X0 	� ��� �����#�� ��	� 	� ��3�	��� �� -��# �� �� ����#��6�� ��+�� ��� �����	6��	�� ��
��� �����$ �������	�� ���	�� 5��� ����	���	��� D������	��� �5 �	�� �����$ ���,��� ���



"7 ��
���� �� ��� 
��
� 	�������

5���$ �����	��� 	� ��� �����	������ (���	��� 	����	>���	��� �������� #��	�	�� ������������
���#���� �#���� ��, ��	�� ��� ���� �����$ �������	�� ��3�	�� � �����+���� ��������	�$ ���
������� ���� ∆η × ∆φ I 1�1&×1�1& �+�� ��� ��#	�	�$ ���	�� |η| C "�!�

�	���� "�%9 '�����	�� ��������� �5 ��� �'� �� �����	������

��� �����$ �������	�� #��+	��� 6$ ��� �������������	� �����	����� �5 '���� 	� �	+��
6$9

σ(E)

E
=

10%√
E(GeV )

⊕ 1% ;"�"<

��� ����������� �5 ��� ���,�� �	����	�� 	� θ ��� � �������	�� �5�!1 ����K√E(GeV )�

��
 ������	� ��!��	�
�
� ��� ��	� ������	� �����	����� ���-� ��� ��� ����������=
�	�� �5 @��� ��� ��� ����������� �5 ��� �+��� �	��	�� ET � �����+�� �� ��, ���	���	�$
��� �	� 	� �� �##����� � �% ����� �� ��� ��# 3���- ���� �����������	��� ,�	��� �� �	��
���	���	�$� ��� ���� 	� ��� ������	�� �5 � ���+$ �	��� 6���� ����$	�� 	��� � �	��=pt W
,	�� �������	+� ����$ W → jj�

��� Emiss
T #��$� �� ������	�� ���� 5��� �,� �	?����� #�	��� �5 +	�,9 � ���� �������	��

	� ��������$ 5�� ��� ττ ���� �����������	�� 5�� ��� ������	�� �5 ��� H → ττ ����$� �
+��$ ���� ������� �5 ��� ��	�� �5 ��� �����+���� �	��	�� �����$ �	����6��	�� 	� ��3�	���
�� -��#	�� ��, ��� ��+�� �5 5�-� Emiss

T 6��-������� ��	� 6��-������ �?���� ��� ������ �5

:
M #���	���� ��� �5 ��� �	��� 6���� ������� ��� ����$ H → ZZ → llνν�

��� '���� ������	� �����	����� F"*G ��+��� ��� ����� �5 |η| C ! 	� ����� �� �.���� @��
������	�� ��� ����, �� �A�	��� ����	�� �5 ��� 5��,���� @��� �����	���� �� ��� #������	�� �5
���+$ �	���� �����+�� ��	� 	�#�	�� �� �+����� ���� Emiss

T �������	��� 0	?����� �����	3���



���� ��� �
�� ������������ ")

��� ���� �+�� ��� ,	�� η ����� �� 6��� ��	�� ��� ,	���$ +��$	�� ��3�	������� ��� ���	��	��
��+	��������

��� ������	� 6����� �����	����� 	� � �$�	���� �	+	��� 	� ����� ����	���� � ������� 6�����
��� �,� 	����	��� �.������ 6������ ,	�� �� 	���� ���	�� �5 "�"7 � ��� �� ����� ���	��
�5 *�"& �� �� 	� 6���� �� � ���#�	�� �����	3�� ,	�� #����	� ��	��	������ #����� ;�	���<
��6����� 	� �� 	��� �6���6��� ��� �	��� ��� #����� #��#���	����� �� ��� ����	�	�� 6�����
��������� 	� ��#�� ��� ��������� 	� ����� ��$���� ��� ��������� 	� #��	��	� 	� 
� ���
6����� ��� �.������ 6������ ��� �	+	��� 	� 2" ������� 	� ��� �
	������ �����	����� 	� η
��� ���� ��� ����� 6�	�� 6$ ����#	�� >6��� 	��� � #��������	#�	�� ��� #�����=#��@���	+� ��
��� 	�������	�� ���	��� ��� ���� ���	����� �����+���� ��������	�$ ��3�	������ ����� 5���
��� W → jj ����$ �� �	�� pt ��� �##�	�� 5�� |η| C &� ,���� � ��������	�$ �5 ∆η × ∆φ I
1��×1�� 	� ������� '� ������ #�������#	�	�$ ���	��� � ��������	�$ �5 ∆η × ∆φ I 1�"×1�"
	� ��A�	����

��� ��� ������	� �����	����� � ����� ��	�-���� �5 �6��� �1 	�������	�� ������ ;λ< 	�
��3�	��� 5�� ���,�� �����	����� ��� ������	�� �5 #���� �������� ��	� ������� ��� 6��-=
������ 	� ��� ���� �$�����

'� ������ #�����=��#	�	�	��� ,���� �	���� ���	��	�� ���	������ 	� ������� ��� �'� ����=
�����$ 	� ����� ������	� �'� �����	����$ ��+��� ��� �����# ��� 5��,��� ���	��� 	� ���
����� ��! C |η| C *�)� ���� ������	� �����# �����	����� ����	��� �5 �,� �3��� �	������
,����� 6�	�� ��� �5 ��##�� #������

��� 5��,��� �����	����� 	� 	��������� 	� ��� �����# ��$����� �� �6��� ! � 5��� ���
	�������	�� #�	��� �� ��� �� ����������� �� ����� ) 	�������	�� ������� �5 ���	+� ��������
	� � ����� ����	���	��� �#���� ��� ���� 	� 	� � �	�� ����	�$ ��������� ����	��	�� �� �����
����	���	��� �������� ��� >��� 	� 	� ��##��� ��� ����� 	� ���������

��� �.#����� �����$ �������	�� 5�� ��� ������	� �����	����� 	�9

σ(E)

E
=

50%√
E(GeV )

⊕ 3% for |η| < 3 ;"�&<

σ(E)

E
=

100%√
E(GeV )

⊕ 10% for 3 < |η| < 5 ;"�*<

#�# ��� *��� 
$����������

�����  ���
�� ��!�
�����	�

��� ��	� ��3�	������� 5�� ��� '���� ���� 
#���������� ��� �	������ 6$ ���� 6�������-
�����	��� ���� #������ ��� �� ���� �	�� �������� ����� 	� ��� >��� ������ ��� ����
	�#������ ���9

� H → ZZ∗ → µµll9 �	���+��$ ������� 5�� ��� 
������� ����� �	��� 6���� 	� ���
���� ����� 5��� �&1 �� �%1 8��� 
	��� ��� ������� �	��� ,	��� 	�������� ,	��
��� �	��� ���� ;�	��"�7<� ��� 	� ��	� ���� ����� 	� +��$ �����,� ��� ��� #�$�	��
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�	���� "�79 �	��� ,	��� �� � 5����	�� �5 	�� �����

6��-������� ��� ��+���� � ���� �������	�� �� ��� ��+�� �5 �% 	� ������ 5�� ���3����
�	���� ����	�	+	�$L

� H/A→ µµ9 �	���+��$ ������� 5�� ��� �	�	��� 
�#��
$�����	� ����� �	���L

� Z ′,W ′9 ��, +����� 6����� #������	��� 	� ���	� ��#���	� ����$ ������ ,	�� #������
����� ,	�� �����+���� �������� �# �� ��+���� ����

� 6����$ #�$�	��9 ��� ���� �#���������� 	� ���� #�	���	�$ �� � ���� ���� ��	����
��� �� � ���� 	����	>�� 5�� �������� ,���� � ���� 	� #������� 	� ��� ����$ �5
�� ����� ��� 4 ������� �� ��� �$#	��� pt ����� �5 ���� ����$� ;� C pt C &1 8��<�
��� �������� �������	�� �5 ��� 	���� ����-�� 	� 6����� ���� ���� �5 ��� ����
�#����������L ��� ���� ����6��� ��� �����5��� ��	��$ ���� �� +��	���� ��� ����
����	���� ��� ����� 	� ,	�� ��� 	���� �������� ����-�

����� "��������# ���#
	
���

��� 6��-������ ���� 	� ��� ���� 
#����������� ��� 6��� �� #�$�	��� �+���� �� ���	��	��
6��-������� 	� �� 	�#������ #�������� �	��� 	� ��� 	�D����� ��� ��	���� #��5������� ���
��� ����- �����������	�� �A�	���$ �5 ��� �#�����������

/�	����  ��.������ �� ����	��� �5 #�	���$ ����	�	�� #������� #�������	�� 	��� ���
���� �#���������� ������� ��� �����	������� ���������� 	� �	�� �� ��� #�	���$ pp 	�=
������	��� ���+���	���� ������� �5 #�	���$ 6��-������ ��� ���	��#���	� ����$� �5 �	���
;H�π → µQ< ��� ���+$ ;��6��→ µQ< D�+����� ����� 6���� ����$� ;E�R�γ → µQ<� ���,��
����� ��� ������	� #����=�������� '� ����� pt 6���, �1 8��� ��� ������� ���#�����
�5 ��� 6��-������ ��� ����� 5��� πKH ����$� 	� D	���� 0�#���	�� �� #�������#	�	�$�
����� ,	�� ������� �5 &=2 8�� ,	�� 6� �6���6�� 	� ��� �����	������� '� �������� pt�
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6��,��� �1 ��� &1 8��� ��� �����=����	�� 	� ���	����� 6$ ����� ��� 6����$ ����$�� '�
������ pt� �6�+� &1 8��� ��# ��� R ����$� ���� �	+� � �	
�6�� �����	6��	��� �� �	�� "�) ;��5�<
��� ���� #������	�� ����� ����	��� ��� #������ �� � 5����	�� �5 ��� ���� ���������

�	���� "�)9 ��5�9 (������	�� ����� ����	��� 5�� ����� 5��� �	?����� ������� �� � 5����	��
�5 ��� ���� pt�  	���9 (�������#	�	�$ ��#������� �5 ��� ����� �����	�� ���� 	� ��� �����
#���	�	�� ����6�� ����	�� �� ���	��� ���	���	�$�

,��	��	��  ��.������ ��	� 6��-������ ����	��� �����$ �5 �������� ��� #������ 	�
��� � ��� ������ #������� 6$ ��������$ 	�������	��� 	� ��� 5��,��� �����	������ ��	���	��
�����	��� 6��� #	#� ��� ����	�� ��������� ��,=�����$ ��������� ,�	�� ��� �� 	�#��=
���� ���#����� �5 ��� ������	� �6���#�	�� #������� ����#� ��� �6���6�� ��� #������ �
��,=�����$ #����� 6��-������� ��	� 6��-������ ������ 	��� ��� �#���������� 5��� ���
�	����	��� ��� 	� ��� ��$ ������ ���������� 	� �	�� �� ��� #�	���$ ## 	�������	��� :�	��
��� �0�� �� �� �.��#��� �$#	��� ������	�� �A�	���	�� 5�� #������ ��� �� ��� ��+�� �5 �%�
��� ����� 5�� �������� ��� ����� �5 ����	���� �������� 0��#	�� ����� ��, ����	�	+	�	��� ���
��,=�����$ ������� #���	��� 6��-������ ,	�� ���	���� ��� �����	�� ����� 	� ���� ����� �5
��� �#����������� ��� �	������� ������� ��� ������� �����	�� ����� 	� ��� ����� ����	���
�5 #���	�	�� ����6��� ��� ���,� 	� �	��"�"�" ;�	���< 5�� ��� ���	��� ��� ���	���	�$ �
I �134��−2�−1� ���6	��� ,	�� ����#���$ ����	�����	���� ����� ����� ��	+� ��� ���	�� �5
#���	�	�� ����6�� ��������	�	��� 
	��� ��� 6��-������ ���	����� ��� �?����� 6$ �	��	>=
���� �������	��	��� � ��5��$ 5����� �5 >+� ��� 6��� �$������	����$ �##�	�� �� ��� ���#����
����� 	� ��� �������� ���	���
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����� $����	 �% 	�� &��� '���	����	��

'�����	�� �� ��� ���	�� ��� ���� 
#���������� F"!G ������ #��+	�� � ���������� ���=
�������� �5 ��� ���� �����+���� �������� ,	�� � �����	+� �������$ 5��� &% �# ��
�1% 	� � �������� ����� 5��� 5�, 8�� �� � ��� ��� 	� � ,	�� #�������#	�	�$ �����
;|η| < 2.7<� ��� ��$��� �5 ��������� 	� ��� �#���������� 	� ��� ������ �5 �� �#�	�	
��	��
#������ ��-	�� �	?����� ��3�	������� 	��� �������9

� �A�	��� ��� �5 ��� 6���	�� #�,�� �5 ��� ������L

� +��$ �	�� �������	�� 	� ��� ����������� �5 ��� ����� ptL

� ������ 5��� �
	������ ��+�����L

� #��@���	+� ��,�� �������$ 5�� ����6�� ��	������L

� #����	��� ����6�� �	����	��� 5�� #������	��� �����#��� ��� 	��������	���

�� ���#��� ����� ��3�	������� ��� ���� 
#���������� 	� ���#���� 6$ �� �����6�$ �5
�	?����� ���������	�� 6��� 5�� ����-	�� ��� 5�� ��	����	�� ������ �� 	� ���#���� 6$ �
��� 6����� ���	�� ;|η| < 1.05<� � �����	�	�� ���	�� ;1.05 < |η| < 1.4<� ��� �,� �����#
���	��� ;|η| > 1.4<� '� ���,� 	� �	�� "��1� 5��� �	?����� ����6�� ���������	�� ���
��#��$��9 ���	����� 0�	5� ��6� ����6��� ;�0��< ��� ������� 
��	# ����6��� ;�
��<
5�� ��� #���	�	�� �����������L  ��	��	+� (���� ����6��� ; (��< ��� ��	� 8�# ����6���
;�8��< 5�� ��	����	��� ��� ����� ���6�� �5 ��������	�� �������� 	� �6��� *11 - 5�� ���
#���	�	�� ����6��� ;�0�9 &11 -� �
�9 �11 -< ��� )11 - 5�� ��� ��	���� �$�����

��� 6����� �5 ��� ���� �#����������� �	��"���� 	� �����	����� 6$ ����� �$�	���	���
��$��� �5 ����-	�� ��������� ;�0��<� ��� ����� ����	��� ��� ������� �� ���		 �5 *�! �� % ��
��� �1 �� ��� ��	���� 5����	�� 	� ��� 6����� 	� #��+	��� 6$ ����� ����	��� �5  (��� ���$
��� ������� �� 6��� �	�� �5 ��� �	���� �0� ����	�� ��� �	���� �	�����$ �6�+� �� �	�����$
6���, ��� ����� ����	��� ��� 6����� ��+��� ��� #�������#	�	�$ ����� |η|C��1!� �� ���
�
	������ �	����	��� ��� ����6�� ��$��� 5����,� ��� �	���5��� �$�����$ �5 ��� ����	�� ���
������� �5 	��������	��� ������	6	�	�$� ��� �	
�� ��� ����6��� ��� ��#������ 	��� S�����O ���
S�����O �$#��� ��� ����� ������� ��+�� ��� ���	�� 6��,��� ��� ������ ��	�� ,�	�� ��� �����
���� ��� 	������� 	��� ��� ��	��� ��� ��.	��� ����6�� ������ 	� !�% �� ��� ���	+� �����
�5 ��	��6��	�� ����� ��� ����� ����6��� �+����# 6$ �� ����� "11 ��L ���$ ��� ���� 6�
��	���� ,	�� ���#��� �� ���� ����� ��	�� #���	��� ����-�� �� ��� z �	����	��� ��� ����6���
��� ��������� 	��� #�$�	��� ��	�� ��� ������ ���� "�2 �� ��� ����6�� ,	���� 	� ���� �5
��� ����� ����	��� ��� ������	��� 6$ ��� ��3�	������ ���� ���$ 5��� #��@���	+� ��,���
,	�� ��	������ ��$� #���	�� ����� �� ��� ������� �5 ��� ����6���� ��� 5����,	�� �����	��
5�� ��� ����� �5 ��� 6����� ����	��� 	� ����9 4� 5�� ��� 6����� 	���� ����	���� 4� 5�� ���
6����� �	���� ��� 4/ 5�� ��� ����� ����	����

��� �����#� ��� �����	����� 6$ ����� ,���� ���#�� #����� �5 +���	��� ����	���� ���
�����	�� 	� ��� 5����,	��9 ��� ��� �/� �0� ��� ���� �� #���	�	�� ����6��� 	� ���
�	���� ��� ����� ����	���� ,�	�� �
� ��� ���� 	� ��� 	���� ���� �� ��� �����# ���
��	���� 	� #��+	��� 6$ ����� ����	��� �5 �8� ������� ���� ��� �	���� �0� ����6����
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�	���� "��19 ���� 
#���������� ��$����

���$ ��� �5 ���#�
�	��� ���#�� ,	�� � ��.	��� ������ �5 2�& �� 
	��� ��� ������	�
>��� ������� �	�� ����� ���� ���@�����	�� ,	�� 1.3 < |η| < 1.4� ���	�	���� ���	
�����
����6��� ,	�� 6� 	�������� 6��,��� ��� ���� �,� �	6� �������	�� ��� 6����� ��	��� ���$
����, �� ������� ��#������$ ��� ��D���	�� �5 ��� ����� 	� ��� �����# ��� 6����� >�����
��� �����# ����6��� ��+�� ��� #�������#	�	�$ ����� |η| > 1.4� �� ��� ���	�� �	����	���
��� ����6��� ��� ��������� 	��� ��	�� �5 �# �� & � ,	���� ��#���	�� �� ���	� #��	�	��
��� �� ��� ��	������ �������

��� ����������� �5 ��� ���� �������� 	� �6��	��� 6$ ������	�� ��� ���� ���@��=
���$� ���+�� 6$ ��� ������	� >��� �5 ��� ����	� ������ ;#��� "����<� 	� ����� #�	��� 6$
��	�� #���	�	�� ����-	�� ����6��� 6��� 	� ��� 6����� ��� 	� ��� �����#�� �� 	� 	� ���,�
	� �	��"��" ,���� � ����	�� �5 ��� ���� �#���������� #������� �� ��� #����� 6���� 	�
�������	
���
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� ��	�� �� 
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��

��� ���	����� 0�	5� ��6� ����6��� ,	�� 6� �����	6�� 	� ����	� 	� ��� ��.� ���#����
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�	���� "���9 
���	�� �5 ��� ���� 
#���������� 	� ��� #���� r=φ�

�	���� "��"9 
���	�� �5 ��� ���� 
#���������� 	� ��� #���� r=z�
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��� �
� ��� ����	=,	�� #��#���	���� ����6��� ,	�� ������� ���	# ������� ��� � ,	��
�#��	�� �5 "�! ��� ��� ��� �	.���� 	� '�K�/2K��4 ,	�� ��� ���	� �5 &1%K!1%K"1%�
��� ��.	��� ��	5� �	�� 	� &1 ns� ��� #���	�	�� ����������� 	� �6��	��� 6$ ������	��
��� ������ 	������ �� ��� ��������� ������� 6$ ��� �+������� 5����� �� ��� �����
,	��� ��� ����������� �5 ��� �����+���� �����	���� 	� �6��	��� 5��� ���������� ���	#��
��	������� #������� �� ��� ����� ,	��� ,�	�� 5��� ��� ������ ������� �5 ��� ����6��� ���
������� ������� #	��� 	� !�17 ��� 8��� �#��	�� �������	��� 6����� ���� 21 µ�� 	� ���	�+��
6$ ���������	�� �5 ��� ������� ������� ��� 6$ ������ 	����#����	�� 6��,��� ��	��6��	��
���	#��
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���  (� 	� � ������� �������� ���� #��+	��� � �$#	��� �#��� �������	�� �5 � �� ��� �
�	�� �������	�� �5 � ��� ��� ���	+� ������� �5 ���  (� ��	� 	� � �����, ��� ��# 5�����
6$ �,� #������� ���	��	+� 6�-��	�� #������ ��#������ 6$ 	������	�� �#������ ��� #�	���$
	��	
��	�� ��������� ��� ����	#�	�� 	� �+������� ���� #������� #����� �5 �$#	����$ 1�! #��
��� �	����� ��� ������� +	� ��#��	�	+� ���#�	�� 6$ ����� ���	#� �5 �,� �$#�� �� 6��� �	���
�5 ��� ��������� ��� η=���	#� ��� #������� �� ��� �0� ,	��� ��� #��+	�� ��� 6���	��
+	�, �5 ��� ��	���� ��������� ��� φ=���	#� ��� ���������� �� ��� �0� ,	��� ��� #��+	��
��� ����������� �5 ��� ������ �����	���� ,�	�� 	� ���� ��3�	��� 5�� ��� �T	�� #������
������	�	���

��
 ��	� 1�� ���� 
��

��� �8� ��� �	�	��� 	� ���	�� �� ����	=,	�� #��#���	���� ����6���� ,	�� ��� �	?������
���� ��� ����� ,	�� #	��� 	� ������ ���� ��� �������=����� �	������� 
	����� 5��� ��� ��=
��� ,	���� �������� #������� �� ��� �0� ,	���� #��+	�� ��� ��	���� 	�5�����	�� ��������
,	�� ������� ���	#� �������� ���������� �� ��� ,	���� ����� ������� ���	#� ��� ���� ����
�� ������� ��� ������ �����	����� �8� ��� ����������� 	� ���6���� ��� ��	#���� �5 ����=
6���� ��� 	���� ����	�� ����	��� �5 ��� ���6��� ��� 	� ���$ ���� �� ������� ��� ������
�����	����� ��� ��+�� ����6�� ��$��� 	� ��� �	���� ����	�� ��� �������� 	� ��� ��	#���
��� �,� ���6���� ,�	�� #��+	�� ��� ��	���� �	���� ��� ��� ������ �����	���� �������=
����� �� 5��� � ��	���� �	����� ��+���� ����� ,	��� ��� ����#�� ��� 5�� �� � ������
������� �������� ��� ���6�� �5 ,	��� #�� ����# +��	�� 6��,��� * ��� "1� ��#���	�� ��
��� ��3�	��� ��������	�$ �� � 5����	�� �5 #�������#	�	�$�
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��� �#�	��� #��5������� �5 ��� �#���������� ��� ���$ 6� ������� 	5 ��� �����	+� #��	=
�	��� �5 ��� ����6��� ����� ��� ����- �5 � ���� 	� -��,� ,	�� � #���	�	�� ,�	�� 	� 6�����
���� ��� 	���	��	� ����6�� �������	��� ��� �����	+� #��	�	��� �5 ��� ����6��� 	� �#��� ���
�� 6� -��,� ,	�� � #���	�	�� �5 �6��� &1µ�� /5 ������ �	+�� ��� ����� �	����	�� �5 ���
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�#���������� 	� ��� #���	6�� �� �����6�$ ��� ������ �"11 ����-	�� ����6��� �� ��� ��=
3�	��� #���	�	�� ��+��� ��� ��	� ������ ����6�� �����	+� �	�#�������� ,	�� 6� ����	������$
���	����� 6$ ����� �5 �#�	��� ��	������ �$����F"2G� 0	?����� ������� �5 ��� ��	������
�$���� ��� ���� 5�� ��� 6����� ��� �����#� ���	����

�� ��� 6������ ��� ����6��� ��� #��	�	���� 	� ���� � ,�$ �� 5��� #��@���	+� ��,��� ��
�	��"��& ��� ����������� �5 ��� �	��� ��$� 5�� ��� ��	������ �5 ��� 6����� ��,��� 	� ���,��
�� ����� �� ������ ��� ���6�� �5 #��@���	+� ��$�� ��	������ ��,��� ��+� �� 6� ���� ���
�5 �,� ��������	+� #�$�	��� ����6�� ��,���� ���� �� �.	�� ��	������ �$���� #��+	���
����	�� �5 ��@����� ����6��� ��� � ���6�� #��	�	��	�� 	� �#��� �5 ��� ����6��� ,	��	�
� ������� ��� ������ �5 ��� �.	�� ��	������ �$���� 	� ���� ���,� 	� �	��"��&� /#�	���
���	���	�� 	� 5������� ���$ 5�� ��� ����� �������� ,�	�� ��� ����� ������� ,	�� 6� ��	����
,	�� #���	��� ����-�� �.#��	�	�� ��� �+����# ,	�� ����6��� 	� ��� ����� ��������

�	���� "��&9 
����� �5 ��� 6����� ���� �#���������� ��	������ �$�����

�� ��� �����#�� ��� ��	������ ������ 	� 6���� �� � ����� ���6�� �5 #�����=#��@���	+�
�	��� ��$� �������	�� ��� ����6�� ��$���� ��� ��� �����������	�� �5 ��� �����	+� ����6��
#��	�	���� �����+�� �� 	�=#���� ��	������ �$����� ,	�� 5��� �	��� ��$� 5�� � ����� �0�
����6�� ��� ��� �	��� ��$ 5�� � ����� ����6��� �	�� �� ���	���	�� �0� ,	�� �	�#����=
����� ,	�� �� �������$ �5 �1µ� �� 6������



���� ��� ������� ������ &%

����� &��� '���	����	�� ���%�������

�� �	��"��* ��� �����	+� �������	�� �5 ��� ���� 
#���������� ���������� ���� ��������
����������� 	� ���,� �� � 5����	�� �5 ��� ���� ��������� ��� +��	��� �����	6����

�	���� "��*9  ����	+� ���� �������� �������	�� 5�� ��� ���� 
#���������� ����������9
6����� ;��5�< ��� �����#� ;�	���<�

�� ��� ����� �������	�� ��� ���� ���,�9 5�� pt < "1 8�� ��� ��	� �����	6��� 	� ��� 6$
����	��	��� D������	�� �5 ��� �����$ ���� 	� ��� �����	�� ������� 6$ ��� ����� �#������
��� �#����������� �� ��	� pt ����� ��� �������	�� 	� �5 &=*%� � 6����� �������	�� �5 �="% 	�
�6��	��� ,	�� ��� 	���� ��������L 5�� ����� ,	�� "1 8�� < pt < &11 8�� ��� �������	�� 	�
���	����� 6$ ��� ����	#�� �������	��L 5�� pt > &11 8�� ��� ����	#�� �������	�� 6������
����	�	6�� ��� ��� ����6�� 	���	��	� �������	�� 6������ ���	�����

#�% ��� ������� ������

'� �	�� ���	���	�$ ��� 	�������	�� ���� �� ��� ,	�� 6� �*1 ��
� ��	� ��3�	��� ��� ��	����
�$���� �� ,��- 	� +��$ ���� ����	�	���� ��� �+����� ���� +����� 5�� ���� 6���� ����	�	��
,	�� 6� �5 �6��� " �4$��� �� ��� �+����� ���� +����� 5��� ��� �������� ;�17 �������
��������< ,���� ��3�	�� � ���� 6���,	��� �5 �6��� *×104 84$��K�� ��� ���� �������
��� ������ �1=�11 �4$��K�� �� ���� ��� ��	���� �$���� ��� �� ������ ��� ���� +����� 6$
� 5����� �16 ����$
	�� �� �	�� ��� ��� �+���� ��� ��-	�� ���	�	�� 	� �6��� � �� �����+���
�	��� ��� 	�������	�� #�������� ��+� � +��$ ��, ����� ��� ��	���� ���� 6� �6�� �� 	����	5$
���� ,	�� �	�� �A�	���$� ��� ��	���� ��� 0'N ��� �����	
�� 	� ����� ��3����	�� ��+����
��+��=�� ��+��=" ��� �+��� �	����� ��	� ����,� ������	�� �5 ��� �+��� ���� ������� ��+����
���#� �5 	������	�� ���#��.	�$ ��� #������	�� �	��� �� �	�� "�& ��� ��	���� ��� 0'N
����	������� 	� ���,��
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�	���� "��!9 4���- �	����� �5 ��� ��	���� 0'N �$�����

��� ��+��=� ��	����F"%G ,��-� �� ��� ��� 6���� �����	�� ���� �5 *1 ��
 ��� ���
�� ��-� ���	�	��� 	� "1 µ�� �� 	� �	�����$ ��������� �� ��� �������� 5����=��� ��������	��
�5 �����	����� ��� ����� ���������� 0��� ���	�� 5��� ��� 	���� ����-�� ��� ��� ����
6������ �5 ��� ���#��.	�$ �5 ��� �+����� �� ������� ��� ���#�� ���� 5��� *1 ��
 �� %!
-�
� �#������6�� �� �11 -�
� 0��� �5 ����#��� �+���� ��� ������ 	� #	#��	�� �����	���
��������� �� ��� ����=��� ��	+��� ; /0�< ��� ���� �+�	��6�� �� ��� �	�� ��+�� ��	����
������� ����=��� 6�?��� ; /4�<� 
�+����  /4� ��� ����#�� 	�  /
 ; ��� /�� 
$����<
��������� ��� ��+��=� ��	���� 	����	>�� ���� ��� 6���� �����	�� �����	���� �� ��� ��	������
�+����
��� ��+��=" ��� �+��� �	���� ��	����� ��� 6���� �� ��5�,��� �����	���� ,�	�� ��-� ��� �5
��� 5��� ��������	�$ �5 ��� ��������F"7G� ��� ��+��=" ��	���� ����$
�� ���$ ���� ���	�� 5���
���  ��� ; ��	�� �5 ��������< �������� 6$ ��� ��+��=� ��	����� ��� ����$�	�� #��5����� ,	��
5��� �����	����� 	� ���� 	� �,� ���#�9 >���� 5�� ����  �� ��� �6@��� 5������� ��� �.�������
5�� � ���� �������� ���>����	�� �5 ��� �6@���� ��� ���� ���6	��� �� ��-� ��� ���6�� ���"
���	�	��� ��� ���" ��	���� ������� ��� �+��� ���� 6$ � 5����� �5 �6��� �11 ,	�� � ������$
�	�� 	� ��� ����� �=�1 ��� ��� ����#��� ���� 5��� ���" ��� ��������� 6$ ��� �4 ;�+���
4�	����< ��� #����� �� ��� ��� ��� �� ���� ��� �������� ���� ��� ��-�� ��� >��� ���	�	��
�� ��� �+��� 	� � 5�, �������� ���" ��� �� ���6	��� ,	�� �	+� � ������	�� 5����� �5 �6���
�13� ' �	�#�� ��	���� ���� 	� ��#��$�� 6$ ��� ���� ��	���� ,�	�� ��3�	��� ��� #�������



���� ��� ������� ������ &)

�5 �� ����� ��� 	�������	�� �6@��� ,	�� ��� �����+���� �����$ �6�+� ��������� �� ����#�
��� �+���� /� ��� �������$ ��� �	�� ��+�� ��	���� ;���" ��� ��< ��� ����	��� ��	����
����� 6���� �� �����	>���	�� ������� �5 �+���� ,�	�� ������	
� ��� #�$�	�� �	��������
�����	���� �� 	�������	�� #���������

����� ��� &��� ��
����

��� ���� ���� ��	���� 	����	>�� ����� #�	��	�� �� ��� 	�������	�� ���	�� ,	�� � pt �6�+�
� 5�, 8�� ���������� ��� ������	�� 	� ���� ��	�� ��� ���� ���	�� 5��� 5��� ��� �	���$
��������� ��������� ,	�� �� 	���	��	� �	�� �������	�� ���� ���� ��� �	�� ��# 6��,��� �,�
6���� �����	���� ��� ���� �#���������� 	� �6�� �� ��	���� �� ��� ���� ����-� 6$ ��	��
�	?����� ���������	�� 5�� ��� 6����� ; (�< ��� 5�� ��� �����# ���	��� ;�8�<�

�� ��� 6������ ��� ���� ��	���� 	� ���� 6$ �����  (� ����	��� ���� ���#���� 6$ �,�
��$���� ���� ��$�� 	� �3�	##�� ,	�� �,� #����� �5 ������� ���	#9 ��� φ=���	#� ��� #�������
�� ��� ������	� >��� ,�	�� ��� η=���	#� ��� #������� �� ��� 6��� �	����	��� ��� ����
	����	>���	�� 	� �6��	��� +	� 5��� ��	��	����� 6��,��� ��� �	� 	� �	?�����  (� ��$����
,�	�� ��� ���#��	6�� ,	�� � ���@�����$ �5 � #���#� ����� ��� �������  (� 	� ���� ��
��5������ #����;�����<� ���� �	� 5���� 	� ��� #	+�� #���� 	� �.���#������ ����� � ����	���
�	�� ������� ��� 	�������	�� #�	�� �� ��� 	�������� ��� ��� ���������  (� ����	���� ���
�	�� "��2� ��	� ��>��� � ��	��	����� ,	���, 	� ��� η �	����	��� ��� �	
� �5 ��� ��	��	�����
,	���, ��>��� ��� pt ��������� �5 ��� ��	����� ' ��,=pt ���� 	� ��>��� �� � ���� ���
�����	�� ��� ����� ��$�� �5 ��� ���� �#���������� �	��� 	� 	� ���+�� 6$ ��� ������	� >����
�� ��	� ���� ��� ��	���� 	� 5����� 6$ ��� ��	��	����� ,	���, �5 ��� 	����  (�� ' �	��=pt

���� 	������ ������� ��� ��������� ����	��� ��� ��	��	����� 	� +��	� ,��� ���� ���� �,�
 (� ��$��� ��+� �	� ���	#� 	� ��� ��	���� ,	���,� ��	� ����,� �� ������ ��� 5�-� ��	����
��� �� ��+��� 6��-������� �� ���	�+� 5������ ������	�� ���	��� 5�-� ��	������ ��� ����
��	���� ,��-� 	� ��� �,� #����� �=φ ��� �=
� 	��	#�������$ ��� ���� ���6	��� ��� ��������
�� ��	� ,�$ ��� ��	���� ��������� ��� ���� ���� �� ������� ��� ���� #��	�	�� 	� ��� �=φ
#�����

��� ���" ��� �� ��	����� #��+	�� � ������	�� 5����� �5 �13 6$ ��@���	�� ��,=pt ������
����� #������� 6$ ����$ 	� D	��� �5 ������� #	��� �� -���� ��� 5�-� ���� ����-� ���=
#���� 6$ �	�� 5��� ��� ��+��� 6��-������� ���$ ��-� ���	�	��� 	� �1 �� ��� � � ���#��=
�	+��$� ��� #��6�6	�	�$ ���� � 5�-� ���� ���� ;5��� 6��-������< 	� ������������� �� �
���� 6$ ��� ���" ��	���� 	� 10−2� �� ��� �� ����+�� ���	�	���� ����� #������ 	� ���
�+��� ���� ,��� ��� �������� 6$ ���� ��� ���" ��	������
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#���������� �5 '���� ����,� ��� ����������� �5 ��� �����+���� �������� �5
����� 	� � ,	�� ����� �5 ���� ������� ,	�� � �	�� #���	�	��� ��	� 	� ��� �� ��� �����
����-	�� ����6�� ��$��� ���� #��+	�� � #���	�	�� �����	���� ����������� 	� ��� 6���	��
�	����	�� �5 ��� �	�=���� ����	��� �������

��� ����-	�� ����	��� ��� ���� 6$ ���	����� 0�	5� ��6� ����6��� ;�0�O�< ���
������� 
��	# ����6��� ;�
�O�<� �0� ����6��� ��� 	� ��� ��� ����� ����	��� �5 ���
6����� ��� 	� ��� �	���� ��� ��� ����� ����	��� �5 ��� �����#�� �
� ����6��� ��� 	�
��� >��� ����	�� �5 ��� �����#� �� #��+	�� � >��� ��������	�$� ,�	�� 	� ��3�	��� �� ��#�
,	�� ��� ������	�� ���� ��� 6��-������ ����	�	��� 	� ��	� ���	��� ��� ,���� ����

#���������� 	� 5����� 6$ ��)* �0� ����6��� 5�� � ����� �5 &%1111 ������� ��������
��� � ����� ��� +����� �5 711 �3� ���$ ��+� ��� ��� ���� �#����	�� #�	��	#��� �	?��	��
���$ 5�� �	����	��� ��� ���#� ��#���	�� �� ��� #��	�	�� 	� ��� ���� 
#����������� ���
�0� ����6��� #��+	�� �� �.������� ������	���	�� �5 ��� ���@�����$ �5 ����� ,	��	� ���
#�������#	�	�$ ����� BηB C "�%� �� ��	� ���#��� � �����	#�	�� �5 ��� �0�O� �#����	��
#�	��	#��� ��� #��5�������� ,	�� 6� ��#������

%�� ��� *�� ����+���

' ���	����� 0�	5� ��6� ����6��F")G ����	��� �5 ��$��� �5 #������	
�� ��	5� ��6�� �����
�������� ��� �����	
�� 	� �,� ����	��$��� �� �	���� �	�� �5 � �	�	� ��##��� ���������� ���
�	����	��� �5 ���� ����6�� ��� ��� ���6�� �5 ��6�� #�� ��$�� ��#��� �� ��� ����6��
#��	�	�� 	� ��� �#����������� '� �� 	��������	+� �.��#��� ����6��� �5 ��� 6����� ���	��
,	�� 6� �����	6���

��� 6����� ����6��� ��� �����	����� 6$ �,� ����	��$���� ���� �5 ,�	�� 	� ���� 6$ �����
��$��� �5 ��6��� �	�� &��� /��$ ��� ����6��� �5 ��� 	���� ����	�� ��+� 5��� ��$��� #�� ���=
�	��$�� 	� ����� �� 	������� ��� ����-	�� �A�	���$ �� ��� �������� �5 ��� �#����������� ��
����� �� ����� ��� ��3�	��� #���	�	�� ��+�� ;���� #�	�� ��� �� 6� �������� ,	�� � #���	�	��
�5 !1 µ�< ��� �0� ����6��� ��+� �� ���	�5$ +��$ ���	����� ������	��� �������	���� ���

*�
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�����	+� #��	�	�� �5 ��� �,� ����	��$��� ��� �� 6� -��,� ,	�� *1 µ� #���	�	��� ���� ���=
�	��$�� ��� �� ��	���	� � �����	� D�.	6	�	�$ 	� ����� �� ��� ��� ��6�� 5����, ��� ������� ,	��
���	���� ' ��+	��	�� �5 ��� ,	�� 5��� ��� ��6� ������ ������� ���� �11 µ� ������ ������
��5�����	�� �5 ��� ������	� >��� ������ ��� ,	�� ��� �����3�����$ �$������	� �?���� ��
��� ����-	��� �����+�� 	� ����� �� ��������� � ���� �#��	�� �������	��� ��� #��	�	�� �5
��� ,	��� ,	�� ���#��� �� � ����6�� ��5������ 5���� ��� �� 6� -��, ,	�� �� ��������� �5
"1 µ��

��� #��	�	��� �5 ��� �0� ����6��� ��� ���#��� �� ��� ����� ��� �� 6� -��,� ,	��
� #���	�	�� �5 &1 µ�� ��	� 	� ������$ +��$ ���� �+�� ��� ����� ���6�� �	����	��� �5 ���
�#����������� �����5���� ����6�� #��	�	��� ��� ���������$ ���	����� 6$ ����� �5 �#�	���
��	������ �$����� ��� �	�#��������� �# �� � �� ��� ��������� 	� ��� �T	�� ����$�	��
�����+�� �� 	�=#���� ��	������ �$���� �������� ����6�� ��5�����	���� ���� ����	�� ��
��� ��	������ �$���� ��+� 6��� ��#����� 	� ���#��� "�

�	���� &��9 
������	� ���,	�� �5 �� �0� 6����� ����6���



���� ������ �
�� ����
���� ��������� *&

%�# 
����� ��+� �$������� $�����$��

��� 6��	� ������	�� ������� �5 �� �0� ����6�� 	� � �$�	���	��� ����	��� ��	5� ��6��
���� ��6� ��� � �	������ �5 &1 �� ��� � ,��� ��	�-���� �5 *11 µ�� ,�	�� ��� ������
+��	�� 5��� ����6�� �� ����6�� ��#���	�� �� ��� ����6�� #��	�	�� 	� ��� �#�����������
��� ��6� ����� � !1 µ� �	������ E= � ;)%K&< ,	�� �� 	�� ������ �� ������ ��� ��6�
	� ������ �� 6��� ���� ,	�� �#��	���$ ��+���#�� O���=#����O� ,�	�� ���� ��� ,	�� 	� ���
������ �5 ��� ��6� ,	�� � #���	�	�� �5 �1 µ� ��� �	+� ������	��� ������ �� ��� ��6� ��� ��
��� ,	��� ��� ��6� 	� >���� ,	�� � ���=D����6�� ��� �� �	�� #������� �� ������ �	?��	��
��� 	��	���	�� #��	�	�� D������	���� ��� ��� �	.���� 	� '�K��2 ;)&K%<� ' #��	�	+� �	��
+������ �5 &171 � 	� �##�	�� �� ��� ,	��� ��� �������� ����	�	��� ������ 5�� ��� '����
��	5� ��6�� ��� ������	
�� 	� ��6� &���

0	������ & ��
��6� ��	�-���� *11µ�
E	�� ��	�-���� !1µ�
8�� �	.���� '�K�/2 )&K%
(������� & 6�� �6�
�� &171 �

8�� ��	� "×�14

��.	��� ��	5� �	�� %11 ��
0	���	�	����� ��������� "1th ��������

��6�� &��9 ���������	��	�� �5 ��� �	���� ��	5� ��6�

E��� � ������� #���	��� ������� � ��6�� ��� ��� 	� 	��	
�� ��� ��� 	��	
��	�� ���������
6��	� �� ��	5� �� ��� ,	�� 5����,	�� ��� ������	� >��� �	���� '� ������	� �	���� 	� ���������
�� ��� ,	��� �� �	�� &�" ��� ��	5� #��� �5 ��� 	��	
��	�� ��������� 	� ���,�� ��� #��� 	�
6��� ��� �� ��� #������� �5 ��� ������	� >��� 	� ��� �#����������� ��� #�	���$ ���������
��������� 6$ � ������� #���	��� ���+���	�� � ��	5� ��6� ��+� 	� ��� ������	� >��� ��,����
��� ,	��� ��� ���$ �.#��	���� 5��3���� ����	�	��� ,	�� ��� ��������� �5 ��� �#����	�� ����
��� ��	5� #������ ��� 6� �����	6�� 6$ ��� rt=�����	��� ,�	�� 5�� ���� �	�� t ��� 5������
��������� ���� �� ����� ��� ����� ��� #������ � �	����� �	+�� ��� �	������ r 5��� ���
,	���

����� �� ��� ,	�� ��� ������	� >��� 	� �� �	��� ��15 �Kcm� ���� �� �+������� 	� ���=
������� 
	��� ��� �������� ��	5� +����	�$ 	� ��� ,	�� #��.	�	�$ ; C �11 µ�< 	� �5 � !1
µ�K��� ��� #������ �5 ������ ����	#�	���	�� ��-�� �6��� � ��� ��� ��� ��	�� ���� 	� ���
���	� 6��,��� ��� ����� ���6�� �5 ��������� �����	�� ��� ,	�� ��� ��� ���6�� �5 #�	���$
���������� 	� �5 "×�14�

��� �	���� ��������� 	� ���� #��#������ ����� ��� ,	�� ��� ��������� 5��� ��� �0�O�
������� ��������	��� ��� �������� �	�� 	� ��� ��� �5 �	?����� �����	6��	���9

tmeas = tdrift + tprop + t0, ;&��<
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µ track

wire

path
drift

�	���� &�"9 �����+���� +	�, �5 � ��	5� ��6��

,���� tdrift 	� ��� �	�� ���� ��� ��������� ��-� �� ����� ��� ,	��� tprop 	� ��� �	�� ��
#��#����� ��� �	���� ����� ��� ,	�� ��� t0 	� � �������� �5 ��� ��6� ���� ��-�� 	���
������� ��� ����$ �5 ��� �	���� ��6��� ��� 5����=��� ��������	��� ��� tprop ��� t0 ���
	���#������ �� ��� ��	5� #��#���	�� �5 ��� ��6�� ' �$#	��� �	�� �	���	6��	�� 	� ���,� 	�
�	�� &�&� ��� t0 	� ��>��� �� ��� ����� �5 ��� #�$�	��� �	�� ,	���, ��� ������#���� �� ���

�	���� &�&9 ' �$#	��� �0� �#�������

��	5� �	�� �5 #���	���� ���� ����� ��� ,	��� �� ��� ���� ,�$� tend 	� ��� ��� �5 ��� #�$�	���
�	�� ,	���,� ��� 3����	�$ tmax I tend = t0 ������#���� �� ��� ��	5� �	�� �����	���� ��
#���	���� #���	�� ����� �� ��� ��6� ,��� ��� ��#���� �� ��� ��� ��	5� #��#���	��� ��� t0



���� ������ �
�� ����
���� ��������� *!

��� tmax +����� ��� 6� ������	����� 6$ >��	�� ��� �	�� �#������ ,	�� ��� 5����	��9

dn

dt
= P1 +

P2(1 + P3e
− t+P5

P4 )

(1 + e
−t+P5

P7 )(1 + e
t−P6

P8 )
. ;&�"<

���� P1 	� ��� ��	�� ��+��� P5 	� ��� t0� P6 	� ��� tmax ��� ��� ����� #��������� ���
������� �� ��� ���#� �5 ��� �	���� �	���	6��	��� �� ��� 6��� ���,� ���� ��� �������$ 	�
������	���	�� t0 	� �6��� 1�! ns 5�� � ���#�� �5 "1 H ����-� #�� ��6��

��� �	�� tprop 	� �������� 6$ ��� ��	���� ����6��� ���� ������� ��� U������V �����	=
����� �5 ��� �	� 	� ��� ��6� ��� ��� �� 6� ��6������� �� ��� tdrift� ��� tmax 	�� 	� ��������
����	�	��� �5 & �6� 6�� #������� ��� "% ◦� ���#�������� �5 �6��� %11 ��� ��� tmax 	�
��#������ �� ��� ��� ���#�������� 	� 5��� � ���#� �5 �6��� ="�% ��KH ��� 6��� �6���+���
��� ��	� ������ ���� ����6�� 	� �3�	##�� ,	�� ���#������� ������� �� 6� �6�� �� �������
��� �������� ��	5� �	�� �T	���

���� ��� �0� �#������� �	�� &�&� ��� ��� �	����	�$ �5 ��� ��	5� +����	�$ 	� �+	����� ��
5��� ��� �0� �	.����� '�K�/2 ;)&K%<� 6������ �� ��� ����# �5 ��=������ ����	���� ��	5�
����� 5�� ,�	�� ��� �������� ��	5� +����	�$ vdrif 	� #��#���	���� �� ��� ������� ������	� >���
�������� �Kρ� ,���� ρ 	� ��� ��� ����	�$� �� 	����	����$ 5����,� ���� vdrif 	� ��� ��������
�+�� ��� ����� ����	�� �5 ��� ��6��

/��� ��� ��	5� �	�� �5 ��� 	��	
��	�� ��������� ��� 6��� ��������� 	� ��� �� 6� ���+�����
	� ��� �	������ 6��,��� ��� ���� ����- ��� ��� ,	�� 	� ����� �� ������	�� ��� ����
���@�����$� �� ��	� ,�$ ��� ��� 	��	+	����� 	� � �	���� ����6�� �	. ;�	��� 5�� ��� 	����
����	�� ����6���< �����	����� �5 ��� ����- 	� ��� #���� #��#���	����� �� ��� ��6� �	����	���
���� 	� ��� #���� �=
 �� ,�	�� ��� ����� ��� 6���� '� �������� -��,����� �5 ��� rt=
�����	��� ��� ���� �5 ��� ��	5� +����	�$� 	� � #����3�	�	�� 5�� ��	�� ��	5� ��6�� �� #���	���$
����������� #���	��� ����-�� ��� rt=�����	�� �5 � ��6� 	� �	���$ ��#������ �� 	�� �#����	��
����	�	��� ;��� ���������<� �� ,��� �� �� ��� ��� ���#��	�	��� #�������� ���#������� ���
�� ��� ������	� >���� '� �.��#�� �5 rt=�����	�� 5�� � ��6� 	� �������� ����	�	��� 	�
��#����� 	� �	�� &�*�

����� ��(� ��	���

(��	
��

��� ����6�� ���	6���	�� #�������� ��-�� ��� �5 ��� 	�5�����	�� 5��� ��� �������� ��	5�
�	��� ��� �5 ��� #���	�� -��,����� �5 ��� ,	�� #��	�	���� �� 	� ���� �� �������	6���	��
#��������� ��� ���������� �WW ��5�,��� ���� ���	6 F&"G 	� ���� �� #��5��� ��� �������	=
6���	��� ��� ������ ,��-� ����� ���� 	�#������ �����#�	���� �	��� 	� 	� �.#����� ����
��6�� ���� �#����� 	� ��� ���� ����	�	��� ��+� ��� ���� rt=�����	��� ��� ����	��� ���=
���	� >��� �5 ��� �#���������� 	� ��� ��	5���� 6�� 	� 	� #���	6�� �� �	+	�� � ����6�� 	���
���	��� ,���� ��	� +��	��	�� 	� ����	�	6��� �����+�� ��� ����-� ���� 5�� ���	6���	�� ��+�
�� 6� ����	��� �	���� �� ��� �.#��	����� ��� �+��� ���#��� ���� 5�� �������	6���	�� ,	��
6� #��+	��� 6$ ��� ���=� ���� ��	���� ���� ������� #���	���� ,	�� �����+���� ��������

���� �������
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�	���� &�*9 �$#	��� rt=�����	���

������� ���� 2 8��� E	��	� � ����	��$�� ��� ���+����� �5 ���� ����-� 	� ����	�	6��� ���
�������	6���	�� #�������� 	� �����5��� �##�	�� ��#������$ �� ���� ����	��$���

��� ������ ����	��� 	� ����� ���#�9

� >��� ��� t0 �5 ���� ��6� 	� ���#���� ��� ��6������� 5��� ��� �������� ��	5� �	�� ��
�3���	
� ��� �	��� 	� ��� �	?����� ��6��� ����� �����	�� �� �##��#�	��� 5����	��
5�� ��� ��	5� +����	�$ ;�� 	�	�	�� R(t) �����	��<� ��� 6��� ����	��� �	��� ������� �� ���
�	����� ��#������	�� ��� �	�� 	� ���#����L

� ��� �	?������ 6��,��� ��� �������� ��	5� ���	�� ;rmeas = R(tmeas)< ��� ��� ���
�6��	��� 6$ ��� ����- >� 	� ���#���� ��� ���� �� ������� ��� R(t) �����	��L

� ��	�� ��� ��������� R(t) �����	�� ��, ��	5� �	����� ��� 	����	>�� ��� ��� ����- >� 	�
#��5����� ���	��

��	� 	� �� 	�����	+� #�������� ���� 	� ���##�� ,��� ��� �+����� ���	������ ���� ����� ���
�	?������ 6��,��� ��� �������� ��	5� �	������ ��� ��� ���	�� �5 ��� ��	5� �	���� 5���� 6$
��� ����- >�� ∆R(tmeas) = R(tfit) − R(tmeas)� ��� 6���, ��� ��3�	��� �������$ �5 �1="1
µ�� :�����$ �1 	�����	��� ��� ��A�	��� �� ����� ��� ��3�	��� �������$� �� 	� 	�#������ ��
������ ���� ��	� #�������� ���+����� �� � ��	3�� ��� 6	��=5��� �����	�� ���$ 	5 ��� �������
�#���� �5 ��� ����-� 	� �� ����� �11 ����� ��	� ��� �� ��� 5��� ���� � 6��� �5 #�������
����-� ���������� 	� � ��	3�� ,�$ ��� �������� ��	5� �	�� 	� ��� ��6�� �5 � ����	��$�� ���
��� �������	6���	�� 	� ��� ��A�	����$ �������	���� �� �	��&�! ��� ���	����� �� � 5����	�� �5



���� ������ �
�� ����
���� ��������� *%

��� �������� ��	5� �	������ �� ��� �	?����� ��+�� �5 ��� 	�����	�� #�������� ��� ���,�� '�
��� ���� 	�����	�� ���# ��� ���	����� ��� �����	��� ,	��	� ±�1 µ� 5��� 
��� �+��$,�����

�	���� &�!9  ��	����� �� � 5����	�� �5 ��� ��	5� �	������ �� ��� +��	��� ���#� �5 ��� 	�����	+�
#�������� �5 ����6�� �������	6���	���

����� ��� 
�	�
��
� ���	
�
 ����
�	
��

��� 	���	��	� �#��	�� �������	�� �5 � �	���� �0� ��6� ��#���� �� ��� �������	�� 	� ������=
	�� ��� ��	5� �	�� �5 ��� 	��	
	�� ���������� ��� �	�� �������	�� ��� �	?����� �����	6��	���9

� �	������ ������ �5 ��� #�	���$ 	��	
��	��� ��� 	��	
��	�� ��������� ��� ����#�� 	�
��������� ��� �	������ 6��,��� �������� ��� ��� ���6�� �5 �������� #�� ������� ���
D�������L

� ������ D������	��� �5 ��� 	��	
��	�� ������ �5 ���� ������� ��� D������	�� �5 ���
��� ��	�L

� �	?��	�� ���	�� ��� ��	5�L

� ������	� ��	��L
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��� D������	��� �5 ��� �	������ 6��,��� �������� ��� �5 ��� ���6�� �5 ��������� �����	���
	� ���� ������� #������ D������	��� �� ��� �	���� �	�� �	�� ;time slewing<� ��	� �����
���� ��� �	�� 	� ,�	�� ��� �	���� ���� �+�� ��� �	���	�	����� ��������� ��� +��$� �	��� ���
���	+�� �	�� �5 ��� >��� �������� ;����� �5 ��� �	����< ��� ��� �	�� �� ��� ��� ���� ��������
����� ��� ,	�� ������� ��	� �?��� 	� ����+��� 5�� ����-� ���� ����� ��� ��6� ���� ���
,	�� 6����	�� ����	�	6�� 5�� ���		 ������� ���� � ��� ��� ��	5� �	������� ������� ����
��" �� ��� ���	���� �����	6��	�� �� ��� 	���	��	� ��6� �������	�� 	� ��� �� ��� �	?��	��
�5 ��� 	��	
��	�� ���������� ��� �?��� �5 ��� �	?��	�� 	� ���� ��� 	��	+	���� ���������
5����, � 
	�
�� #��� ��,��� ��� ����� ,	�� ������ ���� � ����	��� �	��� ��� ������ #���
������ ���+����� 6$ �� �������� 	� ��� >.�� 6�� 5����,� � �	���	6��	�� ,	�� � >�	�� ,	���L
��	� #������� � �������	�� �� ��� ��	5� �	��� ��� �	�� #������� �5 ��� �0� ��� �	.����
�	�	�	
�� ��	� �?���� �� �	��&�2 ��� �����	6��	��� �� ��� �	�� ��� �#��	�� �������	�� ���
���,� �� � 5����	�� �5 ��� ��	5� �	������� ��� �	���� ��6� �#��	�� �������	�� ������ 5���
"11 µ� +��$ ���� �� ��� ,	�� ��� !1 µ� ���� ��� ��6� ,���� ��� �#��	�� �������	��
���	���� �� ��� ,�	�� ��6� ���	�� 	� �5 71 µ��

%�% *�� !����������

���� �0� ��6� ����	����� �� ��� �	�� ,	�� � &71Ω 	�#������� ,�	�� �� ��� ����� �	��
	� #�� ��� 5���� ��� ��� ��� ������� ��������	��� ��� �0� ��������	�� #�������� ���
	�5�����	�� �5 ��� 	��	
��	�� ��������� ���	+	�� �� ��� ,	��� ' #����#�	>�� ���+���� ���
	������ ������� �	���� 	��� � +������ #���� ,�	�� 	� ���� �� � �	���	�	������ ' �	�� ��
�	�	��� ���+������ �$������	
�� �� ��� 6���� �����	�� ����-� �������� ��� �	�� �5 ���
����	�� ��� ���	�	�� ���� �5 ��� �	���	�	����� ���#�� ��� ������ 	� 	� � 6�?��� �� ���� �5 �
���� ��	���� ��� ���� ������#���	�� �� ��� �+��� �5 	������� ��� ��	+�� �� ��� '���� ����
��3�	�	�	�� �$���� +	� ��� ������� ��	+��� ��� ��������	� ������ 	� ���,� 	� �	�� &�&�
���� ����	��$�� 	� ���	���$ �������� 	� � 5�����$ ���� ��	��� �� 6��� ����� ��� 5�����$
���� 	� �������� �� ��� ��� �5 ���� ��6� �� ��� ���#���� ��� �.���	�� �5 ��� 5�����$ ����
��� � ������ ���������� #�	�� #��+	��� �� ����, ��� �	���� ������ �� 6� �	�� �� � �����
�.������ '���� ������ #�	��� ���� ���#���� �0� ����6�� 	� ������	����$ 	������� 5���
��� ��##��� ���������� ��� ��� ���+	��� ;���� ������	���� ���< ��� ���� ������	����$ 	������� ��
D���	�� �� ��� �������

/� ��� ������� �	�� �5 � ����6�� ��� ��6�� ��� ����#�� 	� 6���-� �5 "* ��6��� ����
�5 ���� 	� ��������� �� � ��

��	�� ����� ' ��

��	�� ���� 	� � #�	���� �	���	� 6����
���#���� 6$ ����� 7=�������� '
0 ;'�#�	>��� 
��#�� ��� 0	���	�	�����< ��� � �	�#��
"*=�������� '0�� ��� ���#��� �5 ����� '
0 ��	#� ��	+� � "*=�������� �	�� �� 0	�	���
���+����� ;�0�<� 0��� �5 ���� �0� ��� ���� ��� 	��	+	�����$ +	� � *1 �6	�K��� ���	��
�	�- �� � �	���� �
� ;����6�� 
��+	�� ������< ,�	�� ����	#��.�� ��� ���	�� �	�-� ;�� �
����6�� ��� ���	�� �	�-� ����� 6� �# �� �7< 	��� � �	���� �#�	��� >6�� 5�� ������	��	�� ��
��� '���� 0'N� ' ��	�$=���	� X�'8 6�� #���	�� ��� ��,�����	�� �5 ��� #��������� �5
'
0� ��� �0���

��� �	�� ����������� 	� #��5����� 6$ � "*=������� �0� 6$ �	+	�	�� ��� *1 ��




���� �	� ����������� *)

�	���� &�29 �����	6��	�� �� ��� �	�� ;��#< ��� �#��	�� ;6�����< �	���� ��6� �������	���
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��� ����- 	��� &" 	����+��� #��+	�	�� 1�%7 �� �	�� 6	��� ��� ,��� �������� ��� �	���	�=
	����� ���������� ���� ��� ��� ��	� 	� >.�� �� "×�14� ��� �	�	��� #����	��� ��������� 	�
>+� �	��� ��� ��	�� ��+��� ,�	�� 	� ��� �0� 	� ���	����� 6$ ����	���	�� ���	���� ���	��
��	��� ���� ������#���� �� �% ����������
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� �" ���� #���

�� ��� $��� "11* '���� ��� 6��� 	�+��+�� 	� � +��$ 	�����	+� ���� �5 ��� �	?����� ��6=
�������� ���������	�� 	� � ���6	��� ���� 6��� �� ��� �7 6��� �	�� �� ��� �� � 
(
F&&G�
' ���#���� ��	�� �5 ��� '���� 6����� ��� �5 ��� ���� ���=��# ��� 6��� ������ ,	�� 6����
�5 �	?����� #���	���� ;#	���� ���������� ����� ��� #������< �� �	?����� �����	�� ;����	��
5��� � 8�� �# �� &!1 8��<� ��	� #��+	��� � ��	3�� �##�����	�$ �� �+������ ��� 	��	+	����
��6=�������� #��5�������� ��� ���� �� �.#��	� ��� 5��� #�,�� �5 ��� '���� �������� 5��
#���	��� 	����	>���	�� ��� ������������ 	� � ����	��	� ���6	��� ���� ��-	���

�� ��	� ���#��� � ���� ����	��� �����	#�	�� �5 ��� �7 ����# �5 ��� ���� �$���� ,	�� 6�
��#����� 	� ����� �� 	�������� ��� �.#��	� ��� ������� �6��	��� ����$�	�� ��� ���� ���������
,	�� ����6��� �5 ��� 6����� ���� �$����� ��� �6@��� �5 ��	� ���#��� 	� ��� �+�����	��
����������� �5 ��� #���	�	�� ������6�� 6$ ��� �0� ����6��� 	� ��� ����������� �5
��� ���� �������� ��� ���	����  �5���	�� �� �	�� *��� ��� ���	��� �5 � ����- 	� ��>���
�� ��� �	������ 6��,��� ��� ������������� ������� 	� ��� �	���� ����	�� �5 ��� ����
�#���������� ��� ��� ����- �������	�� ��� �������� ������������� 	� ��� ����� ��� 	����
����	���� ��� ���	��� 	� ������� �� ��� ����- ���+����� 	� � ������	� >��� ��� ���� �� ���
����- ���������

��� '���� ���� 
#���������� ��� 6��� ���	���� �� #��+	�� � ���� �����=����� ��=
������ ������������ ��� �����+���� �������� ������ 6� �������� ,	�� � �������	��
�5 σ(pT )/pT I �1% �� pT I � ��� � ' ���� ,	�� pT I � ��� ��� � ���	��� �5 �!11µ� 	�
��� �+����� ������	� >��� �5 1�!� �5 ��� '���� �#����������� ���� �� ����� � ��������
�������	�� �5 �1% ��� ���	��� ��� �� 6� �������� ,	�� �� �������$ �5 !1µ�� ��� �0�
����6��� ��+� 6��� ���	���� �� �����	6��� �� ��� ���	��� �������	�� ,	�� �� 	���	��	� ����
�5 ��� ����� �5 !1µ�� 
	��� ��� �������� ���	��� �������	�� ��#���� ��� ���$ �� ��� 	�=
��	��	� �������	�� �5 ��� ����-	�� ����6��� 6�� ���� �� ����	#�� �������	��� �� �����$ ����
	� ������ �� �	��������� ��� �,� �����	6����� E	�� ��� "11* �7 ���� 	� ,�� ���� #���	6��
�� ������� ��� 6��� ��������� �	��� � 4 ������ ,�� #������ 	� ��� �7 ����#� ��� �7
����# �	+�� ��� ��	3�� #���	6	�	�$ �� ������� ��	� 3����	�$ 	� � ����	��	� ��$��� 6�5��� ���
	��������	�� �5 ��� '���� �.#��	���� ,	�� 6� ���#������ ���$ ����� ��� 6� #��5����� 	� �
���6	��� ���� 6���9 ������	��� �������� 	��������	�� ������ 	�������	�� 6��,��� �	?�����
���������	��� ���� �5 ��� �������� ������� �$����� 	�������	�� 6��,��� �	?����� ��6�$����

!�
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�	���� *��9 
��	��� ��>�	�	��

���-� ;��	���� ��� ����-	��< ��� �	?����� ��5�,��� ����� ;���� ��3�	�	�	��� ����6����� �	��
��+�� ��	���� ��5�,���� ��=�	�� ��� �?=�	�� ���	���	�� ��� �����������	��<� ����$ �5 ���
��	������ ��� ���	6���	�� �5 ��� ����6����

'�� ���  , *��� ����$

��� �7 ���� 6��� 	� �6��	��� 6$ ��� #����� 6��� #��+	��� 6$ ��� 
(
 �� � ����	���
���� �����$ ������ 5��� "1 �� &!1 8�� � ��� �#������ ����	�� �5 �7 ���� 	� �����+�� ��
�����	����� ��� ����� 0������� ������ �� 	� ��#������ 5��� ��� ���� 
#���������� ����
6$ ��� 6��� ���#� �� 	��� 6���- ��	�- &�" �� ' �������	� ��# +	�, �5 ��� "11* ����
����# 	� ���,� 	� �	�� *�"�

��� �7 ���� ����# F&*� &!G 	� �����	����� 6$ �,� ����	���9 � 6����� ����� ��� �� ���=
��# ������ 
	��� ��� ���� #�������� ���� ��+� 6��� ��������� ,	�� ��� 6����� ����6���� 	�
��� 5����,	�� ���$ ��� 6����� ����# 	� �����	6��� ��� 6����� #��� 	� ���#���� �5 �,� 6�����
��,���� ���� �5 ���� 	� �����	����� 6$ �� 	����� � �	���� ��� �� ����� ����6�� 	��������
�� ��	��� �� �������� � 6����� ������ �5 ��� 
#���������� ����	��	�� �5 �	. �0� ����6���
��� �	.  (� ����6���� ��� �0� ��6�� ��� ������� 	� +���	��� #��	�	�� ;#��#���	�����
�� ��� #���� �5 ��� �	�� *�"< ��� ��� ��6� ��$��� 5��� ,	�� ��� 6��� �� ����� �5 �6���
�!◦;1�"2 ���<� ��� �0� ����6��� ���9 �,� 	���� ����� ;4��<� �,� �	���� ����� ;4��<
��� �,� ����� ����� ;4/�< ����6����

��� ����6��� ��� 5���$ 	����������� ,	�� 5����=��� ��������	�� ;���<� ����=��� ,	��
��� ����  ������ 0�	+�� ;� /0< ��� 5���$ �3�	##�� ,	�� ��� �#�	��� ��	������ �$�����
���� �	���� �0� ����6�� ��� ���  (� ����6�� �#������ ��� ���  (� ����6��
��,�������� ��� ����� �0�O� ��+� ���  (� ����6�� ��,��������

��� 6��� ���� ��� 	����	����� 	� ��� ���� ,�$ ��� �,� ��,��� �5 6����� ����6����
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�	���� *�"9 ��# +	�, �5 ��� �7 ���� ����#

��� ��,�� �� ��� ��# 	� �	�� *�" 	� ��� ���� 	����	������ /��$ �+���� ��������� ,	�� ��	�
��,�� ��+� 6��� ����	����� 	� ��� ����$�	��

�,� ���	�	���� 6����� ����	��� ��� #������ �� ��� ����� 6�5��� ��� 6����� ������9 ���
����� ����	�� �#������ �5 ��� ���� ,��� ��� ��� 	���� 6����� �� � �����	�� ��##���
;�����5��� ������ J�����	�� 4��J<� ��� �����	�� 4�� ��� ������ ������ 	�� �.	� 5��� 1◦ ��
�1◦ ���#��� �� ��� �	����	�� ������ �� ��� 6��� 	� ��� ���	
����� #���� ;��� #���� �5 �	��
*�"<� /�� 6��� ������ 	� 	�������� 6��,��� ��� �����	�� 4�� ��� ��� 6����� ��,���� 	�
����� �� 6��� ��� ���� ����- 	� ��� ���	
����� #���� ;������ >��� �5 ��	� �	#��� #�	���
����� ��� �0� ,	���� ��� +���	��� �����	����<� ��� ������ ������� ��� 6� ����������
�������$ 5��� ��� ������� ���� ��� +��	�� 5��� 1 ' �# �� ±211 '� �� 	� �6�� �� #��+	��
� ��.	��� >��� 	������� �5 �6��� * ���

��� ��� ������� ���� ,	�� 6� ��#����� 	� ��� ��.� ����	��� ���  (�� ��� ���� �� #��5���
����������� �5 ��� ������=�����	���� ;��� +���	��� �����	����� ����� ��� �0� ,	���<
��� ��� �� ��	���� �� ��� 6��� ������ �,� �.������ �$����� �5 ��	���� ,��� �+�	��6��
	� �7� ' ����� ���� ��	���� 	� �	+�� 6$ ��� ��	��	����� �5 ��� �	����� �5 �,� ��	��	�������
;�1 × �1 ��2< �������� �� ��� 6��� �	��� �� 	� 	�������� �#������ ��� ������� ' �����
���� ��	���� ;21 × �11 ��2< 	� �	+�� 6$ ��� ��	��	����� �5 ��� �	����� �5 �,� #����� �5
�	. ��	��	����	�� ���6� ;���� �5 �1 × �11 ��2<� �� ����� �� ��##���� ��� 6��� ����� ���
#���	6	�	�$ �� ��� ��� �1×�1 �� � +��� 5�� ��� �������#� 	� 5��������

'�# -������ �������� 
�����$����

' +��$ �������	� ��# +	�, �5 ��� �,� 6����� ��,��� 	� ���,� 	� �	�� *�&� ��� ��5������
�$���� ���� 	� ��� ����$�	� 	� ���� #������� ��� ������	� >��� ��� ��� ,	��� �5 ��� �0��
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��� ����� y=�.	� ;+���	���< ��� ��� ����-� ��� ������������� 	� ��� #���� z=x ;���	
�����
#����<�

�	���� *�&9 
������	
��	�� �5 ��� ���� �$���� �� �7� ��� �����	���� 5���� 	� ���,��

��� �����	�� 4�� ����6�� �������� ��� ����� ���� ��� ���� ����- 5���� ,	�� ���
x=�.	� 6�5��� ��� ������� θRotBIL

�� ��� ����6��� �5��� ��� ������ �4(� ������� ���
���� ����� �5��� ��� ������	� >���� θBarrel� ��� 6����� ����- 	� ���#���� �� ��� ����- ����
������� ��� �,� ��#��=#�	��� �����	���� �� ��� �������� ��#������$ 	� ��� 4�� ��� 4/�
����6���� �� 	� 	� ���,� 	� �	�� *�� ,���� ���� ��� ���	��� 	� ���,�� ��� ��#��=#�	�� 	�
��� �����	�� #�	�� �5 ��� ����- �������� �� ��� ������ �5 ��� ����6��� ��� �������� �5
��� ����- ��� 6� ������	��� 6$ ������	�� ��� ��+	��	�� �5 ��� ����- ��� �� ��� �������
���� ����� ���#��	�� ��� �	?������ ∆θB = θBarrel − θRotBIL� ��� ���� �������� 	�
�	+�� 6$ ��� 5������9

p(GeV ) =
0.3BL(Tm)

∆θB(rad)
;*��<

,���� BL 	� ��� 6���	�� #�,�� �5 ��� ������	� >��� ��� 	� 	� -��,� ���� ��� ������	�
������� ��� 6��� >.���

��� 5������ 	� ������� 	5 ��� �����	�� 4�� ��� ��� ����6��� �5 ��� 6����� ������ ���
#��5����$ ��	���� 	� ��� z=x #����� ���� ����� ���#��� �� �����	��� ������ y=�.	�� ��	� 	�
��� ��� ����� 	� 5��� ��� �����	�� 4�� #��	�	�� ���#��� �� ��� 6����� ����6��� 	� ��-��,��
��� �?��� �5 � #���	6�� �	���	������ ��� 6� ��-�� 	��� ������� 6$ ������	�� ��� ����-
��+	��	�� 	� ��� ���� �5 ���� ������	� >��� ∆θ0� ��� >��� 5������ 	� ����9
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 �� θRotBIL�
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p(GeV ) =
0.3BL(Tm)

(∆θB − ∆θ0)(rad)
;*�"<

E	�� ��	� ������ ��� ���� �������� ��� 6��� �������� ��	�� ��� ���� 
#����������
����6��� 5�� ��� >��� �	��� �+�� 	5 ��� ������ 	� 3�	�� �	?����� 5��� ��� ��� ,	�� 6� ����
	� '����� 	� 	� �� 	�#������ �.���	�� �� ���� ��� ����-	�� #��5������� �5 ��� 
#�����������
'��� ��� ����������� �5 ��� ���	��� ������ 6� #��5����� 	� ��� ���� ,�$ �� 	� ��� '����
��+	�������� �	��� 	� �7 ����# ��� ����-� �����	�� ��� ����6��� ��� ����	��� �	���� ���
����- �������� ��� ������������� ��#������$ 	� ���� 6����� ����	�� ;4��� 4�� ��� 4/�<
��� ��� ��#��=#�	��� ��� ���#����� ���� � ����	��� ����- �����	�� ��� �,� ��#��=#�	���
	� ��� �,� �.����� ����6��� ;��� 4�� ��� ��� 4/�< 	� ���#���� ;	� 	� ��� ���� ����-
���� �� #��5��� ���� �������� �����������<� ��� ���	��� 	� ��� �	������ 6��,��� ���
4�� ��#��=#�	�� ��� ��	� ����- ;�	��*��<�

�� �7 ����# ��� 6����� ����6��� ��� 	�������� �� ����� ��	��� �� ��� >��� '���� ��+	=
�������� ��� ,	��� �5 ��� �	?����� ����6��� ��� ��3�	��� �� 6� ��	���� ,	�� � #���	�	��
�5 �6��� "��	
� ' +���	��� ������ �5 �1��� ���� 	� ��� ����- �#���� ����,�� 6$ ��� �����
���� ��	���� ����� ��-�� � ��.	��� ��	5� �5 "11µ� �5 ��� ����6�� ,	�� ������� ���#���
�� ��� ���	��� #��	�	�� 	� ��� z=x #����� ���� ��� ���	��� ��� �����3�����$ ��� ���	���
�������	�� ��#��� �� ��� ����- +���	��� �����	����� ' ������	�� �5 ����-� ,	�� ��� ����
y=�����	���� 	� ��������$ �� �+�	� ��	� ��#�������� ��� y=�����	���� 	� �������� 6$ ���
φ=���	#� �5 ���  (��� ���� ��� ��� ���	#� #��#���	����� �� ��� �0� ,	���� /��$ ����-�
���� ����� ��� �$���� �� ��� ���� y=�����	���� ��+� 6��� ���� �� ���#��� ��� ���	����
�� �	�� *�* ��� 6��� #��>�� 5�� ���  (� φ=���	#� �5 ��� 4�� ����	�� 	� ���,�� �� #���	�=
���� ��� >���� �� ��� ��5� ��#���� ��� 6��� #��>�� �� ��� >���  (� ����6�� ;6�5��� ���
�0�< �� 6��� ��� �,� φ=���	# ��$���� ��� >���� �� ��� �	��� ���,� ��� 6��� #��>�� ��
���  (� ����6�� #�� �5��� ��� �0�� 0�� �� ��� �������$ ����#� ��� ������ ����6��
	� ���� 	����	����� ���� ��� >���� /��$ ����� ,	�� �� ����� ��� �	� 	� ��� ���� 	���=
�	����� φ=���	# �5 ���  (� �#������ ��� ��,������� ��� �0� ����6�� ��� ���������
�� ��� 6��� ����-�� ���� �3�	+����� ������� ��� �6��	��� 	5 � ��� 	� �##�	�� �� ���  (�
φ=�������� 	������ �5 �� ��� φ=���	#��

����� ��	� ��	�

��� ���� �� ,�	�� ��	� ����$�	� ��� 6��� #��5����� ,��� ��������� ,	�� ��� 6����� ����=
6��� ��� ��� �����	�� 4�� �#������ 	� ��� ���� ����	�	���� ��� ��� �	.���� �5 �0�
����6��� ,�� 9 '�9�/2 ;)&%9%%< �� & 6�� �6������ #�������� ��� �	�� +������ ,�� &171
� � ��� ��	���� �$���� ,�� ��� �1×�1 �������#�� ��� ����$�	� ��� 6��� ��#����� 5��
����� ���� ���� �� �	?����� �	���	�	����� ����������9 =&2� =*1� =** �� � ��� ���� ���������
� ���� �5 6��� �������� ��� 6��� #��5����� 6��,��� �11 ��� "!1 8�� � 6$ +��$	��
��� ����	��� �5 ��� �7 6���� ,	�� ����� ���	��� +����� 	��	���	�� ��� 6��� ��������
�� ��� �7 ����$� 6�5��� ��� �����	�� �5 ��� �����	������ ��� �5 ��� 6��� ���#� '� 	� ,	��
���,� ,	�� ��� �������� �������� �	���	6��	���� 	� 	� ��� #���	6�� �� �6��	� � #��5����$
�����������	� 6���� ��� ���� ����# �5 ���� �� ��� ���� 6��� �������� ��� �� ���
���� ���������� ����� ���� ��-�� 	� ��3����� ��� 6��� �������� �� #��5��� ��� ����$�	�9
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�	���� *�*9 
��	# #��>�� �5 ��� 6��� �� ��� �,� ��#� �5 ���  (� �#������ ��� 4��
;��5�< ��� �5 ���  (� ��,������� ��� 4���

� � ��� ���	�� ,�	�� ��� �����	�� 4�� ����6�� ,�� �����	��� ��	� ���#�� 	� ���� ��
���	6���� ��� ����6����

� � ��� ���	�� ,�	�� ��� �����	�� 4�� ,�� >.�� ��� ��� ������ ,�� �,	����� �?�
��	� ���#�� ��� 6��� ���� �� ������� ��� �	���	������ �5 ��� �����	�� 4�� ���#���
�� ��� 6����� ������ 	� ��� z=x #�����

� � ��� ���	�� ,�	�� ��� �����	�� 4�� ,�� >.�� ��� ��� ������ ,�� �,	����� ���
��	� ���#�� ��� 6��� ���� �� #��5��� 6��� ���	��� ��� �������� ������������

��� ����$�	� ��� 6��� #��5����� ��	�� ��� #��-��� ��������4��� �5 ��� '����'
������� �1�1�1�

����� ��	� ��

(��	
��

��� �0� ���	6���	�� #�������� ;���#����	�� �5 ��� t0 ��� rt=�����	�� 5�� ���� ��6�< ���
6��� �.#��	��� 	� ���#��� &� ���� ��� ��#����� ���� �#��	>� ����	�����	��� �� ���	6����
��� ����6��� 	� ��� �7 ����#�

t0 �
�
��	���	��

��� ���� ��6�� ��� #��������� �5 ��� ��	�	�� �5 ��� ��	5� �	�� �#������ ��� 6��� ���	+��
5��� � >� �� � ����	=0	��� 5����	��� �� ����� �� ������ ��� ����	��	��� �������	��	��� ���
��� ���� ���� 	� ��� ����$�	� ��� ������ �# �� ���#��� ��� >�� �� ����� �� ������ ���
��������	� ��	��� � ��� ��� 6��� �##�	�� 9 ���$ �	�� ,	�� '0� ������ ������ ���� � �	+��
��������� ��+� 6��� ���������
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�
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��� ���� ��� �5 ���� ,	�� ��� ���� ���	��� �������� ��� rt=�����	��� �5 ��� �,� ���=
�	��$�� �5 ��� �����	�� 4�� ��+� 6��� ��������� �� �	��*�! 	� ��#����� ��� rt=�����	��
�6��	���� ��� �	���� ��6� �#��� �������	�� ���� 5�� ��	� ,��- ������ 5��� "11µ�� ����
��� ,	��� �� !1µ�� ���� ��� ��6� ,����

�	���� *�!9 ��� r − t �����	�� �������� 5�� ��� >��� ����	��$�� �5 ��� �����	�� 4���

' ����- �� ��� ���#���� t0� ��� �� rt=�����	��� ��� 6��� #��5����� 	�+���	���	�� ���
���	���� �	���	6��	�� ��#������$ 5�� ���� ��$�� �� � 5����	�� �5 ��� �	������ 5��� ��� ,	���
��� �	�� �	���������� 6��,��� ����-� #����� �� ��� �	��� ��� �� ��� ��5� �5 ��� ,	��� ���
���	���� �	���	6��	��� ��� ���,� 	� �	��*�2� ��� ���� ��5�� �� ��� ��� ,	�� � ���	���
�������� �5 �!1 8�� ��� � �	���	�	���	�� ��������� �5 =&2 ���

��� ����� +����� �� ����� ��	5� �	������� ��� ��� �� ��� �	A����$ �� ���#��� ��� rt=
�����	�� ���� ��� ,	��� ,���� ��� ������	� >��� 	� +��$ ����� ��� ��� ��	5� +����	�$ +��	��
��#	��$� 
	��� ��� �������	6���	�� #�������� ;��� ���#��� &< 5�	�� 5�� ���		 ������� ���� �
mm � �	���� r − t �����	�� 	� ���� 	� ��	� ��	5� ����� 	� ��	� ,��-� ��� ���		 ������ ���� �
mm ��� ������� ���� ! mm� ��� ���	���� �	���	6��	�� �5 ��� �+����� ��$��� 	� ,	��	� "1µ��
' 3�	�� ����� �#���� 	� �6���+�� �� ��� 	��	+	���� ��$���� 6�� 	� 	� ��,�$� ������� ����
&1µ� = *1µ�� ��� �#���� ��������� �##�����	�� ��� ��6� ,���� ,���� ��� �	���� ��6�
	���	��	� �������	�� 	�#��+��� 
	�	��� �	���	6��	��� ��� �6���+�� 5�� ��� ������ ����	��$���
��� ����6�� �5 ��� �,� ��,��� ��� -�#� 	� >. #��	�	�� ���#��� �� 6��� �.	�� 
	��� ���$ ���
�#������ �� ��� ���� ����	�	��� �5 ��� �����	�� 4��� ��� rt=�����	�� �5 ��� >��� ����	��$��
�5 ��	� ����6�� ��� 6��� ���� ���� 5�� ��� ��� ����� ����6����
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�	���� *�29  ��	���� �	���	6��	��� �� � 5����	�� �5 �	���� ��	5� �	������9 5�� ��� �����=
	�� 4�� ;��#=��5�<� 5�� ��� 4�� ;��#=�	���<� 5�� ��� 4�� ;6�����=��5�< ��� 5�� ��� 4/�
;6�����=�	���<�

'�% *��� �������� �����������

��� �������� ����������� ��� 6��� #��5����� 5�� ���� 6��� �������� ,	�� �����
���� �5 ���� �� �	?����� +����� �5 ��� �0� ��	� ���������� �	��� ��� �	?������ ∆θ0
��� 6��� �������� �� ��-� 	��� ������� � #���	6�� �	���	������ �5 ��� ����6��� ���
�� �����	�� ������ ��� y=�.	�� ���� ��� �	?������ ∆θB ��� 6��� ���#����� �� �	��
*�% ��� �	���	6��	��� �5 ��� �,� ������� �	?������� ��� ��� �	���	6��	�� �5 ��� ��������
�6��	��� ;�3� *�"< ��� ���,� 5�� ��� ���� ,	�� �"1 8�� ���	��� 6��� �������� ��� =*1
�� ���������� �� ��6�� *�� ��� ���� +����� ��� ��� �������� ��+	��	�� �5 ��� ��������
�	���	6��	��� �6��	��� 5�� ��� +��	��� ���� #��5���	�� � �����	�� >� ��� ��#������

��� 6��� �������� 	� �������� 6$ ��� 6����� ����6��� ,	�� � �������	�� �5 5�,
%�� ���-	�� �� ��� ��6�� *�� 	� 	� �+	���� ���� ����� 	� � �	����#���$ 6��,��� ��� ���	���
��� ��� �������� ��������� ��	� 	� ��	��$ ��� �� ��� �����$ ���� ;�6��� �& 8��< 6$
��� 6��� 	� ��� �����	�� �#������ ��� ���� ���� ;�����	������ ��� 6��� ���#<� ��
�	��*�7 ��� �������� �	���	6��	��� 5�� ��� ���� �� �	?����� ���	��� 6��� ��������
��� ��������� =** �� ��� ���,��
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�	���� *�%9 ��# ��5�9 ∆θ0 �	���	6��	��L ��# �	��9 ∆θB �	���	6��	��L 4�����9 6��� ��=
������ �	���	6��	��� ��� >����� ��5�� �� ���� �� ���	��� �������� �5 �"1 8���

Pnominal Pmean ;8��< σp ;8��< Pmean(GeV ) σp;GeV < Pmean(GeV ) σp;GeV <
�11 77�% *�! 77�7 *�"
�"1 �17�1 *�" �17�� *��
�!1 �&2�) 2�� �&!�1 !�7 �&2�� 2�1
�71 �2&�! %�! �2&�* %�*
""1 "1&�" ���2 "12�% ���& "1"�1 ���!
"!1 "")�* �*�) "&1�� �!��

��6�� *��9 �������� �������� ���� +���� ��� �������� ��+	��	�� �� �	?����� ���	���
������� 5�� ����� ����������9 =&2 ��� =*1 �� ��� =** ���

'�' 
������ ���������� �����������

'� 	� 	� �+	����� ��� 6��� ,�� ��� 5���$ �����������	�� ��� ��	� ������ �� #��5���
��� ����������� �5 ��� ���	��� �������	�� � ��� ,�� �##�	�� �� ��� ����- ��������
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�	���� *�79 4��� �������� �	���	6��	��� 5�� ���� �� �	?����� ���	��� �������� ���
=** �� ����������

�	���	6��	��9 ���$ ����-� ,	�� � �������� ������ ���� pmean − 2σp ��+� 6��� ���������
'������ ��� ,�� �##�	�� 	� ����� �� �	�	�	
� ��� �����	6��� �� ��� ���	��� �������	�� ���
�� #���	6�� �	���	������ �5 ��� ����6��� ��� �� �����	�� ������ ��� x=�.	�9 ���$ ����-�
�����	�� ���  (�� 	� ������#������� �5 ��� ���� φ=���	#� ��+� 6��� ��������� ��� >���
���	��� �	���	6��	��� ��� ���,� 	� �	��*�) 5�� ��� =** �� ���������� ��� ���� +���� �5
��� ���	��� ������ 6� 
��� �	��� ��� ���� �������� 6$ ��� �,� ��,��� ��,������� ���
������ 	� � ����	��� ����-� ��	� 	� ��� ��� ���� �	��� �	���	������ �5 ��� ����6��� 	� ���
�,� ��,��� ��� ��� ��-�� 	��� �������� '�$,�$ ,� ��� 	��������� 	� ��� ���� ��������
�������	�� ��� ��� 	� ��� �6������ �������� +����� ��� �������� ��+	��	��� �6��	���
,	�� � �����	�� >� �� ��� ���	��� �	���	6��	��� �6��	��� ,	�� �	?����� ���	��� ��������
��� ���������� ��� ��#����� 	� ��6�� *�"�
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�	���� *�)9 
��	��� �	���	6��	�� 5�� ���� �� �	?����� ���	��� 6��� �������� ��� ������=
��� =** ��� ��	� ���	��� �	���	6��	��� ��� �6��	��� �5��� ��� �,� ���� �����	6�� 	� ��	�
����	���
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Pnominal σS ;µ�< σS;µ�< σS;µ�<
�11 )%�)) ±"�*) �1��7 ± ���
�"1 )1�!2 ± 1�%) )��!) ±��11
�!1 %*�)1 ± ���1 %2�*2 ± 1�2" %7�7* ± 1�7"
�71 %1��! ± ��*1 %��*2±1�%�
""1 2"�)) ± ��!% 2!�11 ± "�11 22�)1±��"1
"!1 !)�2� ± ��)2 2"�1 ± ��*1

��6�� *�"9 
��	��� �	���	6��	�� ,	��� 5�� ��� ���� ��� �� �	?����� ����������

'�. (���� �������/ ������� ���������� ������ ���� ��0

������

��� ���+� �5 ��� �������� ���	��� �������	�� �� � 5����	�� �5 ��� ���� �������� 	�
��#����� 	� �	�� *��1 5�� ��� ����� ���� ���� ,	�� �	?����� +����� �5 ��� �0� �	���	�	�����
����������

�	���� *��19 
��	��� �������	�� �� � 5����	�� �5 ��� ���� ���������

��� �������� ���	��� �������	�� ��#���� �� �,� 	���#������ �����9 ��� 	���	��	�
�������	�� �5 ��� #���	�	�� ����6�� ���� ���� ��� ��#��� �� ��� 6��� ��������� ���
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��� ����	#�� �������	�� ���� 	������ ��#���� �� ��� ���� ��������� ��� ����� ���+��
��+� 6��� >���� ,	�� ��� 5����	��9

σ =
√
P 2

1 + (P2/p)2 ;*�&<

,���� P1 	� ��� �������� ���� ������� �� ��� 	���	��	� �������	�� ,�	�� P2 	� ��� ���� �������
�� ����	#�� �������	��� �� � ,�$ ������ 	���#������ 5��� ��� �0� ��	� ��������� ,�
>�� ���� ��� �����	6��	�� �� ��� ���	��� �������	�� ��� �� ��� 	���	��	� �������	�� 	� �5
�!1µ�� ��� +����� 5���� 5�� ��� �	?����� ���������� ��� ��#����� 	� ��6�� *�&�

��������� ����	��	� ���	��� �������	�� σS;µ�<
=&2 �� !1�7 ± "�)
=*1 �� !��7 ± "�*
=** �� !&�" ± &�&

��6�� *�&9 ����	��	� ���	��� �������	�� ���� 5�� ��� ���� ���� �� �	?����� ����������

��� P2 ���� ��� 6� ���������� 	��� ��� ���� CxKX0P ���� 	� ��� �+����� �	������
������� 6$ ��� ����- 	� ���	��	�� ������ ��	��� ��� �������	
��	�� �5 �	��*��� ��� 6���
���� �� #��5��� ��� ��������	��� �� ��� 6��� ��##���� ���� ��� �������	�� ��##��� �.����$
	� ��� 4�� ��#��#�	��� ��� ���	��� �������	�� ���� ������� �� ��� ����	#�� �������	�� 	�
�	+�� 6$ ��� 5������9

σS(multiplescattering) =
P2

p
� (Z2 − Z1)(Z3 − Z2)

(Z3 − Z1)
σθ0 ;*�*<

,���� ;Z2 = Z1<�;Z3 = Z2< ��� ;Z3 = Z1< ��� ��� -��,� �	������� 6��,��� ��� ����6����
σθ0 	� ��� ������ �5 ��� ����	#�� �������	�� ����� ��� 	� 	� �	+�� 6$ ��� 5������ F&2G9

σθ0(rad) =
13.6MeV

p

√
x/X0 [1 + 0.0038ln(x/X0)] � 13.6MeV

p

√
x/X0 ;*�!<

���� ��	� 5������ 	� #���	6�� �� �6��	� ��� �����	����	# 6��,��� P2 ��� < x/X0 >9

P2 � (Z2 − Z1)(Z3 − Z2)

(Z3 − Z1)
13.6MeV

√
< x/X0 > ;*�2<

��� +���� �5 < x/X0 > �6��	��� 6$ ��� >� ��� ��#����� 	� ��6�� *�*� ��� < x/X0 > 	�
�6��� &1% ��� ��-� 	��� ������� �6��� )mm �5 �����	�	�� �5 �0� ��6�� ��� 5�� ���
�����	�� �5 ��� �,�  (� ����6����



2* ��
���� �� ��� �� ���� ��
�

�	���� *���9 ' ��# �������	� +	�, �5 ��� 6����� �7 �$����� ��� ������ �� ���#��� ���
����	#�� �������	�� �����	6��	�� �� ��� ���	��� �������	�� 	� ���� �������	
���

��������� < x/X0 > ;%<
=&2 �� "2�) ± &�!
=*1 �� "7�7 ± "�*
=** �� ")�) ± &�2

��6�� *�*9 ����	#�� �������	�� �����	6��	�� �� ��� ���	��� �������	�� 5�� ��� ���� ���� ��
�	?����� ����������
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/��� �� �0� ����6�� ��� 6��� #������� 	� 	�� ���� 	���	����� 	� 	� ���� �� �� ��
,���� ���� ���� #��5������� ����� ��� #��5����� 6�5��� ��� 	��������	�� 	� ��� '����
��+���� '6��� *11 �0� ����6��� �5 �$#� 4�. ��� 4/.� ���� ����� ����6��� �5 ���
�	���� ��� ����� ����	��� �5 ��� �#���������� 6������ ��+� �� 6� ������ ,	�� ����	� ��$�
���� 6�5��� ��� 	��������	�� 	� ��� ��+���� ��� 44! ����	�  �$ ;� < ���� 5��	�	�$ ��
�� � 	� ���� 5�� ��	� #��#�����

�� 44! �0� ���  (� ����6��� ��� #��#����� #�������� ��� ���� ��+�� �� ���
� ����� 5�� ��� >��� ���# �5 ��� ����	>���	�� #��������� ��� >��� ���# ����	��� 	� ���
����$�	� �5 ��� ����	� ��$� ���� ���������� /��� � ����6�� ��� 6��� ����	>�� �� ��� � �
	� 	� ��+�� �� ��� '���� ��+��� �� #�	����

'5��� �����#�����	�� 5��� ��� � ����� �5 44!� ����6��� ������� � ��, ��� �5 �����
6�5��� 6�	�� ��,�=������ 	� ��� '���� #	� ��� 	�������� 	� >��� #��	�	�� 	� ��� �#������=
����� ����� ����� ��� #��5����� 	� ��� 
Q� ���5��� ���� �� #�	��� ��� ��� ��������$ ��
������� ���� ����6��� ��+� ��� 6��� ������� ���	�� �����#�����	���

�5 � ����6�� ���	�>�� ��� 44! ��� 
Q� ����#����� ��	���	�� 	� 	� ����$ �� 6� 	��������
	� '�����

��� 	��������	�� �5 ��� ���� ����	��� 	� ��� '���� �#���������� ��� ������� 	� ������
"11!� �� ������ "11! �	. 4�� ����6��� ��� �	. 4/� ����6��� ,��� 	�������� 	� ������ �&
��� ��������� �� ���#����$ ���+	���� 0��	�� ��� 	��������	�� � #������� �?��� ��� �������
�� ��-� ���� ,	�� ��� ����6��� �5 ������ �&� '� 	������ ,��- �5 ����	��	��	��� �� ����
��� ���$ ��� 5����	����	�$ �5 ��� �0� ����6��� 6�� ��� ,���� �$����� ;��	����� ��������
������� �$����� ���� ��3�	�	�	�� ��� ���	��K�T	�� ���	���	��< ��� 6��� #��5������

�� ��	� ���#��� ��� ��	� ���#� �5 ��� ����	>���	�� #�������� �5 �� �0� ����6�� ,	��
6� �����	6��� 5��� ��� ����	� ��$ ����� 	� 44! �� ��� >��� ���� ��-	�� 	� ��� #	��

�$�
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���
 �� 11.

��� ����	� ��$ ����� �� 44! F&%G ��� 6��� #�� �� ��� �� #��5��� #���	�	�� ����6�� ����	��
6�� ��#������� � 5���������� ���# 	� ��� ����	>���	�� #�������� ���� �+��$ ����6�� �5
��� 6����� �	���� ��� ����� ���� �#���������� ����	��� ��� �� #��� 6�5��� 	� ����� 6�
����	����� ���� #��5���	�� ��� 	�������� 	� ��� '���� ��+���� 8��� �5 ��� ����	� ��$�
����	>���	�� 	� �� +��	���� �+����� ������� 5����	��	�� �5 ��� ����	��� 	�����	�� ��� ����=���
���	� ��� 5����=��� ��������	��

�� 44! �0� ����6��� ��� #��#���� 6�5��� ��� � ����� ��� #��#����	�� ����	���
�� �� ��6��� �������	�� ����-� #����	�� ��

��	�� ����� ��� ������� 
��+	�� ������
;�
�< �� ���� ����6��� ������� ��� ��=����6�� ��� �	���	6��	�� ��� �� ��� ���#�������
������� ��� ������	� >��� #��6�� ��� ���� ������� �����+�� ��� ��� ����6��� ������� �
���- ���� ��� � ��	�� ����� �+�� ������ ���$ ��+� 6��� ������$ #��5����� 	� ��� ����
	���	����� '5��� 6��� ��� �0� ����6�� ��� 	�� ������#���	��  (� #����� ��+� 6���
#��#���� ��� ��+� #����� ���	� ���#���	+� ����� 	� 44!� ���$ ��� 	��������� 	��� ��� >���
���� ����	�� ��� ��+�� �� ��� � ������ ���	� 5����	����	�	�� ��� ������ �	�����������$
6�� ��#������$ 	� ��� � ������

)���� "") ��	�� ��# 	�
����

��� � ����� �� 44! ��� ����� �# �� & ����	��� �	�����������$� ���� ����	�� 	� ��##�����
�� � ���,�� ,�	�� ���� �� ��	�� 	� ����� �� ����, ����	�� 	��������	�� ��� ����+�� 5���
��� ����	� ��	���� �$����� �� �	�� !�� ��� � ����� 	� ��� 44! 6�	��	�� 	� ���,�� ���
����� ����� D���� ��� �3�	##�� ,	�� ��� ��� ���+	��� ;��� �������	���� �� ��� �� ��6����
�#�	��� >6���< 	� ����� �� 6� �6�� �� ��-� ���� �� ��� ����� ����	��� �	�����������$�

����	� ��$� ��� ��	������ 6$ �,�  (� ����6��� #�� ����� ��� �+�� ��� � ������
��� ��,�� ��	����  (� 	� #�� � � ����� ��� D���6���� ��� ��� �##�� 	� �� � �	������ �5
�6��� 2 � 	� ����� �� ������ ��� ���� #���	6�� +���	��� ����	� ��$�� �� ����� �� ��+�� ���
������� ���� �� #���	6��� �,�  (� 5����� 6$ �,� �$#�=4 ��	�� ��+� 6��� ������� ���$
��+�� �� ���� �5 "×! �2 ,	�� � ��	���� ����#����� ����� ������ �� ��+�� ���#�����$ ���
������� 6����� ����6��� ���� ��+� �� 6� �������

��� �,� ��	����  (� ��� ���� 6$ " ��$��� ��� 2* η=���	#� ��� �21 φ=���	#� 5�� ����
��$��� ���$ ��� �#������ ,	�� ��� ���� ��� �	.���� �� ���  (� �5 ���� ����	��� �� 6�
����	>��� /��$ ��� �	����� 5��� ���	#� #��#���	����� �� ��� ������ �5 ��� #���� ;φ=���	#�<
��� ���� �� �������� ��� ��	����� 
��	#� ��� ��������� �� � �#��	�� ����	+��� ���� ���#��
�5 ��� ����	+�� ������ 	� ��� ���	� / �5 7 ���	#� ��� ���� ������#���� �� �� ���� �5
�##��.	�����$ "!×"11 ��2 �5 ���  (� #����� /��#�� �	����� �5 ��� ����	+�� ������ ���
>��� #����� �� � �	���	�	����� 5�� �	���� ���#	��� ��.� ��� ���	� / �5 ��� ���	#� �5 ��  (�
��$�� 	� 5������ 
	����� �5 ��� �,� ��$��� �5 ��� �##��  (� ��� ����$�� 6$ �2 �� 	� �����
�� ���#������ 5�� ��� ���� D	��� �	�� 6��,��� ��� �,�  (� #������ ' ��	��	����� �5
�	�� 	� & ��� �5 ��� *  (� ��$��� 	� ��3�	��� �� �������� ��� >��� ��	���� �	����� �$#	���
��	���� ����� ����� 5��� �!1 �� "11 �
�

0��	�� ��� ���� ��-	�� ��� 0'N 	� �#������ 	� � ���	�� �	���� �+��� ����� ���� �����



���� ��� ������ �
� ��
�	 
� ��� 2%

�	���� !��9 ��� ����	�  �$ ����� 	� 44!9 � 4/� 	� #�� �� ��� >��� D���� � 4�� �� ���
������ ���� ��� ��	�� 	� ��#�$�

���� �������	�� �5 ��	����� 	� #�$�	����$ ���##�� �5��� ���� ��	���� �	���� ���	� ��� ���� �5
��� ������#���	�� �+��� ��� 6��� ���� ��� ��� #��������� ��� ����� �# �� � 5�, -�
� ����
��#�$ ��+�� ��� ����� �6���+�� ,	�� ����	��� ��� �	���� �+��� ���� ���� ��� #��� ��$
�	�	���	��� �� ��� #��5������� �5 ��� �$�����

)���� &�� ���	  ����#���

'5��� � ����6�� ��� 6��� #�� 	� #���� �� ��� � ���� ����� ��� ���+	��� ������ 5�� ���
���� ��+� �� 6� ��������� �� 	�� '� �0� ����6�� ��� �� 6� ��������� ��9

� ��� �$����9 � ��� ��##�$ �$���� ��-� ��� ����6�� �� � �������� �6������ #�������
�5 & 6�� 6$ �� ��������	� #������� ���������� ,	�� � �	�	��� D�, �5 !1 ��K�� 8��
�	.	�� 	� ���� ,	�� ��� ���# �5 �,� ���� D�, ������������ ���$ �#����� 	� 6����	��
����� 	� ,�	�� ��� �6������ D�, �5 �/2 	� ��@����� �������	����$ ������	�� �� ���
������� D�, �5 ��� ��@�� ���#������ '����L

� �� �$����9 ��� �0� �#����	�� �	�� +������ ;&171 �< 	� �##�	�� 	��	+	�����$ 5��
���� ����6�� ����	��$�� 6$ � �'�� 
M�7&&( ������� �� ���	�	��� ���� �0�
����6�� 	� ������� ���	�� ��� ����� 6$ ����� �5 � ��#����� ��6�� ��������� �� ���
����� #��� �5 ��� ����6�� 5�� ��5��$ �������L
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� �� �$����9 �0�� ���� 6� ��##�	�� ,	�� � �	���� ��, +������ �5 ! �L ��� #�,�� �	��
��� �� 6� ��������� �� ��� �0� ������ 6���� 	� ����� �� ��	���� ��� ��� �0�
������� ��������	�L

� ����=���9 ��� ��� >6�� ��� ��� ���� ��3�	�	�	�� >6�� ��+� �� 6� ��������� �� ���
�
� ;����6�� 
��+	�� ������<� 0�
 	�5�����	�� ��� ����=��� �������� ���4���

/��� ��� ����6�� 	� ��������� ���� ����-� ��+� �� 6� #��5����� 6�5��� ���� ��-	��� 8��
#������� ��� �� 6� �������� �5��� �������	�� � ����6�� �� ��� � ���� ����� ��� �$�����
�5 � +���� 6���, "�7! �6� 6�� 	� 5����� ��� ����6�� ��� �� 6� D����� 5�� ��+���� ������
��� +����� �5 #��������� ���� ��� 	�D����� ��	5� #��#���	�� ;�����#���	� ���#��������
#�������� ��� �	.���� ���#��	�	��< ��� �������� ,��-	�� #��������� ;'
0 �����������
�##�	�� +������� ��� ��������< ���� 6� ���	������ ' �������� ������� �$���� ;0�
< ���
6��� 	�#�������� 	� 44! �� ���	��� ����� #����������

��� �0� ��������	�� ��� �� 6� 	�	�	��	
�� ��� ��� '0
 ��������� ���� ' �������5��
	�	�	��	
��	�� 	� ��3�	��� 5�� ��� ��

��	�� ������ ��

��	�� ���	�� ���6��� ���� 6�
-��,� 5�� ��� ����� ��� 	��	+	���� '
0 �?���� ���� 6� ���� 5�� #�������	��� '5���
��� ��������	�� 	�	�	��	
��	��� ��� ������� ��##�	�� �� ��� ����6�� 6$ ��� ��, +������
#�,�� ��##�$ ��� �� 6� ����-��� ' ��+	��	�� �5 ���� ���� 1�" ' 5��� ��� �.#����� +�����

	� 5����,�� 6$ � ���� ����	��� ������� �5 	��	+	���� ��

��	�� ������
�	����$ ��� �� ��� 6� ������ ��� ���� ����	��$�� 	� ��3�	��� �� ���, ���� ���� " µ' �5

������� �� &171 �� �	�� �������� ��� 6� ��� �� 6�� ��� ���#��	�	��� ��� �	���� �/2 �� ��
���� ,���� 	� ��� �	.����� ����6��� ,	�� 	�	�	�� �������� �6�+� " µ' #�� ����	��$�� ���
D������ ,	�� ��� �	�� +������ �,	����� �?� 5�� ��+���� ������ '������ ������ 	� ���	�	�$
	� ��� �	�� +������ �������� 6����� ��� ��6���� �� ��	� ���� �������� �������� ��#	��$ ��
���� �� �	�� +������ 	� �,	����� ���

��� ���� ����6�� � ���� �	�� ��� ;��� �	���< ��� �� 6� ��-�� 	� ����� �� ����������
����	��	� ������ �� ����$
� ��� �0� ��� '0� �#����� 5�� ���� �	���� ��6�� ' ����	��	� �5
�6��� �15 �+���� 	� ��������$ �� #��5��� >�� �� ��� �	���� ������� �0� ��� '0� �#�����
��� ������	�� ��� ��	� �#����� #����������

)���� �����	���� ��
	��
�


��� �	�#�� ����� ��+� 6��� ��+���#�� 	� 44! 	� ����� �� 3�	�-�$ ����$
� ����� >��
�	�������� ��� ���- �� ��� ����+��� +��	�6���� '� �0� ����6�� 	� ��3�	��� �� ���	�5$
��� 5����,	�� ��	���	� 	� ����� �� 6� ����	>��9

� �	� #��>��9 �	� #��>�� 	� ��� ���6�� �5 �	�� #�� ��6�� �� 	� ����-�� 5�� ���� ��6�
��$�� ��#������$ 	� ����� �� ������� ��� ������� �����	�� 6��,��� ��������	�� ��������
��� ��� �������	��� ��6� #��	�	�� ���� 	� �6��	��� 5��� � ��##	�� >��� ,�	�� 	�
���� 6$ ��� ����$�	� #������� ����� 	� ��� ��6�	�� 6��,��� ��

��	�� ����� ���
�
� ��� ���	�$ +	�	6�� 	� ��� �	� #��>��� ��� �	� #��>�� 	� ���� ���5�� �� ����- ���

�%#���
�� �
��� ������� �� 
�� ��	��� �� 	�((
���� �
��� �� 
�� ��
	����



���� ��� ������ �
� ��
�	 
� ��� 2)

	����	5$ ���� ��� ��	�$ ��������� �� �	��!�" � �$#	��� �	� #��>�� �� 	� ��� ���� 6$ �
��$�� �5 � 4�� ����6�� 	� ���,�L

�	���� !�"9 �	� #��>��9 ���6�� �5 �	� #�� ��6� 5�� ��� ��$�� & �5 ����	��$�� " �5 � 4��
����6���

� 0��� ��������9 ���� �������� ��� �� 6�� ��������	��K��6�	�� ��� ��� ����,��� ���$
��+� �� 6� �������� 6$ ����-	�� ���� ��� ��� ��

��	��� ��� ���������� ��� ,���
#������� �� ���� �5 � 6��-�� ,	�� ��� ��6� ���� 6� �	���������� 5��� �� �� ���
,	�� ����+��� ��� ��.	��� ���6�� �5 6��-�� ,	��� #�� ����6�� 	� &� �5 ��	�
���6�� 	� �.������� �� �?��� �� ��#�	� ������ 6� ����L

� '0� �#�����9 ��� '0� �#������ 5�� ��� ��6�� 	� ��3�	��� �� ��+� � ������ ���#��
�	���	6��	��� �� �	��!�& � �$#	��� ,��� ���#�� '0� �#������ 	� ���,�� ��� ����
	��	+	���� ��	5� ��6� � >� ,	�� � �����	�� 5����	�� �5 ��� ������� #��� �5 ��� '0�
�#������ 	� #��5������ ��� ���� +���� ��� ��� ,	��� ��� ��3�	��� �� ��� �	?��
5��� ���	� ���� +����� �� ��� ��� ����6�� ��6�� 6$ ���� ���� ! �������� ��+	��	����
'0� �#������ 	� ���� ���� �� ���������� ��� ��6� ��	��� 	� 5��� ��������	� ��	�� 	�
���#���� 6$ �	�� ,	�� +��$ ��, ������� �� ��� 6� ��	�	���� 6$ ��3�	�	�� ��� '0�
+���� �� 6� ������� ���� *1=!1 '0� �������

� �0� �#�����9 ��� ���� ��6� ��� �0 ��� �max� ��� �	�� ������#���	�� �� ��� ����� �5
��� �	�� �#������ ��� �.���#������ 6$ >��	�� ��� �#������ ,	�� ��� 5����	�� ��#�����
	� �3� &�"� 0�+	��	��� 5��� ��� ���� 6$ ���� ���� !σ ���� 6� 	�+���	������ ���
tmax 	� +��$ ��#������ �� ��� ��� �	.���� ���#��	�	��9 	5 ��� ����6�� 	� ,���
D������ ��� tmax +����� 5�� ��� 	�� ��6�� 	� 5���� ,	�� � �#���� �5 5�, ��� �5 ������
��+	��	�� 	� �6���+��� ���� #��6��� 	� ��� ��� �	.���� 	� �.#������ ' �	�� ,����



%1 ��
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�	���� !�&9 ' �$#	��� ,��� ���#	�� '0� �#�������

����������	�� 	� ��� ��� �	.���� ������ ������ ��	5� �	��� �	��� ��� �������� +����	�$
	� �������� '������ ������ 	� � �/2 #��������� ������� ���� %%� ��	� ������
���� ��� 6� �	��	���	���� 5��� ��� ���� �5 �.����	+� ����	�$ 6$ ����$
	�� ���� ���
#���� ��	��� �#�����9 E���� ��� � +��$ ����� �?��� �� ��� ��� ��	� ,�	�� ���	�	����
3����	�	�� �5 �/2 ������ ��� ��	� ��� ���� ��	5� ��� '0� �#����� ��,���� �������
+������

� ���6�� �5 ��#�	��� '�� �����9 ��� ���6�� �5 ��#�	��� '�� ����� ;����	�� ����
5���� ,	����� ������#���	�� ���	�	�� ���� ��� +	�� +����< 	� ��3�	��� �� 6� 6���,
!% 5�� ��� ��6�� �����,	�� ��� ������#���	�� ��

��	�� ���� 6� ��#�����L

� ��������	� ��	�� ��+��9 ��� ��	�� ��+�� 	� ��>��� �� ��� ���6�� �5 �	� ���� ��+� �
��	5� �	�� ��� �5 ��� �	�� ,	���,� ���� ����� �	�� ���� ��� ��� ���������� ,	�� �
����- #���	���� �� #���	����� �� 44! ��� ��	�� ��+�� 	� ���#���� ��-	�� 	��� �������
�	�� ,	�� t C �11 �0� ������� ��� ��	�� ��+�� ��� �� 6� ���� ���� !H�
 #�� ����
��6� 5�� � ��������� >.�� �� =!1 ��� �� �	��!�* ��� ��	�� ��+�� 5�� ���� ��������	�
������� �5 � ����6�� 	� #�������

.�# ���� ��2��� �� 
����� �%

��� 	��������	�� �5 ��� '���� ���� �#���������� 6����� ��� ������� 	� ������ "11!� ���
������ �& 	� ��� 6����� ������ 	� 6��,��� ��� �������� 5���� �� ,�� ��� >��� ������ �� 6�
	�������� ��� 	� ��� ��� ���	��� ������ �	����	�� 	� ����� �� ������� �0�O� ����6�� ��
���+	���� �� ��	� ����	�� ������� �5 ��� ����-� �� ��� >��� ���� ��3�	��� ,	�� ���� ����6���



���� 	
�
 �
���� �� ������ �� %�

�	���� !�*9 ��������	� ��	�� ��+�� ;�
< 5�� ��� ��� ��������	�� ������� �5 � 4�� ����6���

�5 ������ �& 	� ��#������
'������� ���� �5 ��� �$���� ���+	��� ,��� ��� ����� $��� ���#����$ ���+	��� ��+� 6���

	�������� 	� ������ �& �� #��5��� 6��� � ��	�� ����$ 	� ��� >��� ��+	������� ��� �� �����
����	�� ��� ���� ���� � �	���� ���� ����6�� 5��� ��� ������� ���� ;:
'�!< ,���� ���
� /0O� ��� �������� �� �	��!�! � #	����� �5 ��� 	��������	�� �5 ��� 4�� ����	��� 	� ������
�& 	� ���,��

/� ��� ������ 6���, ������ �&� ��� >��� �� ��� �� #�,�� ��##�	�� 6���� �� ���
�'�� �'
M &111 �$���� ��+� 6��� �������� ����6��� ,��� ��������� �� ��� ��##�	��
6$ ����� �5 ���#����$ ��6�	��� ' ���� �5 ��� >��� ������	�� ������� 	�����	�� ���� ��5��$
������� ,�� #��5������ 
	�	����$� ��� �������	�� �5 ��� ���4� ,�� ���� 6$ �������	��
��� ��3�	��� ����6��� ,	�� � ���#����$ ��	�$ ���	� �5 ���4�� ��6����

��� �������� #������� ���4������ ��� 0�
�0� ,��� ������ 	� � E	���,� (�
	� ��� ���� ����� ��� ���4������ ,�� ���� ,����+�� �� �#����� �5 ��� ���4 ,��
��3�	���� ,�	�� ��� 0�
�0� ,�� ���� �� >��� +��	5$ ��� ���4 >��,��� +���	�� ���
�� 	�	�	��	
� ��� ����- ��� ������� 5����	����	�$ �5 ���#������� ��� 4=>��� �������� ���
������ �#����	�� 	� ���#����� 6$ ��������	�� ��� +������ ��� ���#������� ������������
�5 ��� �
� ��� �5 ��� ��

��	�� ����� ��������� �� 	�� ' ���, ���	���	�� #������ ���
6��� 	�������� �� ��� 0�
 (� 	� ��� ������� ���� �� ���	��� ��� 6���+	�� ����� ��� �	��
�5 ��� ��, +������� ��� ���#���������

��� �#�	��� >6��� 5�� ��� ��� ��� 5�� ��� ���� ������� ��� ��	���� �	����� ,���
��������� �� ��� �
�O�� ������� ��� >��� #����=#����� ������� 	� ��� �#����������� ,	��
��� ��	� ����� ���	�� �	�����$ 5��� ��� ������� ����� ' ���� �5 ���	� 5����	����	�$ ,��
���� 6$ �	��� >�	�� ���� ,	�� � ����� ����� ��� ���� ����	�� ��� ��� ��������	�� �5 ���
������	���� �	��� �� ��� 5�� ����
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�	���� !�!9 ��� ��	�	�� �5 � 4�� ����	�� 	� ��� '���� �##�������

'5��� ��� ����� ����-�� ��� X�'8 	�	�	��	
��	�� ��� 6��� #��5����� �� ��� ��� ,�����
���������� �� ��� �	���	�	������ ��� �� ��@��� ��� ������� �	�	���

���� ��� �������� #�	�� �5 +	�,� & 4�� ;�'�"'�&'< ��� & 4/� ;�'�"'�&'< ����6���
��+� 6��� 	�������� 	� ���	� >��� #��	�	��� ��� ���� ��������� �� � ���#����$ ��� ���$=
5��� �� D��� ���� ,	�� ��, ���� ��� ��� �7 ;��� ���#��� *< ��� �$���� ��� ��� �������
��� �	��� �5 '���� ��+� 6��� ����� ��� ��.	��� D�, ���� �5 �"11 ��K� ,�� -�#�� '
#������� D�,	�� �5 ��� 4�� ��� 4/� ����6��� ,�� ��� ,�	�� -��#	�� ��� #���	6	�	�$ ��
D��� ���$ ��� 4�� �� 4/� +	� +��+�� ������� �� ��� �	��� 
�5��$ ������� �� ��	�� ���
��� 	� ��� #	� 5����� �� �� �.���	�� � ��� �5 ����	�� ,��� D���	�� ��� ����6��� �� ����
����� �#����	��� ,��� �����	���� �� ��� ���� �	�	��� ��������$ ,�	�� ,�	�	�� 5�� >���
���+	���� E� ,��� ��,�+�� �6�� �� ��� ��� ��� �,	��� ��� >��� �	�� �� ��� ����� 4��� 	�
/���6�� ��� ��� ����� ����� �� ��� ����� 4/���

��� ���� ��-	�� ,�� ������� 	� /���6�� "11! 6$ ����	�� ��� ��� ����6��� ,	�� ��� �,�
� /0O� ���� 	� ��� �7 ���� 6���� �� #��+	�	�� �� ��3�	�	�	�� �5 �# �� 2×" ����6����
��� ������� ,�� #��5����� 6$ ��	�� ��� 0'N #������ ��+���#�� 5�� ������� �5 �	����
��� �������  /0 ����� 0�3 F*1G� E	�� ��	� ���������� 0'N 6��� ��	�� ��� ����	��
���� ��-	�� ,��� #���	6��� 0	?����� �#������ �5 ���  /0 ����� 0�3 #������ ,��� �����
�� ��� ������ +���	��� ���� ,��� ,�	���� ,	�� ��� ������� �+��� 4�	���� 5������



���� 	
�
 �
���� �� ������ �� %&

)���� *�
�� ��+
������	 
� 	�� �
	

'� ���� �� ��� ����6��� ���	+�� 	� ��� #	�� � ��� �5 ����� �� ��� ��	�� ��+�� ��� 6��� ����	��
��� 6$ ����$	�� 6��� ��� >��� ���>�����	�� �5 ������	�� ��� ��� ��	�� ��#������� ��
��� �##�	�� ���������� '5��� ��$	�� �	?����� ������	�� �������	��� 	� ��� 6��� ���	���
���� ��� ��	�� �������$ ��#���� �� ��� ������	�� �5 ��� ��	���	�� �5 ��� �� ��6���� ��
�	��!�2 ��� �������� ��	�� ���� ,	����� ��	���	�� 	� ���,� �� � 5����	�� �5 ��� �������
���6�� �� ��� 6���- �	���	6��	��� ��� ��+�� ������� �# �� %11 H�
K,	��� �� ��� ���� #����
��� ��� �	���	6��	�� ���,� 	������ ��� ��	�� �5��� ��+	�� �������� ��� ��	���	�� �� ���
�� ��6��� �� ��	� ���� ���$ 5�, ,	��� ����� � �����	�� ���� �5 �1="1 H�
�

�����+��� ��� ��#������� �5 ��� ��	�� �� ��� �##�	�� ���������� Vthr� ��� ���� 6���
����	��� �� �	��!�% ��� �+����� +���� �5 ��	� ���� �� � 5����	�� �5 Vthr 	� ���,�� #��+	��
����� �� �.#������ 	� ������� �� ��� ���5 ���� �	�� ��� ��������� 	� 	�������� �5 " ���

�	���� !�29 ��	�� ���� �� � 5����	�� �5
��� ������� ���6��� 4���- ;���< ���+�
	� ,	����� ;,	��< ������	���

�	���� !�%9 '+����� ����6�� ��	�� ;�
<
�������� 	� ��� #	� �� � 5����	�� �5 ���
�##�	�� �	���	�	����� ��������� ;��<�

)���� ����
�� #�	� 	��
�� �
	� � '�
�	


�	�� 	�
����


	��� 	� /���6�� D���	�� ��� ��� 	� ���  (� �$���� ,�� ��� $�� ����,�� ��� ��� ����
��6�	�� ,�� ��� $�� ���#�����$ 	� #����� ��� ���� ��3�	�	�	�� ��� ������� 6$ ��-	�� �
�	�#�� ��	���� 6���� �� ��	��	������ ��������� ���
���� ��� �������� ����	���� �5 �,�
&�1×1�& � ���6� �5 #����	� ��	��	������ ������� �� 6��� ���� 6$ (�� SA,B

j � ����� ��������
��+� 6��� #��	�	���� &1 �� ��� 	� ��# �5 ��� ����� ��� #������� ����� ���	� ����	���	���
�.��� ��� ,���� ����# ��� ���� 6��� #�� �� ��� ������ 6���, ��� ������ ������ �� ��+��
������ �,� ����6��� ����� ��� η �����	����� ��� ���
��� ��3�	��� � *=5��� ��	��	�����
(SA

1 × SB
1 ) × (SA

2 × SB
2 ) ��� ������� ≤ � �
 	� ��� #	� �5��� ��+	�� ������� � #������
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	� ��	��	����� ���� 6$ ��@���	�� ��� �� ����	��� ��	� ���� ��� �� 6� ���#���� ,	�� �
��	���� �����	�� �5 &1 �
 �� ��� ���5��� ,�	�� ,�� ����	����� ,	�� ��� �.#����� �11 �

�5 ���6�� ��	��	����� 	� � �	���� �������� ��� ��	���� ,�� 5����� ,	�� ��� ���	� 	� ���
������ �5 ������ �& ��� ���� 6������ 6$ � �"1 � ���� ��6�� �� ��� :
'�! ������� �����

0��� ��-	�� #��	��� ,��� �����	���� 	� �	�� ��� �� ��� �	A����$ �� �#����� ��� �� ��
��� ����6��� ��� �� ���� �� ��� ��	��	������� ���	�� ��� ����	����� �#����	�� �5 	������	��
��, ����6���� ��,�+��� 5�, ���� �5 ������$ � ���� ��+� 6��� ��-�� 	� 5��� ������� ��
���	��� ��� 5����	����	�$ �5 ��� ����6����

�
��� �� ��
 ��!	�
 ���	���	��

E�	�� ��-	�� ���� ��� ���	�� ���	���	�� 6���� �� 8�'�F&7G ��� ��� ���	�� �	�#��$ 6����
�� (� 
���F&)G ��+� 6��� �����

��� 8�'� ���+	�� ,�� ������$ #��+	��� 	� ��� �0'N ������� ����� �������� ����
�#��	>� ���� 5�� ��� �0�� ,�� ��+���#�� 6$ ��� �0�=8�'� ���- 5����� �� �	��!�7�
��� �	�� �	���	6��	�� �5 � �	���� ����6�� �� ���� 6$ 8�'� 	� ���,�� ��	� ���	���	��

MDT/BML2A13/AllTime

Entries  3088
Mean     1117
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�	���� !�79 �0� ;��5�< ��� '0� ;�	���< �	���	6��	��� 5�� � 4�� ����6�� �� ���,� 6$
��� 8�'� ���	���	�� #�������

���� ����,�� �� �� >�� ���� ��� ������� ����$ ������ �� ���#������ ��� ������ �5 ���
��6�� 6�	��	�� ��� ���
��� �	���� 5��� ��� #	� �� :
'�!� �� ,�� ���� ������ ���	�� ����
��� '0� �#����� ,��� ����	����� ,	�� �	�	��� 	��	
	�� #��- �	���	6��	��� �� �.#�����
5�� �����	�� ����-� ��� ���� ��� ��	���� ,�� 	����� ������	�� �����	�� ����	��� ��	� ,��
>����$ #��+�� ���� �6���+	�� ��� �+��� �	�#��$ 6���� �� (� 
���� ,�	�� ,�� ����	+	��
���� ������� � �#��	>����$ ��+���#�� 8�'� 	����5����
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�� ����� �� ��+� � 5��� 5���6��- �� ��� ����6�� 5����	����	�$ ���� �5���,��� ���� ��-	���
�,� �	�#�� �T	�� #������� ���� ,��� ��� ��3�	�	�� ��� '����� 5����,��- ,��� ��+���#���
/�� �5 ����� #������� � ('E ���#�� ,	�� ��� ��	� 	�5�����	�� �� ��� >��� ���������
���� ���� ������� �� ��� >��� ����	� ��$� ���� ��������� ,	�� ������ �& ��� ��#������

�� �	�� !�)� � +��$ ����� �	�� �	���	6��	�� 	� ���,� 5�� ��� 4�� �5��� 	�������	�� ���
,	��� 	� � ����	��$��� ��� t0 ��� tmax �5 ��� �#������ ��+� 6��� �.������� 6$ >��	�� 	�
,	�� ��� �������� ���+� ���� 5�� ��� ���	6���	�� #�������� ;��� ���#��� &<� �	��� ����	��
�5 ��� �T	�� ���	6���	�� #��������� ��+� 6��� ������� ����-� �� ��� ��3�	��� ����� ��
��+� �� 	��� �5 ��� �.#����� ����	� ���� 	� ��� ,���� ������� ,���  (� ��	����	�� ,	��
6� �+�	��6��� � �	�#�� ���#����	�� ��� 6� ����� �� ��& ����� �5 ���� ��-	�� ,	�� ���
���
���� ������ �111 ����� ����	��� ����-� ��� ��3�	��� 	� ��� 4��"'�& #���	�� �������
��� ��6��K��$���� 
	��� ��� 4��"��& ��� !2 ��6�� ��	� ������#���� �� � ���� �5 1�"
�+����K�	�K��6� ���� "1 �� �5 ,	��� ���� 	� ��� ��	��	������� ����#����� ����� ��� ,	��
�	����	��� ����	#�$	�� 6$ "1 �� ������� 5�� ��� ,	�� ������ ,� ���	���� � ���� �5 &�%
�
K4��� '����	�� � �������6�$ �������� ���� ����� η ,��� ��	����	�� ,	��  (� ,�
�.#��� ∼ !1 �
 �� ������ �& ;���� ������ 	� ���� �5 �" ����6���< 5�� ����	�� ����	���
����-��
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P1   1.421  0.2041
P2   62.56   2.468
P3   8.145  0.3282
P4   128.7   4.659
P5   911.9  0.6930
P6   1633.   3.834
P7   7.561  0.3440
P8   13.97   2.212

�	���� !�)9 �	�� �	���	6��	�� 5�� ��� 4�� ����6��� 	� ��� #	� 5�� ��� ����	��$�� �5���
��� ���� �5 ����	�� ���� ��-	�� ,	�� ��� ��	��	������ ��	�����

�� �	�� !��1� ��� �	���	6��	�� �5 ��� �+����� '0� ��� �0� �#����� 5�� ��� �,� -	�� �5
����6���� 4�� ��� 4/�� ���,� ���� �	?�������9

� ��� '0� �#����� 5�� ��� 4/� ��� �� �+����� +���� ,�	�� 	� &!Y �	���� ���� ���
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�	���� !��19 ������	+� �#����� 5�� '0� ;��#< ��� �0� ;6�����< �#����� 5�� ��� 4��
;��5�< ��� 4/� ;�	���< ����6����

4�� ���� 
	��� ��� ����6��� ,��� �#������ �� ��� ���� �� ;&171 �< ��	� 	�
#��6�6�$ ��� �� � �	?����� ���=�	.�����

� 
	�	����$� ��� 4/� �0� �#����� ��� 71Y �� �����,�� 	� 5��� ,	��� ���� ��� ����
�5 ��� 4���

� ��� ��� 4/�� ����� 	� ���� ��� #������� �5 ���6�� �	�� 	� ��� �	���	6��	�� �� ���,�
6$ ��� #�#����	�� �� +��$ ����� �	��� +	�	6�� 	� ��� 	�����	+� 4/� �	�� �#������ E�
��+� ����-�� ���� ����� �	�� ��� ���	�� ,	�� � ����$ �5 ������$ 711 �� 5��� ���
>��� �	� ,�	�� 	� ����	����� ,	�� ��� 0����	�� ��� 	� ��� �0��

�� ����� �� ������� ��� 	����	���	�� �5 ��� ����6���� �6��	��� 6$ ��	����	�� ,	�� ���
��	��	�������� ��� +��	�6�� �
��� ��� 6��� ������������ ���6� 	� � ��3����	�� ��6� ���6��
���� ������ 5��� ��� 4���' ��� ���� ,	�� ��� 4��&'� 	� 	� #��#���	���� �� ��� η
�����	����� �� ��� ��# ;6�����< #��� �5 �	�� !��� ��� 4�� ;4/�< �	���	6��	�� �5 ���6��
��-	�� ���$ �	�� ,	�� �� '0� �6�+� !1 ������� 	� ���,�� ��� ��� 4/�� ��� ����� ����6���
,��� ��� ��� #��#���$ ��������� �� ��� ���� �	��� ��,�+�� ��� #������ �5 ��� 	����	���	��
�� ��� 4�� ���,� ���� ��� ���
��� ,��� ��+��� ���� ���� � ����6��� �� �	�� !��" ;��5�<�
��� �	���	6��	�� �5 ��� ∆Tube +��	�6��� 	��� ��� �	?������ 6��,��� ��� �+����� +���� �5
���6� 	� ��� ����6�� ��� ��� ���6� �5 �+��$ �	� 	� ���� ����6��� ���,� ���� )1Y �5 ���
�+���� ��� ���	�� ������ #��#���	������ ������ ��� ∆Tube +��	�6�� 	� �	���	6���� ,	��
� �����	�� ���� �5 ±1 ��6�� E�	�� ∼ 10Y �5 ��� �	�� ��� ��� �� ���� ���,��=�	-� �+����
#������� ����,����� �� 6����� ���������� ��� ������ �5 ��� ��3�	��� ����	��� ,� #���
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�	���� !���9 0	���	6��	�� �5 ��� ����6�� 	����	���	�� 5�� ��� 4�� ;��#< ��� 4/� ;6��=
���< �5 ������ �& 5�� ��� ���6�� �117� ' 4/� ����6�� ,�� �	��	�� 	� ��� �����������
���
��� ��+���� ,	�� ������ 5��� ����#����� ��� 4��"'�& ��� 4/�"'�&�
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�	���� !��"9 ;��5�< 0	���	6��	�� �5 ∆Tube +��	�6��� ; 	���< 0	���	6��	�� �5 ��� ����-
���#��

���� ��� ���#� 5�� ��� �+���� ,	�� ���� ���� ! �	�� #�� ��$�� 	� �	�� !��" ;�	���<� ��� 6���-
;���< ���+� ��#������� ��� ���#� ���������� ,	�� ��� 4�� ;4/�< ����-� '� �.#������ ���
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������� �	���	6��	�� ���� ��� 5����, ��� ��� �� ��� ���5��� 	��	���	�� ���� ��� ��@��	�$ �5
��� ��	������ �+���� ����� ,	�� �� ����� �5 W7 �������� �� ����� ,����� ��� 6��� ������
#�	��� ��,��� ��� ���� �5 ��� ������� ���5� ���� 5�� ��� �������� 	��������	���

�� �	�� !��& ;�	����< ��� ����	#�	�	�$ �	���	6��	�� �5 >��� ��$�� 	� ���,�L ,���� >���
����� �� ����� ��� �	� 	� ��� ��$�� ,	�� '0� ��� �6�+� !1 ������� E� ����� �7Y� 71Y
�+���� ,	�� !� 2 ��$��� >��� ���#���	+��$ ,�	�� 	��	���� � ,	�� �A�	���$ �5 ∼ )!Y� ��
�	�� !��& ;6�����<� ,� 	������ ���, ��� �	���	6��	�� �5 ���6�� �5 �	�� 5�� � >��� ��$���
��� �	����	�� 	� +��$ ������ ���$ 5�, Y �5 ��� �+���� ���, ���6�� �	�� #��+	�� ���	� ����
��� ��	�� 	� ��� #	�=��+	������� 	� ,��� ����� ��������

�	���� !��&9 0	���	6��	�� �5 �+���� ,	�� ����	���� ����-� 	� ��� 4��"'�& ����6��9
���6�� �5 ��$��� >��� ;��#< ��� ���6�� �5 �	�� 5�� � >��� ��$�� ;6�����<�

'� � �������	��� 	� �	�� !��* ,� ���, ��� ��#������� �5 tdrift = tmax − t0� t0 ��� tmax

�� � 5����	�� �5 ��� ���� ��-	�� #��	��� ��� �	�	�� +����� ��+� 6��� ���������� 6$ >��	��
��� �#����� 5�� ��� ����6���� �� 6$ �	+	�	�� ���� 5�� ����	��$��� ��� 6��	� �6���+��	�� 	�
����� �	��� ,� ��+� D����� ��� ��� @��� �� ��� 6��	��	��� ,�	�� ��� t0 ����� �� 6� ���6���
��� tdrift ��� � �	���� ���,�� �5 ������$ & ��K��$�
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�	���� !��*9 tdrift�t0 ��� tmax ��#������� ����� ��� ����	�� �	�� 5�� ;��#< ��� ����6���
;�	����< ����	��$�� � ��� ;6�����< ����	��$�� "�

)���� �
��	 
� �
	� ��

(��	
��

��� ����� 3����	�$ �5 ���� ��������� ��� 6��� ���� �� � 6�������- �� ���� ��, ��� ����=
6�� ��� 6� ���	6����� ,	�� ����	��� /�� ���#��� ,���� ���� �� ��� ��� �������	6���	��
#�������� ;��� ���#��� &< 	�������	�� �+���� 	� ���� ����	��$�� �� �.����� ���  � ����=
�	��� /��$ �+���� ,	�� 2 �	�� �� " ����	��$��� ��+� 6��� ����	��� 5�� #������	��� ���
���+������� �5 ��� �������	6���	�� #�������� 	� ������$ ���� 	� ��� #��� �5 �	�� !��!� ���
������	��  � �����	��� ��� �������6�� 6�� ��� �� ������ �� ��� ��� �6��	��� 	� �7 ��� ��
��� ���- �5 ����	��	��� �� ���, ��� 3���	�$ �5 ��� ���� ���������� �� �+��� �	�#��$ �5 ���
����	� ���#�� ���� ,	�� ��� �A�	�� '����=/T	�� �	�#��$� '�����	�� 	� ���,� 	� �	��!��2�
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�	���� !��!9 '+����� ���	����� �� � 5����	�� �5 ��� ��	5� �	�� 5�� �	?����� 	�����	��� �5 ���
����=���	6���	�� #���������

�	���� !��29 �.��#�� �5 ��� ����	� ����- #���	�� ������� � 4�� ��� 4/� ����6�� ��
+	�, 6$ ��� '�����	� �	�#��$�
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����� &

�������� � ��
	� �� �
� τ → 3µ 	����

�� ��	� ���#���� � ���������� ����$ �5 ��� ������ 5�� ��� ��#��� ���+��� �	����	�� ����$
τ → 3µ ,	�� ��� '���� �������� 	� ��#������ '� �����	6�� 	� ���#��� �� �������� ,	�� �
+��$ ��, 6�����	�� ���	�� ��	� ����$ 	� �.#����� 6$ ��+���� ������ 6�$��� ��� 
�������
������ /6���+� ��� �	���� �� 	�#��+� ��� �##�� �	�	� �� ��� 4 5�� ��	� ����$ ���
���# 	� �	��	���	�� ��� �����$ ����� �����	6	�� ��	� #������� 4��	�� �� 	���	��	� #�$�	��
	�������� ��	� ������� �?��� ���� ��� #���	6	�	�$ �� ����$ ��� �����������	�� ��#�6	�	�$ �5
��� '���� �������� 	� ���� ����	�	���� ������� ��� �����+���� �������� �#������ �5 ���
����� #������� ����� ������ 5��� 
��� �� � &1 8��� ���� 	� � pt ����� ,���� ��� '����
���� �������� 	� ��� �#�	�	
�� �� �#������ �����+��� ��� ����� ����� ��� #������� +��$
����� ��� �� ���� ����� ���� �� �� ���#�	���� ��� 5����	����	�$ �5 ��� ���� �����������	��
#��������

��� �.	��	�� 6��� �##�� �	�	� �� ��� τ → 3µ 6�����	�� ���	� ��� 6��� ��� 6$ ���
4=5�����	�� 4�6��F�!G ��� 4����F�2G� ���$ ��+� 6��� ��������� ��� #��+	��� ��������
�##�� �	�	� �� ��	� 4 ;#�6�	���� 6$ ���/ F�*G< �5 ��� ����� �5 ����	���� ����	�� 	�
�� "�1×10−7� 0�� �� ��� +��$ �	�� ���	���	�$ �.#����� �� ��� ��� ���� �� ��� �����
������ �5 τ ��#���� #�������� ��� '���� �������� ��� 	�#��+� ��� �.	��	�� �	�	�� �5 ���
τ → 3µ ����$� '�����$ ,	�� �1 56−1� ���� 	� ��� 	��������� ���	���	�$ 	� ��� >��� $��� �5
��� ����	�� �� ��� ��,=���	���	�$ ���	��� '���� ��� 6�	�� ��� 4 6���, ��� 10−7 ��+���
' �	�	��� ����$�	� ��� ������$ 6��� #��5����� 6$ ��� ��
 �����6����	�� F�7G� ���$ >��
+��$ #���	�	�� ������� ,�	�� ��������� ���� ����$ ��	� ������� ,	�� ��� '���� ���������

3�� ��� τ $��
������ �� � �

' ����� ���6�� �5 τ ��#���� 	� �.#����� �� 6� #������� �� ���� '�
√
s I �* ���� ���

�.���#������ +����� �5 ��� ����� τ #������	�� ����� ����	�� 	� �.#����� �� 6� σ(pp →
τ +X) � O(100µb)� ��	� ���������� 	� ��112 τ O� #������� 	� �1 56−1�

��� ���� ����+��� ������ �5 τ ��#���� 	� 5��� ����$� �5 ��� ���+$ ������ D ��� B�
�� 	� 	�#������ �� ���� ���� ��� �������	��� �������	��	�� �� ��� ����� N�0 ����� ����	��
5�� ���+$ 3���-� #������	�� ��� ����� ;5������ �5 "< ��� ���$ ,	�� ��� >��� ���� �5 pp
����	�	��� �� ��� ����� ���6��� ,	�� 6����� 6����� -��,�� ��� ���	���� #������	��

7�
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#������ ����� 5��� ��� ����$ �5 ��� ������� D ����� ���� �����	6���� 5�� ���� ���� %1%
�5 ��� ����� ����� ����	�� 5��� ���+$ �������

4��	�� ��� #������	�� 5��� B ��� D ������� ����$�� � ��	�� ����+��� �����	6��	�� 	�
���� 5��� ��� ����$� �5 ��� W ��� Z +����� 6������ ����� ����	��� 5�� ����� ����$�
���F*�G9

� σ(pp→ W+ → τ+ντ ) = 11.66 ± 0.56 nbL

� σ(pp→ W− → τ−ν̄τ ) = 8.58 ± 0.43 nbL

� σ(pp→ Z → τ+τ−) = 1.92 ± 0.08 nbL

�+�� ������ ��� ������� ,	�� ��� W 6���� ��� � ���� ��,�� ����� ����	�� ���� ����
5��� ��� ���+$ 3���- ����$� ���� ��� W 	� ��� ���� ����� ������ �5 τ ��#���� 5�� ��	�
������� ������ � +��$ ����� �	���� �	������� 	� �.#������ ��-	�� ���	�� ��� 6��-�������
��@���	�� ,�	�� �?��	�� � ���� ������	�� �A�	���$� �� ��	� ,��- �����5��� ��� W → τν�
τ → 3µ ����$ ���	� 	� ����	������ ��� ��	� ���������	��	� �5 ��	� #������ ���9

� �	�� pt τ O�� ��� pt �	���	6��	�� �5 ��� τ ,	�� 6� #��-�� ������ *1 8��L

� ��� #������	�� ������� � ��#���	� W ����$ 	������ ,��� 	������� τ � ,�	�� �����=
�#���� �� ��+� ����� 	������� ����� 	� ��� >��� �����L

� � ����� ������ �5 �����+���� �	��	�� �����$ ��� �� ��� #������� �5 � �	�� ��������
�����	��� #������� �������� ,	�� ��� τ � #��-�� ������ &1=*1 8���

�� ����� �� ���, ��, '���� ,	�� 6� �6�� �� 	�#��+� ��� #������ �##�� �	�	� �� ���
τ → 3µ 6�����	�� ���	�� ,� ��� ���#��� ��� �	���� �+��� ���6�� �.#����� 	� ��� >���
$��� �5 ���� ��-	�� �� ���� ������� �����	�� 5��� ��� ����� ����	�� �5 ��� pp→W → τντ

����$ ��� �����	�� �� �	���� 6�����	�� ���	� ��� :��� ��� 6$ ��� 4=5�����	�� ;"×�1−7<�
������$ 	� ��� >��� �1 56−1 �5 	��������� ���	���	�$ ,� �.#���9

Nexpected = σtot(W ) × BRtot(W → τν) × BR(τ → 3µ) × L = 40.5, ;2��<

,���� σtot(W ) ×BRtot(W → τν) 	� ��� �� ��� ��� �5 ��� �����	6��	�� 5��� ��� #��	�	+�
��� �����	+� W +����� 6������ σtot(W ) ×BRtot(W → τν) I ;"1�* ± 1�%1< �6�

�� ����� �� ����$ ��� �������� �A�	���	�� ��� ��� ����$�	� ������� � ����� ���6��
�5 �	���� �+���� ��� 6��� ��������� ,	�� ��� (M���' 2�" ���������� 	����5���� �� ���
'����� 5����,��-� 
	��� ��� τ ����$ �� ����� ������� ��#���� 	� ��� 5������� 	� ($��	��
��� �	���� ��� 6��� ��������� �� � ����� 6��$ ����$ ,	�� � ��	5��� #���� �#���� �� ��	�
,�$� ��$ #���	����� #�$�	�� ����� ��� 6� ���� ��-�� 	��� ����	�����	�� 6$ 5������ ���	��
�#��	>� �$���	��� 5�������� ' ���� �5 ��� �?���� �5 � �	+�� �$���	�� ��� 6��� ����� ������
6$ ���	�� � �����	�� �5 ��� τ → 3µ ����$ ,	��	� ��� �	�	��� ��#���$�����	� ��������
����� ;�

�<�

��� ��������� �	���� �+���� ��+� 6��� ���� �	������� 6��� ,	�� 5��� ��� 5��� �	��=
���	�� #������� �5 ��� '���� ��������� ���#��	���� 6��,��� ��� �,� �	�����	��� ,	�� 6�
	���������� 	� ��� ��.� ����	����
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��� ����� #������� ,	�� ��� ��	5��� #���� �#��� ����$ 5��� ��� τ � ��+� ��� pt

�#����� ���,� 	� �	��2��� ,���� ���$ ��+� 6��� ������� 5�� �������	�� +����� �5 pt� ���
���� �������	� ���� ��� � pt �	���	6��	�� ���� ��+��� ��� ����� 5��� 5�, 8�� �# �� � !1
8��� #��-�� �� "1 8��� ��� ������ ��� ��� � pt �	���	6��	�� #��-�� �� %=7 8��� ,�	�� ���
��	�� ���� ��� � +��$ ��, pt �#������� '6��� !!% �5 ��� �+���� ��+� � ��	�� ���� ,	��
� pt 5��� & �� 2 8��� ��� ��#�6	�	�$ �5 '���� 	� ������	�� ����� ��,=pt ����� 	� ����	�� ��
	�#��+� ��� �A�	���$ 5�� ��	� ������� ��� ,��� ������� ��� #�������#	�	�$ �	���	6��	����
����� ��� ���,� 	� �	��2�" 5�� ��� ����� ������ ���� ���� ��+��� � #�������#	�	�$ �����
|η| C 2�

3�# ��� +��2�����
�

,���� -�����
 ����
#���	
���

��� 6��-������ 5�� ��� #������ ����� 	�+���	���	�� 	� �����	����� 6$ ��� ��� #��������
��+	�� ����� ����� 	� ��� >��� ����� +��$ ����� 	� ∆η∆Φ ��� ,	�� �� 	�+��	��� ����
�5 ��� ����� ����� ����� �� ��� τ ����� ��� ��	� ������ �5 6��-������ 	� �.#����� ��
���� 5��� ��� #������	�� �5 c ��� b 3���-�� ���$ ,	�� #������ ���+$ ������ ���� ���
��	�	����� ,	�� � ���	��#���	� ����$� �	��� ������ ;φ� η< ��� � µν #�	�� ��� �	��� �����
��� ���� ��	�	���� µ+µ− �� µ+µ−γ #�	��� ��� 	������� � 6��-������ ������ 	� 5��� ���
����$ ���	� Ds → φµν ,	�� ��� φ ����$	�� 	� µ+µ−� ��� #������	�� �5 ���+	��� �������
�	-� 5�� �.��#�� J/ψ� Υ� ���� ��� ��#������ � ������ �5 6��-������ �	��� 	� ��	� ���� ���
����� ����� �5 ��� >��� ����� ,	�� ��+� �� 	�+��	��� ���� �6�+� ��� τ ����� �����+���
����� 	� ���� ��� #���	6	�	�$ ���� ����� #�������� ,	�� 5�-� ��#���� ,	�� �	+� � �������
�����	6��	��� ������� ���� �� Dx → φπ ,	�� π ����$	�� 	� D	��� �� π #����	��=������
��� �����	����� ,	�� 6� �	������� 	� � ������ ������ '��� ����	� ����� ��� 6� ���	�$
������ ��� ��@����� 6$ �	�	�� ����	�����	����

�� #������ ��� 6��-������� ��� ��������� ($��	�4 ��� 6��� ����� ($��	�4 	� �
($��	� +���	�� �#�	�	
�� 5�� ���+$ 3���-� #������	��� 	� #���	����� 5�� 4=#�$�	�� ����	���
($��	�4 ��-�� 	��� ������� ��� ��� #���	6�� #�������� ���� #������ �	���� ���+$ 3���- ��
#�	� �5 ���+$ 3���-�� ��� ���� #������	�� #�������� ��� �����9 gluon=fusion� quark=
fusion ��� flavor excitation� ��� >��� �,� ������#��� �� ��� #������	�� �5 � 3���- #�	�
6$ ����� 5��	�� �� 6$ ��� ���	�	���	�� �5 �	��� 3���-� +	� ��� �,� #����� ��6#���������
gg → cc̄� ��� qq̄ → cc̄� ��� D�+�� �.�	���	�� ����	��� 	� ��� �������	�� �5 � c �� c̄ 3���- ���
�5 ��� 	�	�	�� ����� 	��� ��� >��� ����� 6$ � ����� �� 6$ � �	��� 3���- �� ���	3���- +	� ���
��6#�������� gc → gc� qc → qc �� q̄c → q̄c ��� ��� ������#���	�� ����� c̄ ��6#���������
��� ��$���� �	������ �5 ��� ����� #������	�� #�������� ��� ���,� 	� �	�� 2�&� ���
���� #�������� ��� ���� ����	����� 5�� ��� b=3���- #������	���

��� ����� ���+$ 3���- #������	�� ����� ����	��� ��� � �1 mb 5�� ��� c=3���- ���
� !11 µ6 5�� ��� b=3���-� ,	�� +��$ ����� �������	��	��� �� ����� �� ������ � �$������	�
����� �� ��� �+�����	�� �5 ��� #������	�� ����� ����	��� #��+	��� 6$ ��� ($��	�4 ���������
���	� +����� ��+� 6��� ���#���� ��	�� ��� ����$�	��� ��������	�� #��+	��� 6$ ��� �/���
#������� �/���F*&� **G 	� � #������,�	�� ���������� ���+$ 3���- �����+���� ��������
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�	���� 2��9 �����+���� �������� �	���	6��	�� ;���������� �����< 5�� ��� ����� �����
#������� 6$ ��� τ �����	�� � ��	5��� #���� �#��� ����$� ��� ����� ��� ������� 5��
�������	�� +����� �5 pt�

��� ��#	�	�$ �	���	6��	��� 	� ������=������ ��� #�����=������ ����	�	���� �����	�� �	.��
/���� ��.�=��=����	�� ����� ����� ��� ��.�=��=����	��=��� �����=pt ��������	��� ��
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�	���� 2�"9 (�������#	�	�$ �	���	6��	�� ;���������� �����< 5�� ��� ����� ����� �5 ���
�	�����

�	��2�*� ��� ����� ����	�� 5�� #������	�� �5 ��� b 3���- 	� ���,� �� � 5����	�� �5 ���
�����+���� �������� �5 ��� B ������ �������� 5��� ��� ������	

��	�� �5 ��� b 3���-�
	� ��� #�������#	�	�$ ����� |η| C ��"� �� ��	� #��� 6��� ��� ����� ����	�� ���#���� 6$
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�	���� 2�&9 ��$���� �	������ �5 ��� ���+$ 3���- #������	�� #��������9 ;�< 3���-=5��	���
;6< �����=5��	�� ��� ;�< D�+��=�.�	���	���

($��	�4 ��� 6$ ��� �/��� #������ ��� ���,�� ��� ��������� 	� +��$ ����� �#��� �����
�	����#���$ 	� ��� ��,=pt ����� pt C ! 8���

Pt(B-hadron)  (MeV)
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�	���� 2�*9 ����� ����	�� �� � 5����	�� �5B ������� �����+���� �������� 5�� ��� ($��	�4
��������� ��� 5�� ��� �/��� #�������
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'� ���,� 	� �	��2�!� ����� ��� �,� ��#����	����$ �	?����� ,�$ �� #������ � >��� �����
,	�� ����� ����� �����	�� 5��� c �� b #������	��� �� ��� >��� -	�� �5 6��-������� � ����
	� #������� 5��� ��� ���+$ ����� �5 ��� �+��� ��� ��� ����� �,� ����� ��� #�������
5��� ��� ����� ���+$ ������ 6��- �� 6��- 5��� ��� >���� ��	� -	�� �5 �+���� ���� ���
��#������ � ���� ������ �5 6��-������ �	��� ���$ ��� ���#�����$ ����+�� 6$ ��3�	�	�� ���
����� ����� �� 6� 	� ��� ���� ���	�#���� �5 ��� ��������� ��	� -	�� �5 �+���� ������ 5��
� ����� 6�����	�� ���	� �5 ��� ����� �1−3�

�	���� 2�!9 4��-������ 5��� ���+$ ����� ����$9 	� ��� �+���� �5 �$#� ' ;��5�< �,� �����
��� #������� 	� � 6����� �5 ��� �+��� ,�	�� ��� ��	�� 	� #������� 	� ��� ����� 6������ ��
��� �+���� �5 �$#� 4 ;�	���< ��� ����� ����� ��� #������� 	� ��� ���� ���	�#�����

'� 	�#������ ������ �5 6��-������ 	� 	������ ��� �� #�������� ,���� ��� ���	��#���	�
����$� �5 DX ��� BX ��� ��+���#�� 	� ��� ���� ���	�#���� �5 ��� �+���� ��	� -	�� �5
�+���� ������ 5�� � ����� 6�����	�� ���	� �5 ��� ����� �5 �1−5 �� ���,� 	� ��6�2���

,���� "��������# ���#��	
�� %��� ��
��	�# #���� ���
��

��� ���� ��6	���� ,�$ �� #������ ��� 6��-������� 	� ����� �� 6� ���� ��� �� �.�����
��$ 6��-������ ������� ������ 6� �� �������� � ���� ���6�� �5 	�����	+� c ��� b=3���-
�+����� ��� �� ������ 5�� �+���� ,	�� ����� ����� 	� ��� >��� ������ :�5���������$� ��	�
,��- ,���� ��-� ���� � ����� �(: �	�� ���� 	� 	� ����	��	����$ ��� #���	6��� �� ����$ ���
6��-������ ��@���	�� ,� ��+� �����5��� ����	����� �#��	>� ����$ ���	�� 6$ �����	�� 5���
��� ���+$ 3���- #������	�� #�������� �	+	�� �	�� �� ����� ���� >��� ����� 	� ��� ����
���	�#����� '� ���,� 	� ��� #��+	��� #������#��� ��� ���� #��6�6�� ���� ��+� 6���
�������� 6$ ���-	�� �� ��� (���	��� 0��� 8���# 6$ ������	�� ��� ����$ ���	�� ,	�� ���
������� 6�����	�� ���	���
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��� 6��-������� ����	����� �� ��� ���� ����+��� ���� ��� ��#����� 	� ��6�2�� ��������
,	�� ���	� #������	�� ����� ����	��� �� �6��	��� 5��� ��� ($��	�4 ��������� ��� ���
6�����	�� ���	�� 5�� ��� +��	��� ����$ ���#��

σ(mb) 0���$ ���	� BR �+� εfilter �	������ �+�
Dsφ 2�� Ds → φµν "�*%

;φ→ µµ< ;"�72×10−4< *!1×�16 ��7"×�1−4 71111
Dsη 2�� Ds → ηµν &��%

;η → µµγ< ;&��×10−4< 2*1×�16 ��*1×�1−4 )1111
Bsφ 1�%7 Bs → Dsµν %�)%

;Ds→ Kφ< ; C 2�1×�1−4<
;Ds→ πφ< ;*�*×�1−2<
;Ds→ ρφ< ;7�"×�1−2<
;φ→ µµ< ;"�72×10−4< "*×�16 7�"×�1−5 "111

Bsη 1�%7 Bs → Dsµν %�)%
;Ds→ Kη< ; C ×�1−4<
;Ds→ πη< ;"��×�1−2<
;Ds→ ρη< ;�&��×�1−2<
;η → µµγ< ;&��×10−4< &1×�16 &�*×�1−5 �111

��6�� 2��9 ��	� 6��-������ #��������� ��� ����� ����	�� #������	��� ��� 6�����	�� ���	�
5�� ��� +��	��� ���	� ���#�� ��� ���6�� �5 �+���� #������� 	� �1 56−1� ��� >���� �A�	���$
��� ��� ���6�� �5 �.#����� �+���� 	� �1 56−1 �5��� ��� >���� ��� ��#������

��� ���6�� �5 �.#����� 6��-������ �+���� 	� ��� >��� $��� �5 ���� ��-	�� �� ��� ;�1
56−1< 	� +��$ ������ '� �� �.��#��� ��� ����$ ���	� pp → DsX → φµνX ,	�� φ → µµ
,	�� #������9

Nexp = σ(pp→ c(c̄)) × A× BR(Ds → φµν) × BR(φ→ µµ) × L � 450 × 106 ;2�"<

�+����� �� ��� �3� 2�" ' I N(c(c̄) → Ds)/N(c(c̄) → all) ��#������� ��� #��6�6	�	�$ ��
������ � Ds ����� 5��� ��� ������	

��	�� �5 ��� c=3���- �� ���	����� 6$ ��� ($��	�
����������

0�� �� ��� ����� ���6�� �5 6��-������ �+���� �� 6� #�������� �� �+��� >���� ��� 6���
�##�	�� �� ��� �������	�� ��+��� ����	�	�� ���$ ��� �+���� ���� ���	�5$ �	�	�� ��3�	�������
������	�� �������� ����#����� ��� ��	����� �� #���	������ �	��� ��� '���� ���� 
#������=
���� ��+��� � #�������#	�	�$ ����� �5 |η| < 2.5� ,� ��� ��� 	��������� 	� �+���� ,	�� �����
��������� ����	�� �5 ��	� ������ ��� ���� ��	���� ,	�� ������ �+���� ,	�� �,� ����� 6$
��3�	�	�� � ��	���� ��������� �5 2 8�� 	� pt� ��� ��	� ������� �	+�� ��� 5��� ���� �� �5
��� ��	���� �A�	���$ ���+�� ��� �+���� ��+� 6��� ��������� ��-	�� 5�� �,� ����� ,	��
pt P ! 8��� ��� �������� ��������� �##�	�� ��� 6��� ������ 6���, ��� ���	��� ���
�� ��-� 	��� ������� �������� �������	�� �?����� ������ ��� �������	�� 	� ��� ���=
�������� �5 ��� ���� �����+���� �������� 	� �6��� *=! % 5�� ���� ,	�� pt � 2 8���



���� ��� �
�����
�	� 7)

�����+��� ����� ,	�� � pt ������� ���� & 8�� ��+� � ����� #��6�6	�	�$ �� ����#� 5���
��� �����	������ ��� ����� ��� ���� 
#����������� ���� ��� #������� �5 � ��	�� ����
,	�� pt P & 8�� 	� ��3�	���� 
�����	
	��� ��� 6��-������ �+���� ��+� 6��� >������ 6$
��-	�� �,� ����� ,	�� pt P ! 8�� ��� � ��	�� ��� ,	�� pt P & 8��� ����� ����� �����
���� ��+� � #�������#	�	�$ 	� ��� ����� |η| C "�!� /��$ 6��-������ �+���� ���� ���	�5$
����� ����	�	��� ��+� 6��� #����� �� ��� 5��� ��� 5��� �	�����	�� #������� �5 ��� '����
��������� ��� �A�	���	�� �5 ��� >���� �##�	�� �� ��� 6��-������ �+���� ��� ��#����� 	�
��6�2��� ���$ ��-� 	��� ������� 6��� ��� pt ��� η ���� �� ��� ����� >��� ����� ����� ���
��� ���	� '�

��� �	���	6��	�� �5 ��� �����+���� ������� �5 ��� ����� ������ ������� 5�� �������	��
pt +������ 5�� ��� >��� 6��-������ ;Dsφ< ��� ��#����� 	� �	��2�2

�� ' ���6�� �5 �+����

Entries  120000
Mean   1.087e+04
RMS      4700
Underflow       0
Overflow     2951
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�	���� 2�29 Pt �	���	6��	��� 5�� ��� ����� ����� �5 ��� Dsφ 6��-������� ��� ����� ���
�������� ,	�� pt P ! �� pt P & 8�� �� ��� �������	�� ��+���

������#���	�� �� �� 	��������� ���	���	�$ �5 "1 56−1 ��� 6��� ��������� 5�� ��� 6��-=
������� Dsφ ��� Dsη� 4������ �5 ��� ������� �+��� ���6�� �.#����� 	� �1 56

−1 5�� ���
6��-������� Bsφ ��� Bsη� 	� ��� 6��� #���	6�� �� ���	�+� � +��$ �	�� ����	��	��� �����=
�#���	�� �� !1 56−1 ��� �11 56−1 ���#���	+��$� ��� 5��� 6��-������ #�������� ��+� 6���
�	������� ,	�� ��� 5��� �	�����	�� #������ �5 '���� �������� ,	�� ��� �	���� �+����� 0��
�� ��� ����� �	�� ���� ��� 5��� �	�����	�� ��3�	��� ���$ ��� >��� 6��-������ ;Dsφ< ���
6��� 5���$ �	������� �������� ,	�� ��� �	�����

� � 
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�
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�������� ���	 
�� ���
� ��
�� Ds → φµν(φ → µµ) ���� �� 
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)1 ��
���� �� ������
��� ��
	� �� ��� τ → 3µ 	��
�

3�% (��� 
��������� 4��� &��(&
�

�� ����� �� ��+� � >��� ���	���� �5 ��� �	���� ��� 6��-������� ����� 	� ��� '���� ��=
������� ��� ��������� �+���� ��+� 6��� #����� ������� ��� 5��� �	�����	�� #������ �5
'����� '���'
� F*!G� ��	� #��-��� �����#�� �� ��#������ �� ,��� �� #���	6�� ��� �.=
#����� '���� �������� #��#���	�� 	� ����� �5 ���� ��� �������� �������	��� ��� ���
��� �������� �?���� ��� #�������	
�� 	� ��	� �	�����	�� ��� ���$ ��� 6��	� 	�5�����	�� �5
��� �������� �������$ ��� ���� 6$ ��� #��-���� �.��#��� �5 ��� 6��	� �������	� 	�5��=
���	�� ���9 ��� η ��+����� 5�� 	������� ����-��� ��� 5�� ��� �����	����$� ��� �	
� �5 ���
6�����K�����# �����	�	�� ���	�� 5�� ��� �������������	� �����	������ ��� ��� ��������	�$
�5 ��� �����	�������

�������	�� ��� ������ '��5��� �##�	�� � �����	�� �� ���� ���� ���� ��������
������	�� �� � �������	�� ,�	�� ��#���� �� ��� ���� pt� η ��� φ� ����� �����	��
�#�	��� ��� 6� ���� ��#���	�� �� ,�	�� ��6��������� ��� ������� �� 6� ���� 5�� ���
���� �����������9 ���� �$���� �����=������ 	���� �������� �����=����� ��� ���6	����
��� ���6	��� �������	�� ��� 6��� ���� 	� ��	� ����$�	��

��� '��5��� #������ ���� ��� 	�������� ��$ 	��A�	���$ �?���� �	���� ��� ��� �������
�� ��� �����������	�� #������� �� �� ��� ��	�����

,���� ���
��
� ���
� �% ��$��'� �
��
�	�# �+��	�

��� �+���� �	������� ,	�� ��� '��5��� #������ ��+� 6��� ��6�	���� �� � ���	�� �5 �����=
�	�� ���� 	� ����� �� ��@��� ��� 6��-������ ,�	�� ��	���	�	�� ��� �	����� #���	6�� �	����
������	�� �A�	���$�

'� ��� 6��	��	�� �5 ��� ����$�	� ��� 	�+��	��� ���� �#������ �5 ��� ����� ����� 5��
��� �	���� 	� ���,� 	� �	��2��&� �	��	�� ��	� �	���	6��	�� ,	�� � �����	�� 5����	�� ����� ��
��� 5����,	�� +�����9

< M3µ >= 1777.38 ± 0.16 MeV ;2�&<

σ(M3µ) = 16.14 ± 1.2 MeV. ;2�*<

��� ����$�	� ������	�� ��	���	� ��� ��� 5����,	��9

� /�
�
!
��	��
' #��������	�� �� ��� ������������� pt ��� η �5 ��� ����� ����� 	� ��3�	��� 	�
����� �� ��-� 	��� ������� ��� 5��� ���� ��� '��5��� #������ ���� ��� 	������ ��$
�������� 	��A�	���$� 
	�	����$ �� ,��� ���� 	� ��� >���� �� ��������� ��+��� ,�
	�#��� ���� �� ��� ���� #�������#	�	�$� /��$ ����� #������� 	� |η| C "�!� 	���
	� ��� ����#����� �5 ��� ���� 
#����������� ��� ,	�� � �	�	��� pt �5 & 8�� ���
-�#�� ��� �������� ��� ����,� �� ��	�	���� ��� �+���� 	� ,�	�� ��� ����� ��+�
� ��, #��6�6	�	�$ �� #��� ��� �����	����� ��$��� ��� ����� ��� 
#����������� ���
��������� �5 & 8�� ��#������� ��� �+����� �����$ ���� 5�� � ���� ���+���	�� ���
�����	������ �� ������ 	��	����� ;	��� 	� ��� 4�����<� �� ��� �����#� ��� �����	�����
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Entries  20000

Mean     1777

RMS     17.11

Underflow       3

Overflow   1.026e+04

 / ndf 2χ  156.8 / 52

Constant  8.9± 710.5 

Mean      0.2±  1777 

Sigma     0.12± 16.14 
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�	���� 2�%9 ��+��	��� ���� �5 ��� ����� ����� 5��� W → τν� τ → 3µ ����$ �� �	�������
6$ '��5����

�������$ �	?��� ��� ��� �����$ �6���#�	�� ���� � �	�	� �� p ������ ���� pt9pt P Eloss

× �	�θ� ,���� Eloss 	� �6��� * 8�� ��� �	�θ ��� 6� �� ����� �� 1��%� ���� 6�	��	��
��� �����	����� ��������� ��,� �� � 8�� �� �	�� η�

E� ���	�� ���� ��� �	���� �+���� ��+� 6��� ��������� ,	����� ��$ >���� �� ���
�������	�� ��+��� ,�	�� ��� 6��-������ �+���� ��+� 6��� >������ �� ���,� 	� ����	��
2�"�"� ��� ��	� ������ ��� #��������	�� �?���� ��� ������������� 6��-������� ���$ 	�
� �	�	��� ,�$�

� ��	��
� ���
�� ��� ���� ���� ��	���� �5 '���� � ��,=pt 0	=���� ��	����� ������	�� �,� �����
,	�� pt P 2 8��� ��� � �	��=pt ���� ��	����� ������	�� ��� ���� ,	�� pt P "1
8��� ��� 5�������� ��� ��,=pt ���� ���� ��	���� �A�	���$ 	� ���,� 	� �	�� 2�7
5�� ��� 6����� ;��5�< ��� 5�� ��� �����#� ;�	���<� �� ����� �� ��-� 	��� ������� ���
���� ���� ��	���� �A�	���$� ��� ���+�� �5 �	�� 2�7 ��+� 6��� #�������	
�� ,	�� ��
����$�	��� 5����	�� ��� ���� �� �##�$ ,	�� ��� �	�=��=�	�� ������ ��� ���� ��	����
�A�	���$�



)" ��
���� �� ������
��� ��
	� �� ��� τ → 3µ 	��
�

��� ,��� �������� ��� �	�� ��+�� ��	���� ;���<� ���� 	� ���#���� 6$ ��� ���"
��	���� ��� ��� �+��� �	����� �#��	>� ����	�����	��� ��+� �� 6� ��-�� 	��� �������
5�� ��� τ → 3µ �	����� ������ ��� ��� ��	���� ���� ���� 6� �	�	��� �� �11="11
�
 �5 ,�	�� ��� ���� ���� �1="1 �
 ,	�� 6� ���	����� �� 0	=���� ��	������ ��
����� �� 5��>�� ��	� �������	��� ��� �����	� cc̄ ��� bb̄ �+���� ,	�� 6� #�������� ,�	��
�#��	>� �����	���� ��� ��+���#�� �� -��# ��� ���� 	�������	�� �+���� ;J/Ψ�Υ<� ���
#������� 5����� 	� ��� ����� 5�� ��� ���� ������ ,� ��� ����$	��� ��� ��	� ������� ,�
��� ��+���#	�� � �#��	>� ��� �����	��� ,���� ���� ��3�	������� ��� �##�	�� �� ���
�+���� 	� ����� �� ����	� ��� �	���� ,�	�� ��@���	�� ���� �5 ��� �����	� cc̄ ��� bb̄�
'� ��� ������ ,� ��� #��#��	�� �� ��� �� ��� ��3�	������ �5 �,� ����� ,	�� pt

P 2 8��� � ��� �� ��� �	��	�� �����+���� �����$ ;���<� '5��� �������	�� 	� 5�� ���
���� ����	����� ;��� ����	�� 2�!�"< ,� ,	�� ����#� ���$ �+���� ,	�� ��� �������
���� "1 8��� �� ��	� ���� ��� �	���� �A�	���$ 	� ���� ���� 21% ,�	�� ���� ���� �
�1% �5 ��� cc̄ ��� bb̄ 6��-������ ��� ��	���	����

�	���� 2�79 ��	���� �A�	���$ 5�� ��� ��,=pt ��	���� ��������� 5�� ��� 6����� ;��5�< ��� 5��
��� �����#� ;�	���<� ��� ��	���� �A�	���$ 5�� ��,=pt ; C 2 8��< ����� 	� ��� 6����� 	�
��,�� ���� 	� ��� �����# �	��� 	� ��� 6����� ��� ������� �����	����� ���� �� � 6���	�� ��
����� ,	�� pt C & 8�� ,�	�� 	� ��� �����#� ��� ��������� 	� � � 8���

� ���!��	��
'��5��� �	+	��� ��� ����� 	� �,� �������	��� 	������� ��� ��� 	�������� ��� 	�����	��
��	���	� F*!G ��� 6���� �� ��� η ��� φ �	������� ∆R =

√
∆η2 + ∆φ2� 6��,��� ���

�����	����� ������� �����	���� �� ��� ���� ��� ��� ����� �����	����� �������� ��� ���
��.	��� �����+���� �����$ ��#��	�	��� ET

iso� 	� ��� �����	����� ����� ��������	��
��� ���� �	����	�� 	� � ����� ' ���� 	� ����	����� �� 6� 	������� 	5 	� ���	�>�� ���
5����,	�� ����	�	���9
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4 ∆R P 1�* 5��� ��� �����	����	� ��������L

4 Eiso
T C �1 8�� 	� � ���� ∆R C 1�" ������ ��� �����

��� ��3�	������ �� ��+� �� ����� ����� 	������� ����� 	� ��� >��� ����� 	� +��$
��+��� 5�� ��� 6��-�������� ,���� ��� ����� ����� ��� #������� 5��� D� B �� �	���
������ ����$�� �� �	�� 2�) ��� ���6�� �5 	������� ��� ��� 	������� ����� 5�� ���
�	���� ;��5�< ��� 5�� ��� Dsφ 6��-������ ;�	���< ��� ���,�� ��� ��� �	����� ����
���� )!% �5 ��� �+���� ���� ��+� #����� ��� ��	���� ��� ��+� ����� �� 5��� 	�������
������ ' ��� �� ��� �+���� ��-	�� ��� #������� �5 ����� �� 5��� 	������� ����� 	�
�##�	��� ��� 6��-������ ��� 5����	�� �5 �+���� ,	�� ����� �� 5��� 	������� ����� 	�
��� >��� ����� 	� � "1%�

# muons 
0 1 2 3 4 5 6 7 8 9 10

0

2000

4000

6000

8000

10000

12000

14000

16000

18000

# isolated muons

# no-isolated muons

# muons 
0 1 2 3 4 5 6 7 8 9 10

0

10000

20000

30000

40000

50000

60000

70000

# isolated muons

# no-isolated muons

�	���� 2�)9 ���6�� �5 	������� ��� ���=	������� ����� #�� �+��� 5�� ��� �	���� ;��5�< ���
5�� ��� ���#��	�	�� �5 ��� 5��� 6��-������� ;�	���<�

� �	��	�� *�
���
��� ����� ����� �5 ��� �	���� ,	�� 6� #������� �������� ,	�� � �	�� �����$ �����	��
5��� ��� ����$ W → τν� ��	� ���������� 	� � �����+���� �	��	�� �����$� Emiss

T �
�	���	6��	�� ,�	�� ���,� ��� ����� X���6	�� #���- �� *1 8��� ��� �	���	6��	�� �5
��� �	��	�� �����+���� �����$ 5�� ��� 6��-������ �+���� 	� 	������ #��-	�� �� +��$
��, +������ �� �	�� 2��1 ��� Emiss

T �	���	6��	�� 5�� ��� �+���� ���� #����� ��� ��	����
��� 	� ���,� 5�� ��� �	���� ;��5�< ��� 5�� ��� 6��-������ Dsφ ;�	���<� ' ��� �� ���
�	��	�� �����+���� �����$ �� "1 8�� 	� ��3�	��� �� ��	� 	� ��� 
K4 ���	� ,�	�� 	�
��� ���� ���� ,	�� �����>�� ��� ������	�� �##�	�� �� ����

� ∆,ij

��� ����� 	������� ����� #������� 5��� ��� τ ����$ ��� ������ ����	����� �� �.=
#����� 5�� ��� ����$ �5 � �	��� �6@��� 6������ 	� �����$ �5 � *1 8��� ���-	�� �� ���



)* ��
���� �� ������
��� ��
	� �� ��� τ → 3µ 	��
�

Entries  20000

Mean   3.262e+04
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Overflow       17

�	���� 2��19 �	��	�� �����+���� �����$ �	���	6��	�� 5�� ��� �	���� ;��5�< ��� 5�� ��� 6��-=
������ ;�	���<�

�	�����	��� ��� ����� ����� 5��� ��� τ → 3µ ����$ ��� 	����� #����	����$ �����	���
	� � ���� �5 ∆ C 1�"� ��� Dsφ ��� Dsη 6��-������� ��� ��� ��� ���� ��@�����
6$ ��	� ��� �	��� ���� 5�� ����� #�������� ��� #������� ����� ��� �����	��� 	� �
�����, ����� ��� ��� ∆Rij C 1�" 	� 	������ �?���	+� �� ��� ��@���	�� �5 ��� Bsφ
��� Bsη �������� ��� �� ��� ������ ���� �5 ��� ����$	�� #���	���� �� �	�� 2��� ���
∆Rij +��	�6�� 	� ���,� 5�� �	���� ;��5�< ��� 5�� ��� Bsφ 6��-������ ;�	���<�

Entries  60000

Mean   0.1103

RMS    0.09852

Underflow       0

Overflow   2.068e+04
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�	���� 2���9 0	������ 	� η ��� φ �	����	��� 6��,��� ��� #������� ����� 5�� ��� �	����
;��5�< ��� 5�� ��� Bs 6��-������ ;�	���<�
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� φ'0
��

�� ��@��� ��� 6��-������ ,���� �,� ����� ��� #������� 5��� ��� ����$ �5 � φ
������ ��� +��	�6�� Mclosest� 	��� ��� 	�+��	��� ���� �5 ��� ���� #�	� ������� �� ���
φ ���� ��� ,	�� ���� ����� ������ 	� ����� ��� �	���	6��	�� �5 ��� Mclosest +��	�6��
	� ���,� 	� �	�� 2��" 5�� ��� �	���� ;��5�< ��� 5�� ��� 6��-������ Dsφ ;�	���<� ����
��� #���� 	� 	� ����� ���� ��� �	���� ��� � D�� �	=���� 	�+��	��� ���� �	���	6��	���
,�	�� 5�� ��� 6��-������ � �����, #��- �������� �� ��� φ ��������� ���� +���� 	�
+	�	6��� �	��	�� ���Mclosest �	���	6��	�� 5�� ��� 6��-������ ,	�� � �����	�� 5����	��
��� 5����,	�� +����� ��� 5����9

< Mclosest >= 1019.76± 0.07MeV ;2�!<

σ(Mclosest) = 9.81 ± 0.06MeV. ;2�2<

/��$ ��� �+���� ,	�� Mclosest ����	�� � ,	���, �5 &×σ(Mclosest) ,	�� ���#��� �� 	��
���� +���� ��� ����	��� 5�� 5������ ����$�	��

Entries  5592

Mean     1024

RMS     42.73

Underflow    1655

Overflow     1178
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 / ndf 2χ   2199 / 149
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Mean      0.0±  1020 

Sigma     0.026± 9.946 

Mij (MeV)
960 980 1000 1020 1040 1060 1080
0

500

1000

1500

2000

2500

3000

3500

4000

Entries  106588

Mean     1020

RMS     11.66

Underflow  1.105e+04

Overflow     3753

 / ndf 2χ   2199 / 149

Constant  15.2±  3552 
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Sigma     0.026± 9.946 

�	���� 2��"9 ��+��	��� ���� �	���	6��	�� �5 ��� ���� #�	� ,	�� 	�+��	��� ���� ������� ��
��� φ ���� 5�� ��� �	���� ;��5�< ��� 5�� ��� 6��-������ Dsφ ;�	���<�

��	� ��� 	� ��� �� �A�	��� 5�� ��� 6��-������ ,	�� ��� #������	�� �5 � η ������ ��
��	� ���� �,� �5 ��� ����� >��� ����� ����� ��� #������� 5��� ��� η ����$� η → µµγ�
�������� ,	�� � ��, �����$ #����� ��� 	� ��� #���	6�� �� �##�$ � ���	����� �������	��
�� ��� η ��������� ����� E� ��� ��	�� 	�+���	���	�� ��� ������ �5 ��� #����� �� ���
	5 ,� ��� 	�#��+� �� ��	� ��@����	���

� 3µ ����! �	��
/��$ ��� �+���� ��+	�� ��� ��� �5 ��� ������� 5�� ��� ����� 	������� ����� ����	�����
,	�� ±1 ;	��� ��� ���� ���#��	6�� ,	�� � ����$ �5 � ������� ��#���< ��� -�#��



)2 ��
���� �� ������
��� ��
	� �� ��� τ → 3µ 	��
�

� τ 3	���3 ���
'� ��� ��� �5 ��� ����$�	� ���	� ���$ ��� �+���� ,	�� �� 	�+��	��� ���� �5 ��� �����
�������� ����� ����� �� ��� τ ���� ��� �������� ��� 	�+��	��� ���� �#������ �5
��� ����� ������ M3µ� 5�� ��� �	���� 	� ���,� 	� �	��2��&� ' >� �� ��	� �	���	6��	��
,	�� � �����	�� 5����	�� ����� �� ��� 5����,	�� +�����9

< M3µ >= 1777.38 ± 0.16MeV ;2�%<

σ(M3µ) = 16.14 ± 1.2MeV. ;2�7<

Entries  20000

Mean     1777

RMS     17.11

Underflow       3

Overflow   1.026e+04

 / ndf 2χ  156.8 / 52

Constant  8.9± 710.5 

Mean      0.2±  1777 

Sigma     0.12± 16.14 
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Mean      0.2±  1777 
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�	���� 2��&9 ��+��	��� ���� �5 ��� ����� ����� 5���W → τν� τ → 3µ ����$ �� �	�������
6$ '��5����

E� ����	� �+���� ,	�� M3µ 	� ��� τ ���� ,	���, 9 Mτ ± &×σ(Mτ )�

��� ���6�� �5 �+���� ���� ���+	+� ��� ������	�� ���� ��� ��#����� 	� ��6�2�" 5�� ���
�	���� ��� ��� 5��� 6��-�������� '� 	� ��� 6� �6���+�� �#��� 5��� ��� #��������	��� ���
���� ����+��� ��@���	�� 	� #��+	��� 6$ ��� 	�����	�� ��� �	��	�� �����$ ����� /5 �����
	�#������� ��� ���� ��� ∆R ��� φ �����
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�� )%

��� ���6�� �	���� ������	�� �A�	���$ �6��	��� 	� �7�%7± 1�&)%� '����	�� � 6�����	��
���	� �5 "×�1−7 5�� ��� �	����� % �	���� �+���� ��� �.#����� 	� �1 56−1� �������	�� ���
6��-�������� � �+��� 5�� ��� Dsφ ������� ��� � �+��� 5�� ��� Bsη ������� ���+	+� ���
������	��� 
	��� � ���6�� �5 6��-������ �+���� ������ ���� ��� ��� �.#����� 	� �1 56−1

��� 6��� ���������� ����� �����	��� ������#��� �� 1�! �+��� 5�� ��� Dsφ 6��-������ ���
1�� �+���� 5�� ��� Bsη 6��-�������


	���� Dsφ ;"1 56
−1< Dsη ;"1 56

−1< Bsφ ;!1 56
−1< Bsη ;�11 56

−1<
8�������� "1111 �21111 �71111 �1111 �1111
(��������	�� 2*�1 �!)17& �2)&�* ))*% %�"2
��	���� !777 �"&�&* �&�2!2 %%"� !!)7
������	�� !�)" "&)"� �""2& �&!& *2*

�	��	�� �����$ *!!! 7)* %�7 %& "7
∆ *&%7 %2% 2%* �" �"

φ=+��� &%7% *! 2*2 1 ��

	��;&µ< &%7% &7 2&) 1 ��
τ =,	���, &%!2 ;%��< � ;1�!< 1 1 � ;1��<

��6�� 2�"9 ���6�� �5 �+���� �� ��� +��	��� ����$�	� ���#� 5�� ��� �	���� ��� ��� 5���
6��-��������

�� �	��2��* ��� 	�+��	��� ���� �5 ��� �$���� �5 ��� ����� ����� 	� #������ 5�� ��� �	����
��� 5�� ��� 5��� 6��-������� �� ��� +��	��� ���#� �5 ��� ����$�	� ���	�� ��� >��� #���
��5��� �� ��� �+���� ���� ���+	+� ��� ��	���� ���� ��� ������ �� ��� �+���� ���� ���+	+� ���
��3�	������ �5 ����� 	������� ����� 	� ��� >��� ������ ��� ��	�� 	� �5��� ��� ��� Emiss

t P
"1 8�� ��� ��� ��� ���� 	� �5��� ��� φ=+��� ���� ��� �	���	6��	��� ��� ��� ������	
�� ��
�� 	��������� ���	���	�$ �5 �1 56−1�



)7 ��
���� �� ������
��� ��
	� �� ��� τ → 3µ 	��
�

�	���� 2��*9 ����� ���� 	�+��	��� ���� 5�� ��� �	���� ��� ��� 5��� 6��-������ #��������
�� 5��� ���#� �5 ��� ����$�	� ���	�9 �< �5��� ��	����� "< �5��� 	�����	��� &< �5��� ��� �	��	��
�����$ ��� ��� *< �5��� ��� φ=+����

,���� '
���
 &�#�

��

��� �	���� �+���� ��+� 6��� ��������� ,	�� ��� (M���' ��������� ��	�� � #���� �#���
����$ ������

�� ������� ��� �?��� �5 � �	+�� �$���	�� �� ��� pt ��� η �#����� �� ��� >��� �����
����� �+���=,�	���� ������� �� � �#��	>� #�$�	��� ����� ��� 6��� 	������� 	� ��� ����$�	��
'� ��#����� 	� ����� ��*��� � ����� ���6�� �5 �����	�� 5������� ����$� ���� +	����� ��� D�+��
���6�� ��� ���� ���� ��� #������	�� �5 ����� ������� ���� ��#���� 6$ � τ ��#���� ��
��	� ����	�� ,� ��5�� ���$ �� ��� �	�	��� ��#���$�����	� �.����	�� �5 ��� �������� �����
;�

�<� �� ��	� ����� ��� �.	������ �5 � �������	�� ���� ,���� ��� �	��� >��� ��� ���#��
,	�� �,� ��#���� �5 �	?����� D�+�� ;τ → Hµ< �	+�� �	�� �� � ���=
��� 4�����	��  ��	� 5��
��� τ → 3µ ����$� '� 	���������� 	� ����	�� ��*��� ��� �

� 5������� 6�����	�� ���	��
5�� ��� #������ ����� 	�+���	���	�� �5 ��� ����� �5 �1−7=�1−8� ��#���	�� �� ��� +����� �5
��� ����� #���������� ��� #��������	
��	�� �5 ��� 4 ;τ → 3µ< 	� ��#����� 	� �3� ��%� ��
��#���� �� ��� +����� �5 tanβ� �� ��� ���� �5 ��� �	��� 6���� ��� �� �,� �	����	������
5����	�� �5 ��� �

� #���������� ∆R ��� ∆L�
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�	���� 2��!9 ����� ���� 	�+��	��� ���� 5�� ��� �	���� ��� ��� 6��-������ �� ��� ��� �5
��� ������	���

�� ���	���� ��� �?��� �5 �����	�� ��� ����$ ����� � �	�#�� ���� ��� 6��� ��+���#���
E� ����� 5��� ��� �����$ +����� �5 �,� ������ >��� ����� ������ E1, E2� ��� #��5��� �
������
 6���� �� ��� τ ������ �5 ���� �$����� ��� 3����	�$ dΓ/dECM

1 dECM
2 	� �+�������

5�� ���� �+��� ��	�� � #��������	
��	�� �5 Γ(E1, E2) �6��	��� 	� ��� ������� �5 ��� �

�
������ ��� ����+��� �

� #��������� ��� 6��� >.�� �� ��� 5����,	�� +�����9

� �A0 I �H0 I �h0 I �11 8��L

� tanβ I ��!! ;β � !1<L

� ∆R I ∆L I 1�112L

�� �	��2��2 ��� 0��	�
 #��� 5�� � ����� 6��$ ����$ 	� ���,�� ��� -	�����	� +��	�6���
�������� ��� ��� �����$ �5 ��� >��� ��� �5 ��� ������ ����� E1, E2� ��� ���� �5 � ��	5���
#���� �#��� ����$ 	� ���,� 	� �	�� 2��2 ;��5�<� ,�	�� ���� 5�� � ����$ ����	. ,	�� ���
����	. ������� �5 ��� �

� ����� 	� ���,� 	� �	�� 2��2 ;�	���<� '� �.#������ 	� ���
>��� #��� ��� ���� ����	�$ 	� ��� 0��	�
 #��� 	� ��	5����$ �	���	6���� ,	��	� ��� -	�����	�
�	�	��� �� ��� ������ #��� 	������� � ���� ������� ����	�$ 	� �6���+�� 	� ��� �������
���	��� �� 	� ����� ,���� 	� ��� ���	�� ,���� �,� �5 ��� ����� ����$ #������� ��+� ���
���� �����$� ��	� 	� ��� �� ��� #������� �5 �� 	�������	��� ���+$ #���	���� ��� �	���



�11 ��
���� �� ������
��� ��
	� �� ��� τ → 3µ 	��
�

�	���� 2��29 0��	�
 #��� 5�� ��� ����� 6��$ ����$ τ → 3µ 	� ��� ���� �5 � #���� �#���
����� 6��$ ����$ ;��5�< ��� 	� ��� ���� �5 ������	�� ,	�� � �

� ����	. ������� ;�	���<�

6����� 	� ��� ����$ ,�	�� ������� ��� �$���	� �5 ��� τ → 3µ ����$� ��	� ����� ������
	� #�	��	#�� ��� ���6�� ������	�� �A�	���$ �5 ��� �	����� 	��� ��� ���6�� �5 �+���� ���+	+	��
��� ������	�� ���� ��� ���	� �	���	6��	���

�� ����� �� ���� ��	�� ���� �+��� ��������� ,	�� ��� ��	5��� #���� �#��� ��� 6���
,�	����� ,	�� ��� 5����� dΓ/dECM

1 dECM
2 � ������	
�� �� ��� ���� Γ �5 ��� ����$� �	�� 2��%

���,� ��� �	���	6��	�� �5 ��� ����� ���� 	�+��	��� ���� 	� ��� ���� �5 � ��	5��� #����
�#��� ����� 6��$ ����$ ��� 	� ��� ���� �5 ��=,�	���	�� ��� �+���� ,	�� � ����� ��#������
5������ ��� #��� ���,� ���� �� �##���	�6�� �?���� �.	��� ��� ���6�� �A�	���$ ������� 5���
�7�%7% �� �7�)%%�

3�' �$$�� ����� 4��� ��� &��5��� ����������

'5��� ��+	�� ���	����� ��� ���6�� �5 �.#����� 6��-������ ��� ��� �	���� �A�	���$ ,	��
��� 5��� �	�����	��� 	� 	� ���� #���	6�� �� ���#��� ��� �##�� �	�	� �� ��� �	���� 6�����	��
���	�� ��� �##�� �	�	� �� ��� 6�����	�� ���	� 	� �.#������ 6$ ��� 5����,	�� 5������9

BRUL =
NUL

L× σ(W ) ×BR(W → τν) × ε
, ;2�)<

,���� ε 	� ��� �	���� ������	�� �A�	���$ ��� NUL 	� ��� �##�� �	�	� �� ��� ���6�� �5
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�	���� 2��%9 ����� ���� 	�+��	��� ���� �	���	6��	��� �	������� 	� 5�� ��� #����=�#���
τ → 3µ ����$� ��� #�	��� ��� 5�� ��� ����$ ,�	����� ,	�� � �

� ����	. ��������

�	���� �+���� ,��� � �����	� ���6�� �5 6��-������ �+���� ��� �6���+�� �+����� Nbkg ���
Nobs� ��� �.#������ �� �1 56

−1 �5 	��������� ���	���	�$ ,� ���	���� 1�2 6��-������ �+�����
��� �##�� �	�	� 	� ���#���� ,	�� ��� �$#�����	� �� ��+� Nobs I 1���"�&���� ,�	���	�� 	�
,	�� � #�	����	�� #��6�6	�	�$� ��� ���� �##�� �	�	� �� ��� 6�����	�� ���	� 	� �	+�� 6$9

< BRUL >=
∑

i

BRULiP (Nbkg|i), ;2��1<

,���� 	 I Nobs I 1���"�&���� :�	�� ��� ������� ��� ����	�� #�����	#�	��F�%G� ��� NUL 	�
��� ������#���	�� �� � �	+�� Nobs� ��� �##�� �	�	� �� ��� τ → 3µ 6�����	�� ���	� 	� ����9

BR(τ → 3µ)UL = 7.8 × 10−8 at 90% C.L. ;2���<

���
BR(τ → 3µ)UL = 9.6 × 10−8 at 95% C.L. ;2��"<

'� ��#����� 	� (��� ��*�"� ��� �##�� �	�	� �� ��� τ → 3µ 6�����	�� ���	� ��� 6��� ��� 6$
��� 4=5�����	�� �� ��� +���� "×�1−7 �� )1% ����� ��	� ���6�� ��� �� 6� ���#���� ,	��



�1" ��
���� �� ������
��� ��
	� �� ��� τ → 3µ 	��
�

��� ������ �5 �3� 2�7� ��� ����$�	� ���� ,	�� ��� 5��� �	�����	�� 	��	����� ����� ��� '����
�������� ��� 	�#��+� ��� #������ �##�� �	�	� 6$ � 5����� �5 "� ������$ ��	�� ��� >��� �1
56−1 �5 	��������� ���	���	�$�
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�� ����� �� ���	���� ��� '���� �������� #��5�������� 5�� ��� ������ �5 ��� τ → 3µ �	����
	� � ���� ����	��	� ��� ���#���� ,�$ ���#��� �� ��� 5��� �	�����	��� #��� �5 ��� ���������
�+���� ��+� 6��� #����� ������� '���� ��� 5��� �	�����	�� #������� ��	� ����,� �� ��-�
	��� ������� �������� �?����� ���� �� �������	��� ��� �������	��� ����#����� �� ,��� ��
�����������	�� �A�	���$� ��� ���#���� �	�����	�� ���	� ����	��� �59

� 0������� �	�����	��9 	� 	� ��� #������ ,����6$ ��������� �+���� ��� #����� �������
8�'��* 
	�����	�� �5 ��� '���� �������� �� #������ 8�'��* �	��� 	��� � ������ �5
,���� #���	��� ��� ���+����� ��� �������� ��� ��, ���� �����$ ��� 6��� ��#��	����

�  ��#���� �	�	�	
��	��9 	� 	� ��� #������ ,����6$ ��� �	������� 8�'��* �	�� ���
#����� ������� ��� ���#���� �5 ��� �������� �� #������ 0	�	��� ���� �� ������� �	���
��� +�������� �� #������� 	� ���  �, 0��� 5��� ��� ���� ��������� ��� �	�	�	
��	��
�5 8�'��* �	�� 	� '���� 	� #��5����� ��6��������=6$=��6���������

� �+��� �����������	��9 	� 	� ��� #������ ,����6$ ��� ��, ���� 0	�	�� ��� �������������
	��� ����-� ��� �����$ ��#��	�� �� �+��� 
�����$ 0��� ;�
0<� '���$�	� /6@���
0��� ;'/0< �� ���6	��� ����#��� ;�4��<�

0�� �� ��� ���#��.	�$ �� 5����, ��� ���	�� ���	� 5��� ��� ��������� �+���� �� ���
������������� ����� ��� ��� ��� 5��� 6��-������ #�������� ��+� 6��� 5���$ �	�������� ���
������ �5 ��� 5��� �	�����	�� 	� ���� ��� ���� ��������� 6��-������ 	� ��� ��� 5��� ���
����$ �5 � Ds ����� ,	�� ��� #������	�� �5 � φ ��������� ;��� ��� ��#������	�� ���
��@�� ������ �5 6��-������ �� ��� ��� �5 ��� ������	�� ���	�<� ' ����	��	� ������#���	��
�� �1 56−1 ��� 6��� 5���$ �	������� 5�� ��	� #������� ��� ����� 6��-������� ,	�� 6�
5���$ �	������� ���$ ,��� ��� #��5�������� �5 ��� �����������	�� #������� �5 ��� '����
�������� ,	�� 6� ���#�����$ �����������

,�)�� &��� .�����	���	
�� �
���
	���

��� ��� ���#� �5 ��	� ����$�	� ,� ��� #���	������$ 	��������� 	� ��� �����������	�� �5 ������
E��� � ������� #���	��� ��+�� ������� ��� '���� �������� 	� ���+�� � ��� �5 �	�� 6��� 	�
��� ����� 0������� ��� 	� ��� ���� 
#����������� ' �	� #��+	��� 	�5�����	�� �6���
��� ����- #��������� �� ��� �������� �����	��� ����� ��� ��+���� ������� �5 �	��9 ����-�
5��� ��� 	�������	��� 	� ���� ���	�� 5��� �	?����� 6���� �����	��� �� ,��� �� ����	�
#���	����� ��������	� ��	�� ��� ���	����	+	�$� ��� #������ ������	�	�� ���- 	� �� #��#���$
�����	��� �	�� �� #���	��� ���@�����	�� 	� ����� �� >�� ��� 5��� ��� �5 ����- #��������� 6$
������	�� 5�� ��� 6��� >� �5 � #�$�	����$ +��	� ����-� ' ���� 	� ������������� ��#������$
	� ��� 	���� ����-�� ��� 	� ��� ���� �$����� 	�5�����	�� 5��� ��� �,� ��6=��������� ���
���� ���6	��� 	� ����� �� �6��	� ��� ����- #���������� 0	?����� �����������	�� ��5�,����
��� �+�	��6�� ,	��	� ��� '����� 5����,��- 	� ����� �� 	��	+	����� � ���� ��� �������
	�� �������� ��� �	����	��� ���� � �	�� �5 ��� �����������	�� #������� ���� ��+� 6���
���-�� �� 5�� ��	� ,��-9
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�F*2G
�� 	� � ������� #������ ���� 5�� �����������	�� ����- 	� ��� ����� 0�������� ���
������� #�������� 	� �� 5��� ����-=����	����� ��	�� �#���=#�	�� ���6	�����	�� ��6=
@��� �� ��	���	� �� ��.	��� ���+����� ��� +����. ���	�� #��@���	+	�$� ����	�����
������� � ����-=>� #�������� �� �	+� ����- #��������� ,	�� ��+��	���� �� ��� #�	��
�5 ������� �##����� �� ��� 6���=�	�� ;#��	��� #���������<� ��� ����- 5����,�� ����=
�	��� #��#������ ����� #��������� �� 5��� �� 	�������� ,	�� ����� ���	#�� �� ����
�	�	��� �������� ��$�� 	� ����� '���#��� ����-� ��� ��3�	��� �� ��+� �� ����� 2 �	�	���
�������� ��� � χ2=>� #��6�6	�	�$ ������� ���� 1�11��

� ����$��5����+
����6�$ 	� � ���� �#���������� J����������J ����- �����������	�� ����� ����=
6�$ 	������� ������� #������ ������	�	�� �� ��� �0�K�
� ��� ��	���� ����6��
��+��� ���6�� �#���������� ����- ����	�� ������� ��� 4 >���� ����- >��	�� �� �.�����
��� ��������� ��� 6��- #��#����	�� �� ��� 	�������	�� #�	��� ��� ��3����� �5
�����������	�� 	� ����6�$ ������ 6$ 	����	5$	�� ���	��� �5 ���	+	�$� ����� ���	���
��� 	��	����� 6$ ��� ��	���� ����6��� ; (�� 	� ��� 6����� ��� �8�� 	� ��� ���=
��#<� ��� �	�� 	� ����� ���	+� ���	��� ��� ���6	��� 	��� ����� �������� +	� � #������
������	�	�� �����	���� ��	� �����	��� ��#��$� ���� �������	��� �� ������� �#���
��� �������$� ��� �.��#�� �������� ��� ��3�	��� �� #�	�� ������$ �� ��� ��������	��
(�	��� ��� #��	�	�� ��� �	����	�� �5 �������� #��+	�� � >��� ����� ���	���� �5 ��=
������� ���	+	���� �������� ��� ���� ��������� �� �������� 	� ����� ����	��� +	�
&=�	����	���� ����	����� ����-	�� 	� ������	� >���� 
�+���� ���6	���	�� ��3������
��� #��5����� �� ����	#�� �������� ,���� ��� >�� #��+	�� ��>��� �������� ���	=
����� ��� ����- 3���	�$ 5������� �5 �������� ������ � ����	���� ����- 	� 5����� '
����	���� 	� ���>���� 	5 	� ��� 6� 6��-����-�� �� ��� 	�������	�� #�	���


�'�/ ;
�'�	��	��� �/�6	���	��< 	� � ���� ,�	�� �����#�� �� ����	��	����$ ������
��� �,� 	���#������ ������������ ���	+�� 5��� ��� 	���� �������� ����- ;�(�� ��<
,	�� ��� �#���������� ����- ;����4�$< �� ��� 	�������	�� #�	��� ��� ����	�� 	�
���� 6$ ���6	�	�� ��� ��+��	���� ����	��� �5 ��� �,� ����-� �� �6��	� ��� 6���>�
�5 �,� 	���#������ �������������

� �++,*5����F*%� *7G
���� /6@��� /�	�����  ����������	��� �� 	� � #��-��� 5�� ��� �����������	�� �5
��� ���� ����-� 	� ��� '���� ���� 
#����������� ��+���#�� 	� �WW 	� ��� '�����
5����,��-� ��� #������ ������ 5��� � ������ �5 ��� ���	��� �5 ���	+	�$ ,	��	� ���
�������� ��� ��6��3�����$ #��5���� ��� #������ ������	�	�� ��� ����- >��	��� ���
>��� ������������� �6@���� ��� ����-� ,���� #��������� ��� �.#������ �� ��� >���
�������� #�	�� 	��	�� ��� ���� 
#����������� ' +��$ ���� �����������	�� �A�	���$
	� �.#����� 5�� ����-� ,	�� pt P �1 8�� ;�6��� )!%< 	� ��� #�������#	�	�$ �����
��+���� 6$ ��� ���� 
#�����������

��� #��-��� ���0 ;�:�� �0���	>���	��< �����	���� ����-� 5���� 	� ��� ���� 
#��=
�������� ,	�� ��� ������#���	�� ����� 0������� ����-� �� ,��� �� ,	�� �����	�����
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	�5�����	�� 6$ �.���#����	�� �5 ��� �// � ����- #��������� �� ��� +����.� ���
����	#�� �������	�� 	� ��� �����	������ 	� #�������	
�� ,	�� � ��� �5 �������	�� #�����9
��� �����$ ���� 	� �+������� �	���� 5��� ��� �����	������ ������������ �� 5��� �
#��������	
��	�� �� � 5����	�� �5 ��� ���� �������� ��� #�������#	�	�$� ���
>��� �6@���� ��� 	����	>�� ����� ,���� ����- #��������� ��� �	+�� �� ��� #�	��
�5 ������� �##����� �� ��� 6��� 	��������	��� :��	-� 
�'�/ ,�	�� ����	��	����$
������ ��� �,� 	���#�������$ 5���� ����-�� ��	� ���� #��5���� � ���6�� ��>� �5 ���
�	�� �����	���� ,	�� ����� ����-��

� ������3/�F*)G
' ���	����� �����	��� ����,� 5�� ��� 	����	>���	�� �5 ��,=pt ����� ���� ���� � �	��	5=
	���� #��� �5 ���	� �����$ 	� ��� �����	������ ��� ���� �� ��� ��+� � ������#���	��
����- 	� ��� ���� �#����������� ��� 	���� �������� ����-� ��� �.���#������ 	��� ���
���� �$���� ��� �����	���� ,	�� �������� �� � ���	�� �5 �	�� 	� ��� �#�����������
'�� ��� ���� �#���������� ���������	�� ��� ����� �0� ��� �
� ����6��� 6�� ����
 (� ��� �8� ����6���� (��#����	�� ������� ��� ������	��� >��� 	� #��5����� ��
�6��	� φ �� ��� �#���������� ��������� ' #��������	
��	�� �5 ��� ����	��� ������	�
>��� �?���� 	� ���� �� �.���#����� η �� ��� �	���� ���� �#���������� ����	���

' ����� 5����	�� �5 �	���� �+���� ��+� �� ����� ��� ���� ,	�� �����+���� ��������
����	�� 5��� & �� 2 8��� ������� �� ���,� 	� ����	�� 2��� 	� ��� 5��� �	�����	��� 	� ,��
�6���+�� ���� 	� ��� τ → 3µ #������ �6��� !!% �5 ��� �+���� ���� #��� ��� ��	���� ���
��+� � ��	�� ���� ,	�� & 8�� C pt C 2 8��� �� ��	� ����� �5 �����+���� ������� 	� �5���
#���	6�� � ���� ��� #���	�� ������� ��� �����	������ ,	�� ��+� ��� ������ �����$ �� #���
������� ��� ����� �#���������� ����	���� �� #���	������ ����� ,	�� pt 6��,��� & ��� *
8�� ,	�� ��� ��+� � ������#���	�� ����- 	� ��� �#����������� 6�� ���$ ��� ��$,�$ #��� ���
�����	������ ��� ����� ��� >��� �#���������� ����	��� ��	� ����� ��� ��� �������������
6$ ��� �// �K�:�0 ��� ����4�$K
�'�/ �����	���� 6�� ��� 	������ 	��	+	������
6$ ��� ���0��,(� #��-����

����� ������������� 6$ ���0��,(� ��� D����� 	� ���� � ,�$ �� -��# ��� 	�5�����	��
	5 ���$ ,��� ������������� �� ���6	���	�� �5 �� 	���� �������� ����- ��� � ���� �#������=
���� ����- ;�������
 �����< �� ���$ ��� 	��	+	������ �� �� 	���� �������� ����- ,	�� ��
�����	���� ������� 	� ��� ���� �$���� ;����pt �����<� '6��� *%% �5 ��� ����� �����=
�������� 5��� ��� τ → 3µ ��������� �+���� ��� �����	��� 	� ��� ���0��,(� �������	��
��� 	����	>�� �� ��,=pt ������

�� �	��2��7 ��� �����������	�� �A�	���$ �5 ��� ���0��,(� #��-��� 	� ���,� �� �
5����	�� �5 pt ��� η �5 ��� ������ �� �	��2��) ��� 5����	�� �5 5�-� ����� �� � 5����	�� �5
��� ���� �����+���� �������� ��� #�������#	�	�$ 	� ��#������ ���� ��� #���� � +��$
�	�� �A�	���$ 	� ��� �����������	�� �5 ����� 	� �6���+�� ���� 5�� +��$ ��, +����� �5 ���
�����+���� ��������� ��� 5����	�� �5 5�-� ����� 	� ����	�	6�� 5�� ����� ����� ,	�� pt

P * 8�� ;��,�� ���� 1��%<�
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�	���� 2��79  ����������	�� �A�	���$ �5 ��� ���0��,(� #��-��� �� ��� �	���� �+���� ��
� 5����	�� �5 ��� ���� pt ;��5�< ��� η ;�	���<� ��� �A�	���$ �� � 5����	�� �5 η 	� #������
5�� ����� ,	�� pt P & 8���
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�	���� 2��)9 �����	�� �5 5�-� ����� ������������� 6$ ��� ���0��,(� #��-��� �� �
5����	�� �5 ��� ���� pt�
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�� ��	� ����	��� ,� ��#��� �� 5���$ �	������� �+���� ��� ����$�	� ������ ������ ,	�� ���
5��� �	�����	�� �� ����$ �+������ �����������	�� #��6���� �� �	?������� 	� ��� �����	��
��� �� ��� �����������	�� �A�	���$ �5 ��� �	?����� �����	����� '� �.#��	��� 	� ��� #��=
+	��� ����	�� 	� ����� �� 	�#��+� ��� �A�	���$ �� ��, pt� ,� ����	��� �� ����� ��� ����
������������� 6$ ��� ���0��,(� ,�	�� 	� 6���� �� ����- ������������� 	� ��� �0 	�
�����	��	�� ,	�� � ���	�� �5 �	�� �� ������� 	� ��� ���� 
#�����������

/�
�
!
��	��

'��� 5�� ��	� ���#�� ,� �##�$ �� ��� ������������� �+���� � �	�	��� ����? �� pt ��� η�
pt P & 8�� ��� |η| C "�!� �	��� 	� ��� 6��� ������$ �##�	�� 	� ��� 6��-������ �������	��
-��,	�� ����� 	� ��	� ����� ��� ����- �A�	���$ ,	�� ��� 6� �11 % �� ������� 	� ��� 5���
�	�����	��� �� #���	������ ����� ,	�� 6� � ���# �� �����	�� 	� ��� �������� ���	��
6��,��� & ��� ! 8��� '� ���,� 	� ��6�2�"� ��� �?��� �5 #��������	�� 	� ��	� ���#�� 	�
���� ���� ���� �� 6��-������ ���� �� ��� �	���� �	��� ��� pt �#������ 	� ���� ��5����

'������ 	�#������ �	?������ ,	�� ���#��� �� ��� 5��� �	�����	�� 	� ��� #������� �5
5�-� ����-�� ������ ��� �	���	6��	�� �5 ��� ���6�� �5 ���� ����	������ 5�� �	���� ���
6��-������ �5��� ��� #��������	��� 	� ���,� 	� �	��2�"1� ����� 	� � �������6�� �����	6��	��

# preselected muons
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�	���� 2�"19 ���6�� �5 ����� #�� �+��� �5��� ��� #��������	�� �� pt ��� η 5�� ��� �	����
��� ��� 6��-�������

�5 ����� ,	�� ���� ���� ����� #���������� ������ E� �����	�� ��� ����$�	� �� ��� �+����
,	�� & �� * #���������� ������ 4$ ���-	�� �� ��� ���������� ������ ,� 5���� ��� ����
��� 6��� ������ �� ������ ��� �����	�� �5 5�-� ����-�� 	� ��� �	���� ���#��� 	� �� ������
��� & ����-� ��+	�� ��� 	�+��	��� ���� ������� �� ��� τ �����
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�


	�	����$ �� ,��� ���� 	� ��� 5��� �	�����	��� ��� ���� ��	���� �A�	���$ ��� 6��� 	�������
�������$� ��� ���� ���� ��	���� �A�	���$ ���+��� ���,� 	� �	��2�7 5�� ��� 6����� ���
5�� ��� �����#�� ��� >���� ,	�� �� ����$�	��� 5����	�� �5 ��� ���� �����+���� ���������
��� 5����	�� �6��	��� 5��� ��� >� ��� ���� �� ,�	���� ��� �+���� ,	�� ��� �	�=��=�	��
�������

���!��	��

��� �	�� 6��-������ ��@���	�� #�,�� �5 ��3�	�	�� ����� 	������� ����� ��� 6��� �	��=
�	����� 	� ��� 5��� �	�����	�� ����$�	� ,���� ��� 	�����	�� ��	���	� ,��� 6���� �� ���
�	������ 6��,��� ��� ����-� ��� �����	����� ��������� �� ��� 5��� �	�����	��� ��	���	� 6����
�� ��� ���� 	�����	�� ,	�� ���#��� �� ����� ����-� 	� �����

��� ���� ����� � ���# �� ��� ����-� ����	���� �5 ��� 	���� �������� 	� #��5����� 6$
������	�� 5�� ����-� ����� �� ��� ���� ����	����� /���� ���� ����	����� ��� �.������
5��� ��	� �����	��� �� �	�� 2�"� ;��5�< ��� ���6�� �5 ����-� ,	�� pt P � 8�� �����	��� 	� �
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�	���� 2�"�9 ��5�9 ���6�� �5 ����-� ,	�� pt P � 8�� �����	��� 	� � ���� �5 ∆R C 1�*
������ ��� ���� �	����	���  	���9 ���6�� �5 	������� ����� #�� �+����

���� �5∆R C 1�* ������ ���� ���� 	� ���,� 5�� ��� �	���� ��� 5�� ��� 6��-������� �� ���
6��-������� ��� ����� ��� ���� 	������� ��� �� ��� ����-� ���	�� 5��� ��� �����#��	��
#���	���� ��������� 6$ ��� #�����=���,�� �5 ��� c �� b 3���-� ' ����	����6�� ������ �5
���� ��+� pt �5 �� ����� � 8��� E� ��>�� �� 	������� ���� ��� ���� ,	����� ��$ �����
����-� ,	�� pt P � 8�� 	� ��� ��������	�� ����� �� �	�� 2�"� ;�	���< ��� ���6�� �5
	������� ����� #�� �+���� 5�� ��� �	���� ��� 5�� ��� 6��-������� 	� ���,�� ���� ��� #����
	� 	� �+	���� ���� ��� ��3�	������ �� ��+� ����� 	������� ���� 	� ��� >��� ����� 	� +��$
�?���	+� �� ��� 6��-������ ��@���	���

��� �A�	���$ �5 ��� 	�����	�� ��� 	� �7% 5�� ��� 6��-������ ��� %&% 5�� ��� �	�����



���� �
�� ���
�
���� �1)

�	��	�� *�
���

��� �	���� �+���� ��� ���������	
�� 6$ � ����� ������ �5 �����+���� �	��	�� �����$ ��� ��
��� #������� �5 � �����	�� 5��� ��� W → τν ����$� ��� 5��� �	�����	�� ����$ ��� ���,�
���� � ��� �� ��� �	��	�� �����+���� �����$ 	� +��$ #�,��5�� 	� ��@���	�� ��� 6��-��������
���� 	� 	� 	�#������ �� ��-� ��	� +��	�6�� ,��-	�� �� ��� 5���$ �	������� �+�����

��� ����� �	��	�� �����+���� �����$ 	� ���#���� �� ��� ��� �5 ����� �����	6��	���9

Emiss
T = Emiss

T (Calo) + Emiss
T (Cryo) + Emiss

T (muon), ;2��&<

,���� ET 	�
√

(Pmiss
X )2 + (Pmiss

Y )2 ��� ���� �	���� ���#����� 	� ��� ��� �5 ��� �����$
�� ��� �����	����� ������ ������� �� �������� ���� 6$ ,�	���	�� ���� ���� 5�� 	�� �������
#��	�	�� �� 5����,9 Pmiss

x = −∑
iE

isin(θi)cos(φi)� P
miss
y = −∑

iE
isin(θi)sin(φi)� ���

�	?����� ����� 	� �3� 2��&� ��� ��� �����	6��	�� ��� �� ��� �����	����� ������ ��� �������	��
���� �� ��-� 	��� ������� ��� �����$ ���� 	� ��� ��$����� ��� ��� �������	�� 5�� ���
���� ����� ��	� ���� ���� ��#���� �� ��� 5��� ���� ��� ���� �����$ ��#��	�	�� 	� ���
�����	������ 	� ��� �	���� ,	�� ���� �������� 6�� 	� �	�	��� �� ��� �����$ ���� ��� �� ���
�	�	��� 	��	
��	��� ��	� ���� 	� �	���	6���� 5����,	�� � ������ ���+� ,	�� � #��- ,�	��
	� ��� �� & 8�� ;Pµloss< 	� ��� 6����� �� )1

◦� ��	� ���� 	� #��#���	���� �� ��� �����	�����
��	�-���� ��� �����5��� ������ ��,� �� 1/sin(θ)�

��� �������� ���� �������	�� 	� ���������� �����	�� 5��� ��� ����� �������������
,	�� ���0� 	��� ��� ���� ������������� 6��� 	� ��� 	���� ����-�� ��� 	� ��� ���� �#��=
��������� '� ���,� 	� ����	�� ��!��� ����� 	� � ����� ������ �5 �+����� � !1%� 	� ,�	��
� ���� ���� ��� ��+� � ������#���	�� ����- 	� ��� ���� 
#����������� ��� ��	� �������
��� �	��	�� �����+���� �����$ ���#���� 6$ ��� 5��� �����������	�� #������ 	� ��������	=
������ �� ������� ��	� �����	��� #��6���� ,� ��+� ��6������� ��� �����	6��	�� Emiss

T (Muon)

�� ���#���� 6$ ��� �������� �����������	�� ��� ��� � ��, ���� ���� ��-�� 	��� �������
���� ��� ��,=pt ����� 	��	+	������ 6$ ���0��,(�� ��� ���� ���� 	� ��� �+��� ���
3����	�$9

Ecorrection
T =

√
(Pmiss

x )2 + (Pmiss
y )2 ;2��*<

,����
Pmiss

x(y) = P full
x(y) − Pmuon

x(y) + P correction
x(y) ;2��!<

	� ���#����� ���� ��� �������	�� �5 ��� �	��	�� �����$ ���#������ ��� �	+�� 6$9

P correction
x(y) =

∑
i

(|P | − |Pµloss(θ)|)sin(θ)cos(φ). ;2��2<

�� �	��2�"" ��� Emiss
T �	���	6��	�� 	� ���,� 5�� ��� �	���� ��� 5�� ��� 6��-������ 6�5���

;��5�< ��� �5��� ;�	���< ��� �������	��� '5��� �������	��� ��� �	���	6��	�� 5�� ��� �	���� 	�
���	� #��-�� �� *1 8�� ,�	�� ��� �	���	6��	�� 5�� ��� 6��-������ 	� #��-�� �� +��$ ��,
�����+���� �	��	�� �����$ +������ ' ��� 	� �##�	�� ��-	�� Emiss

T P "1 8��� �� 	� ���
5��� �	�����	�� ����$�	�� '6��� )"% �5 ��� �	���� �+���� ���+	+� ��� ��� ���	��� 2% �5
6��-������ �+�����



��1 ��
���� �� ������
��� ��
	� �� ��� τ → 3µ 	��
�
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�	���� 2�""9 ��5�9 �	��	�� �����+���� �����$ �	���	6��	�� 5�� ��� �	���� ;6���-< ��� ���
6��-������ ;���< �� 	� ���#���� 	� ��� 5��� �	�����	���  	���9 ���� �	���	6��	��� 	�����=
	�� ��� �����	6��	�� 5��� ��,=pt ������

φ'0
��

��� ���$ 6��-������ ������������� ,	�� ��� 5��� �	�����	�� 	� ��� ����$ ���	� DsX →
φµνX ,	�� φ → µµ �	���� �� 	� 	� ������� 5��� ��� 5��� �	�����	��� ��	� #������ �	+��
��� �������� �����	6��	�� �� ��� �	���� 6��-������� �� ��� ��� �5 ��� ������	��� '��� 	�
��	� ����� ,� �##�$ � +��� �� ����� �+���� 6$ �����������	�� ��� φ ���� ,	�� ��� 3����	�$
�closest� ��	� 	� ���� 6$ ������	�� ��� ���� #�	� ,	�� � ����� ������ ���� �	�� ��� ,	��
��� ������� 	�+��	��� ���� �� ��� φ ����� ��� �	���	6��	�� �5 �closest 	� ���,� 	� �	��2�"&�
���� ��� #��� 	� �+	���� ���� ��� �	���	6��	�� 	� ������ ���� ��� ��� �6��	��� 5��� ���
5��� �	�����	��� �	��2��"� �	��	�� 	� ,	�� � �����	�� 5����	�� ����� �� ��� 5����,	�� +�����9

< Mclosest >= (1021.92 ± 0.24) MeV ;2��%<

σ(Mclosest) = (17.17 ± 0.22) MeV. ;2��7<

����� +����� ��+� �� 6� ���#���� ,	�� ��� ���� 5���� ,	�� ��� 5��� �	�����	�� #������9
C�closestP I ;�1�)�%2 ± 1�1%< ��� ��� σ(Mclosest) I ;)�7� ± 1�12< ���L � ,�����	�� �5
������ � 5����� " 	� ��� ���� �������	�� 	� �6���+��� ��	� �?��� 	� ��� ��	5��� �� ��� ���
�������� ����#����� 6�� 	� ���� #��������� �� ����� #�������#	�	�$ +������ �� �	��2�"*
��� ,	��� �5 ��� �	���	6��	�� �closest 	� ���,� �5��� ��+	�� �	+	��� ��� η ����� �5 ���
���� #�	� 	� >+� 	����+����

�� ��� #��� ��� η ��#������� �5 ��� ���� �������	�� 	� ���,� 6��� 5�� ��� �+���� ��+	��
�,� ���6	��� ����� ��� 5�� �+���� ��+	�� ����� 5��� ��,=pt �����	���� �� �	?�������
��� +	�	6�� 	� ��� ���� �������	�� 6��,��� ��� 	�+��	��� ������ �5 �,� ���6	��� �����
��� ��� ���� �5 �,� ��,=pt ������ ������� �� �.#������ �	+�� ��� ��, �������� �5 ���
����-� 	� ��	� ���#�� ;pt C &1 8��<� ��� ���	���� �����	6��	�� �� ��� �������	�� 	� �	+��
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h_m12
Entries  5800

Mean     1023

RMS     19.96

 / ndf 2χ  349.9 / 159

Constant  2.4±   126 

Mean      0.2±  1022 

Sigma     0.23± 17.17 
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�	���� 2�"&9 0	���	6��	�� �5 ��� 	�+��	��� ���� �5 ��� ���#�� �5 ����� ,	�� 	�+��	��� ����
������� �� ��� φ �����

6$ ��� 	���� ��������� E� ���� ���, 	� ��� ��� ���� �������	�� �� ���	����� 6$ ��� 5���
�	�����	��� �� ��	� ���� ��� η ��#������� 	� ������ ����	�	6���

�� ����� �� ��@��� ��� 6��-������ �+���� ,�	�� ��� �����	�� ��� ���� ��� �	���� �A=
�	���$� � ��� �� �closest ,�	�� ��-�� 	��� ������� ��� +��	��	�� �5 σ;�closest< �� � 5����	��
�5 ��� ���� η� ��� 6��� �##�	���

E� ��@��� ��� �+���� ��+	�� �closest 	� ,	��	� ��	� �����9

|Mij− < Mclosest > | < 3 × σ(Mclosest), ;2��)<

,	�� < Mclosest > ��� σ(Mclosest) ��#���	�� �� ��� ���� #�������#	�	�$� ��	� ����������
	� � �����	����	�� �5 ��� �	���� �A�	���$ ,	�� ���#��� �� ��� ,��� �6��	��� ,	�� ��� 5���
�	�����	��� ������ %1% �5 ��� �	���� �+���� #����� ��� φ=+��� ��� ���	��� ��� 72% 5����
	� ��� 5��� �	�����	���

τ'3	���3

'5��� ��� ��� �� ��� �closest +��	�6��� ,� ��+� ���$ �� ����� ��, ���$ �+���� ��+� �����
����� ,	�� 	�+��	��� ����� �3µ� ����� �� ��� τ �����

�� �	��2�"!� ��� �3µ �	���	6��	�� 5�� ��� �	���� 	� ���,� 5�� �+���� ���+	+	�� ��� ��	����
��3�	������� E�	�� 5�� ��� 5��� �	�����	�� � ,	��� �5 �2��* ��� ,�� 5����� 	� ��� ����
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�	���� 2�"*9 E	��� �5 ��� Mclosest �	���	6��	�� �� � 5����	�� �5 ��� ���� #�������#	�	�$�
��� 6���- ��� 6��� #�	��� ��5�� �� ��� ���� ���#���� ,	�� ���6	��� ��� ��,=pt �����
���#���	+��$� ��� ��� #�	�� ��� ��� ���� �6��	��� ,	�� ��� 5��� �	�����	���

�5 ��� 5��� �	�����	�� ��� ,	��� 6������ ")�& ���� '� 5�� ��� Mclosest �	���	6��	��� �
�����	����	�� �5 ��� ���� �������	�� �� ����� +����� �5 ��� ���� #�������#	�	�$ 	� �6���+��
��� ��� ����=,	���, ���� �� ����� �+���� ��� �����5��� �� ��-� 	��� ������� ��	� η
��#��������

�� �	��2�"2 ��� ,	��� �5 ��� �3µ �	���	6��	�� 	� ���,� �� � 5����	�� �5 ��� #�����=
��#	�	�$ �5 ��� ����� 5�� ��� 5��� ;��� #�	���< ��� 5�� ��� 5��� ;6���- #�	���< �	�����	��
#�������� E� ����#� �+���� ���$ 	5 �3µ 	� ,	��	� &×σ;�3µ< 5��� �τ �

,�)�� �
��
 �+��	� ����	
�� ��# ������
��� �
	� %��	 �
��
�	
��

�� ��6� 2�& ��� ���6�� �5 �+���� 5�� ��� �	���� ��� 5�� ��� Dsφ 6��-������ ��� ��#�����
�� ��� +��	��� ���#� �5 ��� ����$�	� ���	�� '� ��� ��� �5 ��� ������	�� �� 6��-������
�+���� ��� �������� ,�	�� ��� �	���� �A�	���$ 	� ��,�� ���� ��� ��� 5���� ,	�� ��� 5���
�	�����	��� ��� ���6�� �	���� �A�	���$ 	� ��� 5��� �	�����	�� 	� ;�&�% ± 1�& <% +�����
;�7�%7 ± 1�&)<% �6��	��� ,	�� ��� 5��� �	�����	���

�� ��6� 2�* ��� ���6��� �5 �	���� �+���� �� ��� +��	��� ���#� ��� ��#����� 5�� ���
����$�	� #��5����� ,	�� ��� 5��� ��� ,	�� ��� 5��� �	�����	��� �� ��� ���� ��6��� ���
�A�	���$ �5 ���� �	���� ���� �##�	�� ��� ���� ���,� 	� ����� �� ���#���� ���# 6$ ���#� ���
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Entries  2805

Mean     1782

RMS     36.19

Underflow       2

Overflow       20
 / ndf 2χ  180.2 / 63

Constant  4.9± 177.2 

Mean      0.6±  1780 

Sigma     0.6±  29.3 
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�	���� 2�"!9 ����� ���� 	�+��	��� ���� �	���	6��	�� 5�� �+���� ���� ���+	+� ��� ��	����
��3�	�������
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8�������� "1111 71111
 ������������ %"2& !""2"

��	���� 2"�% &�2%&
������	�� *!!) !%*7

�	��	�� �����$ *�"" &**
∆ *11! "7)
φ=+��� "71! !

τ =,	���, "%&2 1

��6�� 2�&9 '���$�	� ���	� ,	�� ��� 5���$ �	������� �+�����

�,� ����$�	��
4��� 5�� ��� �	���� ��� 5�� ��� 6��-������ ����� 	� � �	?������ ,	�� ���#��� �� ��� 5���

�	�����	�� 5�� ��� #��������	�� ���� ��	� 	� ��� 	� #��� �� ��� �����������	�� 	��A�	���$
���� 	� ��� ��-�� 	��� ������� 	� ��� 5��� �	�����	�� ��� 	� #��� �� ��� #������� �5 ���
5�-� ����-� 	� ��� 5��� �	�����	��� ������ #��������	�� 5�� ��� 5��� �	�����	�� ��-� 5�� �����
�� 5��� ����� ,	�� pt P & 8�� ��� |η| C "�!� ��� ��� �+���� ,	�� 5��� #���������� �����
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��� ��
	� �� ��� τ → 3µ 	��
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�	���� 2�"29 E	��� �5 ��� �3µ �	���	6��	�� �� � 5����	�� �5 ��� ���� #�������#	�	�$ 5��
��� 5��� ;���< ��� 5�� ��� 5��� ;6���-< �	�����	���

,� ������ ��� ����� ����	���� ����� 5��� τ 6$ ������	�� ��� ����� ���� ���6	���	��
,	�� 	�+��	��� ���� ������� �� ��� τ ���� ;��� ����	�� 2�!�"<� �����+�� ��� 6��-������
���,� � 6	���� ���� ���� ��� �	���� 	� ��� #��������	�� ��� �� 	�� ���� ��5��� pt �#�������

��� 	�����	�� ���,� ���� ���� �	?������� ��� 	� 	� ���� ������ 	� 5��� ���� 	� 5���
�	�����	�� 6�� ��� ���	#� 	� ��	����$ �	?����� ��� ��	� 	� ����#��6��� E��- 	� 	� #�������
�� ���#��� ��� ���� ��� �����	����	� 	�����	�� �5 ������

��� ��3�	������ �� ��+� � �	��	�� �����+���� �����$ ������� ���� "1 8�� 	� ��� �+���
��� ��� ��3�	������ �� ��+� ����� ������ ����	���� ������ ���, � +��$ ���� ���������
6��,��� ��� 5��� ��� ��� 5��� �	�����	���

��� ������� �	?������ �6���+�� ��,�+�� ����� 5��� ��� |η| ��#������� �5 ��� ����
�������	�� ,�	�� ������ ���#�����$ �������� 5�� ��� �A�	���$ ����� �� ��� 5����,	�� #���=
���#�� ��� ����	�� ���� �# �� ��, �� 	�+���	���� ��	� |η| ��#������� ��� ������	
��� E�
,	�� ���� �������� ,	�� ��� ������	���	�� �5 ��� :��� �� ��� �	���� 6�����	�� ���	� ,	��
��� 5��� �	�����	���
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��6�� 2�*9 ���#��	��� �5 ��� ���6�� �5 �+���� ���� #����� ��� ������	�� ���	� 5�� ��� 5���
��� ��� 5��� �	�����	���

,�)�� '	�#� �% 	�� ����
�	
��

�� ����� �� ����$ ��� ���� �������	�� ,� ��+� ��-�� 	��� ����	�����	�� �,� �	?����� #�	���
6��� 5�� 5���$ �	������� ��� 5��� �	������� �+�����

� 0�#������� �� τ +����. #��	�	��L

� ���#��	��� �5 �	���� ����- �������	��� �� � 5����	�� �5 ��� ���� η�

�	��� �5 ��� ��� τ +����. #��	�	�� ,	�� ���#��� �� ��� 	�������	�� #�	�� ��� 6��� ���=
�������� �� �	�� 2�"% ;��5�< ��� �	���	6��	�� �5  vtx 5�� ��� τ 5��� ��� ���������� ����� 	�
���,� 	� 6���-L ��� ��� �	������� 	� ��� ��� �6��	��� #����	�� 5�� ���� �	���� ���� ���=
�	���� ��� 	�#��� #��������� �6��	��� ��  0 I

√
D2

0 + Z2
0 � ��� 	�����	+� �	���	6��	���

���- �������6�� �������� ����� �,� +��	�6��� ��� ��� �	���$ ����������� ������� ,� ��	��
���� �� ����$
� ��� �����������	�� �5 ��� ��������$ +����.�� ,�	�� �����$ ��+� � ����
6����� �������	�� ���� ��� �	���� ����- 	�#��� #���������� ��� �	���	6��	�� �5 cτ �5���
�������	��  vtx 5�� ��� βγ �5 ��� τ ��� 6��� ����-��� ��� �	���	6��	�� �5 cτ � ���,� 	�
�	�� 2�"% ;�	���<� ��� 6��� >���� ,	�� �� �.#�����	�� �	+	�� � ���6�� �5 �	5��	�� +��$ �����
�� ��� ��� �5 ��� (08 5�� ��� τ � cτ(τ) = 87µm� '� 	� ��� 6� �6���+��� ��#���	�� �� 	��
βγ ��� τ ��� ����$ ���� "=& �� 5�� �,�$ 5��� ��� 	�������	�� #�	��� E� ��+� ����������
��� ���� �������	�� 	� >+� �	?����� 6	�� �5  vtx� 0	���	6��	�� �5 ��� ����� ���� 	�+��	���
���� ��� ���,� 	� �	��2�"7 5�� ��� >+� 6	�� �5 	������	�� �	������ �5 ��� +����. 5��� ���
	�������	�� #�	��� ��� ������	�� 6���+	�� �5 ��� ���� �������	�� ,	�� ���#��� �� ��� τ
+����. #��	�	�� 	� ���,� 	� �	��2�"7�


	�	��� �.���	�� ��� 6��� ���� 5�� ��� ��	� 6��-������ ���-	�� �� ��� +����.=��#�������
�5 �φ� �	��2�")� ,���� 	� ��	� ���� ��� ����$ +����. 	� ��� ��� �5 ��� Ds�

���-	�� �� ��� 6���+	�� �5 ��� ���� �������	�� �� � 5����	�� �5 ��� +����. #��	�	��� 	�
��� 6� ��������� ���� ��� �+���� ,	�� � +����. ������ ���� � �� �� ��� 	�������	�� #�	��
��+� ���� �������	�� 	� ��������� ,	�� ��� ��� �6��	��� ,	�� ��� 5��� �	�����	�� ,	��	�
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�	���� 2�"%9 ��5�9 ��� 6���- �	������� 	� ��� τ → 3µ +����. #��	�	�� 5��� ��� ����������
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√
D2

0 + Z2
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�	���� 2�"79 ��5�9 ����� ���� 	�+��	��� ���� 5�� >+� 6	�� �5 ��� +����. #��	�	�� �5 ���
����-� ���� �� ���#��� 	��  	���9 E	��� �5 ��� ����� ���� 	�+��	��� ���� �	���	6��	��
�� � 5����	�� �5 ��� τ +����. #��	�	���

�1="1%� /� ��� ����� ����� 5�� �+���� ,	�� +����. 5�� 5��� ��� 	�������	�� #�	�� ��� ����
�������	�� �5 ��� 5��� �	�����	�� ��� 6� ������� ���� ��� ��� 5��� ��� 5��� �	�����	�� 6$
� 5����� "�

�� ����� �� ���������� ��� �6���+�� ��#������� �� η �5 ��� ���� �������	��� ��� �	����
����- ��������� σ(1/pt)� ��� �������� σ(cotθ) ��� σ(φ)� �������	��� ��+� ���� 6���
����	��� �� �	��2�&1 ��� ����� �������	��� ��� ���,� �� � 5����	�� �5 ��� #�������#	�	�$
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�	���� 2�")9 E	��� �5 ��� �closest �	���	6��	�� 5�� ��� 6��-������ �� � 5����	�� �5 ��� Ds

+����. #��	�	���

5�� ��� ��� ����-� ,	�� � pt 6���, 2 8��� �� �	��2�&� ��� ���� �������	��� 5�� ����� ,	��
pt P 2 8�� ��� ���,��

��� �������	�� 5����� ��� ���	� ��#������� �� ��� ���� #�������#	�	�$� ��� 	� ����
��������� ,	�� ��� ���� ��#����� 	� ��� �����	��� 0��	��  �#��� �5 ��� ����� 0������� 	�
��� ���� �5 �� +����. �������	�� �##�	�� F!1G� ������ ��� #��������	
��	��� �5 ��� +��	���
�������	��� �� � 5����	�� �5 pt ��� θ ��� �	+�� 6$ ��� 5����,	�� 5�������9

σ(pt)

p2
t

= 0.36 ⊕ 13

pt

√
sinθ

(TeV −1); ;2�"1<

σ(cot(θ)) = 0.70 ⊕ 2.0 × 10−3

pt

√
sin3θ

; ;2�"�<

σ(φ) = 0.075 ⊕ 1.8

pt

√
sinθ

(mrad); ;2�""<

��� �	���� ����- �������� ��� ������� �������	��� ��+� 6��� ���#���� ���� 5�� ���
�+���� ������������� ,	�� ��� 5��� �	�����	��� ���$ ��� ���,� 	� �	��2�&" ��� 2�&& 	� ���
���� �5 ����� ,	�� pt 6���, �� �6�+� 2 8�� ���#���	+��$�

��� �������	��� 5���� ,	�� ��� 5��� �	�����	�� ��� ��� 	� ��������� ,	�� ��� ����
�6��	��� ,	�� ��� 5��� �	�����	�� �#��� 5��� ��� ��� �� σ(cotθ) ,�	�� 	� �	�	��� 6��� 	�
��� 5��� ��� 	� ��� 5��� �	�����	�� ���,	�� ���� ��� �	��� η ��#�������� ��� �������	���
�� σ(pt)/p

2
t ��� σ(φ) ���, ����	�	6�� η ��#������� 	� �������� ,	�� 5��� �	�����	�� ���

�0 �
�������	��� �������� ��� �+��$��	�� 	� ����� ,� ��+� ���� ���� ����+��� �6���+��	���

�� ��� ���� ��� �������� �������	��� �� ��� 5��� �	�����	�� � ������ ��#������� �5 ���
���� �������	�� �� ���� #�������#	�	�$ 	� �6���+�� 	� �������� ,	�� ��� 5��� �������	���
�� #���	����� ��� 5��� �	�����	�� ��+� �	���� ����- �������	��� ���� ���� 	� ���������
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,	�� ��� �0 ,	�� ���#��� �� ,��� 5���� 	� ��� 5��� �	�����	��� �� #���	������ 	� ��� 5���
�	�����	�� ����� 	� ��� ��$ η ��#������� �5 ��� �������	�� ,�	�� 	� 	������ �.#����� 5��
� ������	��� ����-���

��,�+��� ��� 5��� ���� ����� 	� �� 	�#��+����� �� ���� �������	�� ,��� ����	�� ��
��� +����.� ��	�� ���+�� �#�� ��� #���	6	�	�$ �� 	�#��+� ��� �������	�� 6$ �������	�	�� ���
����-� �� ��� ����$ +����.� �����,	�� �0 ��� ���$ +��	�6�� ,�	�� ��� ��	�� 	�#��+� ,	��
+����. �������	�	�� 	� �� φ� E��- 	� 	� #������� �� ��� ��������$ +����. �����������	��
��� +����.=�������	��� ����-��
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'������� ����� ��� ��	�� �#�� 3����	��� �� ��� ���� �������	��� ��� ����$ ,	�� ��� 5���
�	�����	�� 	� ���6�� ������ �� ����, ��� ���	���	�� �5 :��� �� ��� τ → 3µ ����$ 6�����	��
���	� ��	�� ��� +����� �5 ���6�� �5 6��-������ �+���� 5���� ��� �	���� ������	�� �A�	���$�

E� ������ ���	� ��� 5������ 5�� ��� :���9

BRUL =
NUL

L× σ(W ) × BR(W → τν) × ε
;2�"&<

,���� NUL 	� ��� �##�� �	�	� �� ��� ���6�� �5 �	���� �+���� ,��� � �����	� ���6�� �5
6��-������ �+����� Nbgd� ��� �6���+��� �� �1 56

−1 �5 	��������� ���	���	�$ �� 6��-������
�+���� ��� �.#������ E	�� ��	� ���6��� ��	�� ��� ������� ��� ����	�� #�����	#�	��F�%G�
NUL 	� "�** �� )1% ���>����� ��+�� ;����< ��� &�1) �� )!% ����� ��� �##�� �	�	� �� ���
τ → 3µ 6�����	�� ���	� 	� ����9

BR(τ → 3µ)UL = 8.7 × 10−8 at 90% C.L. ;2�"*<

���
BR(τ → 3µ)UL = 1.1 × 10−7 at 95% C.L. ;2�"!<

E� ��	�� ��� � 5����� " �5 	�#��+����� �� ��� �##�� �	�	� ,	�� ���#��� �� ��� ������ �5
��� 4=������	�� ������$ 	� �1 56−1 �5 	��������� ���	���	�$�
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��� ���	����� 0�	5� ��6� ����6��� ,	�� 6� ���� �� #���	�	�� ����-	�� ��������� 	� ���
���� 
#���������� �5 ��� '���� �.#��	����� �.����	+� ����� �� ����� ��������� ��+�
6��� #��5����� 	� ��� ���� 5�, $����� �� ����$ ��� ��� �	?����� ��#���� �5 ��� ����6��
#��5�������� ���� �� �#��	�� �������	��� ��6� �A�	���$ ��� ��������	� ��	�� ����� �� ��	�
,��-� ���$ �5 ����� ����	�� �� ��� �0�O� ����6��� ��+� 6��� �����	6���

�� #���	������ � +��$ 	�#������ ���# 	� ��� ����������	�� �5 ��� �0� #��#���	�� ���
6��� ���� �� ��� ���� 6��� ����	�� ��� �� ��� �7 6��� �	�� �5 ��� 
(
 	� ��� ������
"11*� ��� �7 ����# ,�� ���#���� 6$ � ���#���� ��	�� �5 ��� '���� ��������� 	�����	��
	���� ��������� �����	������ ��� ���� �$����� 4���� �5 �	?����� #���	���� �� �	?�����
�����	�� ,��� �+�	��6��� �����+��� 	� ,�� #���	6�� �� ������� ��� 6��� ��������� �	���
� ������	� >��� ,�� #��	�	���� 	� ��� ���� �$����� �� ��	� ����	�� ��� ����$�	� #��5�����
�� ��� ���� ��������� �� �7 ,	�� ��� �0� ����6��� �5 ��� 6����� ��� 6��� #���������
��� �������	�� 	� ��� ����������� �5 ��� ���� ���	��� ��� 6��� �������� 6$ ����$
	��
���� ��������� ,	�� 6���� �5 ����� ,	�� ���	��� �������� ����	�� 5��� �11 8�� ��
"!1 8��� ��� �6��	��� ������� ���, ���� ��� ���� �$���� 	� �6�� �� ������� ��� ����
���	��� ,	�� � �������	�� �5 !1µ� 	� ��� �	�� pt ������ ,���� ��� �����	6��	�� �5 ���
����	#�� �������	�� 6������ ����	�	6���

/���� 	�#������ ����� �5 ��� �0� 5����	����	�$ ��� ��� ��� #��5����� �� ��� ����	�
��$ ;� < 5��	�	�$ �� 44! ;�� �<� ��� � ����� ��#������� ��� ���� ���# 	� ��� ����	>=
���	�� #�������� ���� ���� ����6��� �5 ��� �	���� ��� ����� ����	��� �5 ��� 6����� ����
�#����������� ��� �� #��� 6�5��� 6�	�� 	�������� 	� ��� '���� ��+���� '� 44! ���$ ��#����
�5 �� �0� ����6�� ��� ����������� ��� �6������ #������� �5 ��� ��� �	.���� ��� ���
#��������� �5 ��� �	���� �������� ��� ���	������ 0��� �� ��	�$ �������� ��� 	��	+	������
��� ��#����� �� ��� �0� ����6���� �.	��	�� ��������	� #��6���� ��� ��#�	���� ��� ��	5�
#��#���	�� �5 ��� ��6�� ��� 	�+���	����� ,	�� ��� ����	� ���� 6$ ���-	�� �� ��� �0� ���
'0� �#����� �5 ���� ��6� 	� ��� ����6����

�� /���6�� "11!� 5�, ����6��� ,��� 	�������� 	� >��� #��	�	�� 	� ������ �& �5 ��� ����

#���������� ��� ���� ��������� �� ���#����$ ���+	���� ����-� �5 ��� ��������	� ��	��
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5��� ��� 0'N ������� ���� �� ���� ��� �����#�����	�� �5 �	����� +	� �#�	��� >6���� �	���
����	� ��$� ��+� ���� 6��� ��3�	��� 	� ��� ��+��� 6$ ��	�� � ��	���� 6���� �� ��	��	�������
���������  ������ �� ��� ����$�	� �5 ����� >��� ����	� ��$� ���� 	� ��� '���� ��+��� ��+�
6��� #���������

�� ��� ���� #��� �5 ��	� ����	�� ��� ����$ �5 ��� '���� ����	�	+	�$ 5�� ��� ��#��� ���+��
�	����	�� ����$ �5 ��� τ ��#��� 	� ����� ����� ��� 6��� ���,�� ��� �������$ �� ������ ��	�
�	���� ,	�� ��� '���� �������� ��� 6��� ����	�� �� �6��	� ��� �	����� #���	6�� ������	��
�A�	���$ ,�	�� -��#	�� ����� ������� ��� 6��-������� ��� �������� �	���� #������	��
���	� 	� ��� ��� ,	�� � W 6���� ����$ W → τν� ��� ������� ������ �5 6��-������
	� 	������ �����	����� 6$ ��� #������	�� �5 ���+$ ������� D ��� B� ,	�� ��6��3����
#������	�� �5 �	��� ������ �� φ ��� η� ��� ���� ��������� 6��-������ ������� ��+�
6��� ����	��� ���,	�� ���� � ���� ��@���	�� #�,�� 	� ���	�+�6��� ��� -�$=#�	��� 5�� ���
	�#��+����� �5 ��� �	���� �� 6��-������ ���	� ��+� 6��� 	����	>�� 	� ��� �	��	�� Et�
	�����	�� �5 ������ �	������ 6��,��� ����-� ��� �������� �������	���

E	�� ��� 5��� �	�����	�� #������ �5 '����� 	� ��� 6��� ���,� ���� ��� �##�� �	�	� ��
��� �	���� 6�����	�� ���	� ��� 6� ��������� 6$ � 5����� * ,	�� ���#��� �� ��� #������ �	�	�
��� 6$ ��� 4=5�����	��� ������$ ��	�� �1 56−1 �5 	��������� ���	���	�$� 
�����	
	��� ���
����$ 	��	����� ���� ,	�� �1 56−1 ,� ��� ��� �� �##�� �	�	� 	� ��� 4 ;τ → 3µ< �5 2×�1−8

�� )1% ����
��� ����$ ,	�� ��� 5��� �	�����	�� 	��	����� ���� ,� ��� �6�� �� ��#��� ��� ����$�	�

���#� �� 	� ��� 5��� �	�����	�� ,	�� ��� �.��#�	�� �5 ��� �������� �������	��� E� ��+�
	�+���	����� ��	� #�	�� ��� >�� ��� ���� ��� 5��� �	�����	�� �	+�� ����- �������	��� 	�
��������� ,	�� ��� ���� �.#����� 5�� ��� 	���� ����-�� ,	����� �������	�	�� ��� ����-
�� ��� ��������$ +����.� ������� ��� 5��� �	�����	�� ������� � +����. �������	�	�� �5
����-�� E��- 	� 	� #������� �� �##�$ ���� ��� >� �������	�� #�������� �� �+���� �5 ��� 5���
�	�����	��� ��,�+�� ��� :��� �� ��� �	���� 6�����	�� ���	� 5���� ,	�� ��� 5��� �	�����	��
��� 6��� ���#���� ��� ��� �� 7�%×�1−8 �� )1% �����
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